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���������� 6������ ����� �-�6��
��������� �� 
��6���������D �<��"���� �������������� ? �<6����
�� �� ����
�(�� ��� �6����- �� �6)������� )6�6��(�� F97G�

+�� =��
����
�� ������6� ���� 
��6����� �� ����
�(�� ��� �6����- �� �6)������� )6�6��(��
���� ��
����-� �� ���� ����� ��� 6(������� ��E6���������� ����������D ? ������ �� ����������D ���
6(������� ����!����(���D ��� �6����- ����6��� �� ����� )6�6����������� �����"���D ��� �6����- ��
%����D �� ��� ����
���� !�������� &�������� �6=6������ )6�6�������� ��� ��� 
��"��� �� �6)�$
������ )6�6��(�� =���������� ��� ������)���!�� ��"� 6������ F�9D 97GD ����

���D �<������� ��
2���� �� #��) F58G (�� ������� �� ��-�� �� ����!"�� ��� ��� ��E6������ 
��6��������� �-���������

+�� ������!�� ��� ���� ������(��� ��������� ��� 6(������� ��E6���������� ����������� &����$
����D �� ������ �� ������"�� ���$���6���� �<��� ���)� ���� ��� �6)��������D ��� ����"
�� ��E6���$
����� ���� ����
��� �6����� �������(��
���� 3�� ������� H��� �6����� ��
6��(��
��� ���� �����
�� ��6������ �6���6� 
��� ����� ��6������ ���� H��� ���
������ �� �E��D ��

� ��� �6�������
�<�-�6������� �6����6�� ��� ��� �6����- ���� ����������
��� (��������=�D �� ������ ��� ����
"����
���6��(���D (�<�� ��� �6�������� �� '-�� ���� �6������ ��� ��
��������D ��� )6�6����
��� �����$
���� ��
����- ���� ��� ������� (�� ��� ����� �!���!6 ? ������ ��� ������6�����(��� (�����������
����������� �� �� ����
�(�� ��� �6����- �� ��������� ��� ������������ ��)�(��� I�=� ��)���
F�>GD L��E
�� F9:GD ����� F	>D 	8GD �!�
�� �� ��� F8	D 8:GD �� #��) �� ��� F5>GJ� &�� ������������
��������� ��� ��������� (�� �� ������� ������� (�<�� ��
��� '�� �� �������D ����(��
��� ���- �

 �� 5�  ��� �� ���D �� ����� �� ����������� ������� �� ����6������

+�� ������!�� �����"���D (�� ���� ��� ��� ��� ���� ��
���� ������"���� ��� ��������� ��

�
M��6�����N �� M�������N �� �� )"�� ��

� M����=N I���������J �� M������=N I���$���������JD
������� ����O��� ���� )�����"���� %�������D �� ��
����- ��)�
���� ������� �� ���� =������
+<��)�
��� ��������� ��� (�<�� �����)�� I�� ���� ���� �<������ ��
�����J �� �6)������� ��� ��
���� ������� ���K���� �� ������� �<��� ������������� M�����ND ��� �E�� �������� ������
���
��- �������������� ���6������� F98D 7�D :8D 	:D 88G� �� �<������ ���
��D �� ������� ��� �����$
������� �6)��������� ��� ��� =��
� ��)
�P���� ����������
��� ������6���6� ��� ��� ������ �����
I�<�������� �� ����� �<��Q�-���JD �� ��� �� ���=����
��� �� ���� �E�� I')��� 5�5�J F:8D ;
G� 3� ���
����� ������� �<��6������ �� =��
� �� ��� ������������ �� ������6���� (�<�� �6)������� � �� �E��

���
�� ���� (�� �� ������������� ��� ��=6������ �� ����� �� �� �E�� 
�-�
�� ��$���? �� �����
������������� I')��� 5�5�J� &���� �����-�
�����D ���=��� (����'6� M�<��'��
��� ���$���6����ND
���
�� �� ��
���'�� ��� 6(������� ��E6���������� ���� ������ ��� ������6�����(��� (�����������
����������� �� �� ����
�(�� (�<����� �6������� I�=� ����� �� L��=
�� F	:D 	>GJ� �� ������� �����
��� ����"
�� �<6(������� ��E6���������� ���6����� ��� 
������- ���� ��� ��
�����
���� (����$
����=� ���������- ������� ? ���� ���� H��� �-������ ��� ��� �����6�������� ��� �������������� I�=�
����� �� L��=
�� F	:D 	>GD ������� �� ��� F�7D ��GD ���C6 �� ��� F95GD �� #��) �� ��� F5>GD .�����
F	�GJ� 3� ��� �
������� �� ����� (�� ����� �����6�������� ��� �������������� 
�� �� 6�������
(�� �<��6��������� ����6���� ��� ���� =���� ���� ���� ��� ���� ��������� ��� �-�
��� (�<���
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�
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���� 5�5 R ��� ������	� 
�� �
 �� ������
��� ������� 
��� ��� ������� ������	�� ������
 �
�� 	������
��� 	�� ����
���� 	� 
��� 
�����
� ������������ �� ��� 	�� ����
���� 	� ���� � h+(x) = xn/(θn + xn)
� �� � ���
 	 ��� ������	� ��������
� ! h−(x) = θn/(θn + xn) � �� � ���
 	 ��� ������	� 	���������
� 
���
�����
����� "��� n = 1# �� ������ ��������
� ��
 ��� ������ ������� 	 ��������� 
������ 	� $��������%
$��
�� 
&'&(� 
�)� ������
 �
������ ���� 	������ ��� ��
������ ��*���
����� 	� ��
���������� "���

��
� ������ 	� n > 1# �� ������ � �� ����
 	 ��+�,���# � ��
 ����� ��� ������	�� "��� n ��
 �����# ����
�� ������	� ��
 -���	�.� /���	 n 
��	 ���� � �����# �� ������	� 
��	 ���� ��� ����
��� ����
��
� ���
�������,# �� ������
��� ��������

����6��� i �6)��� �� ����!"�� �<��� ����6��� j ? ������ �� ����� θj ����� (�� �� ����!"�� �<���
����� ����6���D ���6� kD ? ������ �<�� ������ ����� θk ���6����� �� ���
��� I')��� 5�	J� �� �<6����
����� ��� ������ ��� M��)��'����=ND ����� ����� ���������� (����������� ���������� ������������ ����$
��
��� � ���� �� ������������� �� i ��� ��=6������ ��- ���- ������ �� ���� �� ��� �<�E�� �� i ���

���
�� ��� ��� ���- ������ S ���� �� ������������� �� i ��� ����� ��� ���- ������ �� ���� �� ���
�<�E�� �� i ��� 
�-�
�� ��� j ��� 
���
�� ��� k S ���� �� ������������� �� i ��� ���6������ ��-
���- ������ �� ���� �� ���D �<�E�� �� i ��� 
�-�
�� ��� ��� ���- ������� 0����D ����� ������- ��
������������� �������� ������� H��� ������6� ���� �6����� (����������
��� ��

��� i �6)��� ���
������ ��

0����D �� =��
� ��)
�P���� ��� �6)�������� �����)�(��� �����'� ������
��� �<����������� ��

��"��� ���������  � ����D ��� 
��"��� ������� ��� ����������� �� ��
�����
��� ��� �6����-
���� �� ������ �� ��6������ �����6 ��- ����6�� ��)��'������� ��������
��� ����������� ��� ��
����
�(�� �� ��� �6����-D ��D ��� ������D �� ��H���� ��"� ���� ��- 
������������ ��=��
���(����

+<������!� �����"�� (�� ��� ���� ����� �� ���� ������6� ��� �� ������� ����#�� ��
��������
�6������6� ��� �� �����)���� ���6 �!�
�� �� ��� ��������� ������ �� �6��� ��� ���6�� 5>8

F8:D 8�D :9D :5G� &���� 
6�!��� � 6�6 �����(�6� ���� 
��6����� �� ��
����- �6����- �� �6)���$
���� )6�6��(�� �����B����D ��� �-�
���D �<��=������ �� ����6����!�)� λ F8	D :7D 8>D 87D 89D 8:D 85GD
�<�
����)��"�� �� '��������� ����
������� F�
D ;:D ;>GD �� 
���!�)��"�� ��� Q���� �!�C 5���
�������� ������
� F7;GD �� �� �6����� �

�������� F7
D 9>D 8:D 78G�  ��� ����� 6����D �� ��
����������� ��� �<������!� �� ���6 �!�
���

��

����
���D ���� ����� ������!�D �� ��������� �<�� �6���� ��� ����6����6� ��� �� )���!�
������6 ��)�6 �����6 ������ ���
��������
�� +�� ��

��� ������������� ��- )"��� �� �6����-D
�� �� �-���� �� ��� �<�� )"�� ? �� ����� �� �� ����6��� ����!6���6� ? ������ �� ���
��� �6)���
�<�-�������� �� �������  � ����D �� ����� �6)������� ��� ��� ���������� I����� ��� ��!�������JD
�<��� ? ���� �� �� ����6��� ���6� ��� �� ���
��� )"�� =������� I����� �6=�������J �<�-��������
�� ������D ����� �<��� ��� 
��� �<�� ��)�� ������= I����� �6)���=J� ������ (�� ��� �6����- ��

����� 	 �� 	� ��	 	����	 θj �� θk 	��� ��!	 
�����	 "����� ���� 
��� #��� �� ��	 	� i ������ ���$
��		��� 
���
�
���� � 
����� 
����� ��	 
�������	 j �� k 	��� 	%������	��	& ���

��$������� ��������� �	� ���	��������
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���� 5�	 R 0� i ������ j �
 k ������
 	�� ������ 	�1����
�# ����� 
���� ������, 	� ������
��
��� 	�����
�
��� ���
 ���������

�6)������� )6�6��(�� ���� �� 
���"�� )6�6���� ��"� ������� ����6����6� ��� �� ���� �� )���!��
%��� �6����� �� =���������
��� �� �6���� ? ������ �<��� ����� ����6��������� �����(��D ? �!�(��
��

�� ��� ������6� ��� �������� �����"�� ���� �� ��
���� �� ��������� ��� '�� I���� 
��6$
���� �� ������������� �� �<�����6 �����)�(�� ��������������J� +�� ��������� ����� ��� ���������D
)�����"��
��� �6������ ��� �� )���!� �<������������D ���� ��6���6�� �� ��������� ��� ����
"����
��)�(��� (�� 
��6������ ��� ��������6� �<������������� +� ��
�����
��� )����� �� �6���� ����
����� H��� ����6����6 ��� �� ������ �� ���
�����
� ��)
����
��  ��� �� )���!�D ��� ��

���
������������� ��- 6���� ��������� �� ����"
� �� ��� ���� ����(���� (���� ���� ��� �!��)�
����
�<6���� (�� ������� ����� ���� �� ����� �� ��
���

��� 	
���
�������� �� ����
��������

�� �����(��D ����(�� �� )���!� �<������������ �� �6���� 6����6 ��� �����D 
��6����� �� ��$
��
�(�� ������� �<������!� �� �!�
�� �������� ����������
��� ? ������� �� ������ �� �!�(��
����
"��� ��)�(�� �� ����� (�� �� ����
�(�� ������� ���� �� ������ ���� ��� ������������ ���$
��)�(��� ������� ��� �� ��
�����
��� �� �6����� &���� �T�!� �<��� ��� ��
��� ���D ��

� ����
�� ��� �������D ��� ����
"���� ��)�(��� ���� )6�6����
��� ��������D ��
����- �� ��K����
���

����������

����� �	�������� ��� �
���
�� �� ��������
��

 ��� �� �����-��D �� ��� ���6������� �� ���!���!�� ��� ������6�6� ����
�(��� �� �6���� (��
������� H��� �6������ ���(��
��� ? ������ �� ��� )���!� �<������������ I�� ����D �� �<�������
�<��=��
����� ���������� �� ������ ��� ����
"����J� &��� ������� ? 6������ �� ���� ����� ��
��������� �� �� ����
�(�� ��� �6����- �� �6)�������� &<��� �� =��� ��� (������� (�� �� ����
���6�����

��� �� ���� �� 
��6�������� �!����� +�� ������������ �� ��� �6������� �!6���(���
? �� ����� 
������ ������
��� �� 6������� �� �B�� ���
������ ��� �������� �� �6����������

%��� ��6���6
���D ��� 6����� 
������ �� 6������� �� ���� 6����� ����� ��� �������� ������=�D
�<��� ? ���� ��������� �� ��
��� ���� �<��!��������D �� �� ���-������� �� ��������� 6���� ��������
 <�� ����� �� ��� �����)�(��D �� 
����������������6 ��� ��� ������6�6 ��������� �� �E��D �������
�<�������6������ )6�6����
��� �������6� ?  ����U�@ I'� ��� ���6�� 5>7
JD �� 
�������������$
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 ��� ��� ������- �� ����6D �� ����
�(�� �� �6���� ��� 
��6���6� ��� ��� 6(������ ��E6$
��������� dx/dt = f(x)D �V f ��� ��� ����������� ��E6��������� �� R

n ���� ���$
H
�D �� �V x
��� �<6��� �� �6����D �<��� ? ����D �� ������� ���� ��� ��
�������� ���� ��� �������������� ���
�����6� �� �6����-� W �!�(�� 6��� x ��� ������6 �� )���!� �<������������ ����� G(x) ����� �6'�� �
�<����
��� ��� ��

��� �� G(x) ��� �<����
��� {1, . . . , n} ��� ������� ��� �����6� �� �6����D
�� �� �-���� �� ��� ������= I����� �6)���=J �<�� ��
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����6 �� ������� �������� �� �� ���
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� 
������� ������� �����$�� ���� ��� ����������� f �<��
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��� ? ����������� ��� �<�� )����
���6�H�� %��
�"��
���D �<�� ��� ����D ���� ���� ���� (�� �� )���!� �<������������ ������6�6 �<���
��� ��
������� ���� ��� ������������ �����)�(���� 3� =��� ����� ������ �� )���!� �<������������ ��
�� ��
������D ��� �-�
���D (�<����� ���� ��� ������������ �� �����6� �����)�(��� ��������������
(�� ���������� ���
����� �<������� ��� ��
�����
���� ���!���6��  ��-�"
�
���D �� �<����
���
��� 
��"��� �6��������6� ��� ��� ����D ����� ��� ������6�6� ��

���� ? ������ ��� ����
�(���D
�� �� ������������� ��� ��- ������6�6� ������� ��������� �� &�+D ������� H��� ������ ��

�
��� ��6��������� ��'�D ��� ������6�6� (�� �� ���� ��� ��

���� ��- ����
�(��� �6��������6��
������� ��))6��� ��� ��!6
�� �<�-�6������� (��D �� ����� 6������ �6����6��D ���
��������� �<�K���
�� 
��6�������� I�<��� ? ����D �� �6����� �<����
��� ��� ����
�(��� ���(�<����� ��������J�

��� �
���������� �� ��������

+� ���
�"�� ������ �� ����
��� ��� �������6� ��- �6
����������� ��� �������� �����"���
��� ����������� �� �!�
�� �� �� �!6��"
� �� ����� '-� �� �!�! ��  ��)�  ��� �� �!������ 2D
���� �6'������� �� )���!� �� ����������� �����!���� �<��� ����������� f �<�� ������� �� n
����������� '��� �<������� ���� ���$
H
�� ���� ������������ ������� ��� �������� �6���6� ���$
��"�� ���� f � &����$�� ���� ���
����� �� �6'��� ��� )���!�� �<������������ �����- �� f ����
�� )���!� �<������������ )����� �� �6���� ���� �� ����
�(�� ��� 
��6���6� ��� f � 0����D ��
��������� �� �6���� ���� �6����� �� �� ����
�(��� &<��� ����(��� �� ���
�"�� ������ �<��������
M�<��� ����
�(�� ? �� )���!� �<������������N� +� �!������ 9 ��6����� ��� �6������� �!6���(���
6��(�6� ���� !����

+� ������� ������ ��� �������6� ��- ������������� ���������� �� 
6�!��� �� �!�
��� ����
�<�������� M�<�� )���!� �<������������ ? ��� ����
�(���N ���D ��

� ���� �<����� ��D �����

6�!��� ���
�� �<�������� �� ����
��� '�� �� ����
�(��� ? �� )���!� �<������������  ���
�� �!������ 4D ���� ��6������� ��� =��
��������� )6�6���� �� �� 
6�!��� �� �!�
��D ���� ����

������� (�� �����$�� ��� ��!6����� ���� �� ������ �� �6���6� �����"��� ���� ������ ����� ��

����� �<�������6��� ��� �6������� ������� ���� �� �6���6� �����"�� ���� �� �����-�� �� �� 
6$
�!��� �� �!�
��� �� �����������D ���� 
��������� (�<�� ��� �6�������� �<�����(��� ��� ������
��� ����������� �� =������������6 ��� �� ������� ������= ���� ������� ��� ����
�(�� ���������
��������� ������������  ��� �� �!������ 5D ��� 
6�!���� ������6�� ���� �6���������� ����
���$
(��
��� �<����
��� ��� ����
�(��� ������6�� ? �� )���!� �<������������D (�� �6��'��� ���
=��
��� �� &�+D ���� ��6����6��� ���� ��������� ������� ��� 
6�!����D �
�����6�� ���� �� ��$
)����� ��������D ���� 
��6����� �� ����
�(�� �� ����"
� �� �6)������� )6�6��(�� �����B����
�<�

����6 ���"� ��� ��=������ ��� �� ����6����!�)� λ� &� ����"
� � 6�6 
��6���6 ���  ����
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�� F85GD ��D �� ������� �� 
H
� )���!� �<������������D ���� 
�������
(�<�� ��� �������� �� �6���������� ����
���(��
��� �� ����
��� �� 40 ����
�(��� �6��'��� ���
����"��� �� ���������� ������6� ��� �!��E�� �� �!�
�� I���
� ���(������ �� �������� �� ����$

�(�� ������6� ��� ��� �������J� ���� ������� 6)���
��� (�<�� �-���� ��� ����
�(�� I���
�
��� 40 �6��������6��J (�� ���� H��� ������� ? ������ �<�� )���!� �<������������ �� ���������
(�� ���- ��������D ����� (�� ����� ��������
��� ������6�6 �� �������� �����
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���� ������ ������ ���� �� ��= �� ����� �� =��
������� ��� �������D ���� ���� =����
�������D
�� �)
���#�� ��)
����
�D ������� �����$�� �� ������ ���
��������
��

��� ��������� ������
���

����� ��"�
�
��

�� �<���6����� ? �� ����
�(�� �<�� �6���� �� �6)������� ��)������� n �����6� �����)�(���
I����(��
��� ��� ����6����JD �<��� ? ����D ? �<6�������� �� ����� �� ��
�� �<�� ����"
� �� n
�����6� �����)�(��� �� ������������ �� ������ ��� �����6� �� 1 ? n�

�� ������� ? �!�(�� �����6 i �� ���������� %
� �<������� ��������D (�� �<�� ���� Xi� 3� ���$
������� ? �<����
��� ��� 
�����1 7�� ��
��
������
8 ��������� �� �<�����6 i� %��� ��� �������
6��������D Xi �������� �� 
���� ���- ������- �� ������������� Ii = 1, . . . , nJ� +<����
���
�� ���� ��� ����� ��������� �� ����"
� ��� ���� �<����
��� '��D 6���������
��� ��"� )����D
X =

∏n
i=1 Xi� �� ��������� �� ��� ������� �� ������ %
� � n ����
���
�� �������D Xi = {0, 1}D

i = 1, . . . , nD �� ����� (�� X ��� �� n$���� {0, 1}n�  ��� �� ���D �� ����� �� ����������
 ������

�
I��� �����6� ������6�6�� ���� ���� M��������N ���� M��6������NJ �

+<������ ��� 6���� X 6���� ����6D �� 
��6���� �� �����(�� �� ����
�(�� �� �6���� ��
��������� ��� ����������� �����
6������ f : X → X �

x = (x1, . . . , xn) ∈ X → f(x) = (f1(x), . . . , fn(x)) ∈ X.

&!�(�� ����������� fi : X → Xi ����� �� 
����� ����� �� i �� =������� �� �<6��� x �� �6�����
3�=��
����
���D fi(x) ��� �� ������ ���� ��(��� i 6����� ����(�� �� ����"
� ��� ���� �<6��� x ��
�<�������"�� ��

� ���� �

5� �� xi < fi(x)D ���� ��)��'� (�� �� ���- �� ����!"�� �� i ��� ��K��

��� �
������� ����
(�� �� ������ xi �� i ��)
�����

	� �� xi > fi(x)D ���� ��)��'� (�� �� ���- �� ����!"�� �� i ��� ���� =����� ���� 
�����$
��� �� ������ �� i ? �� ������ ��������� &�

� ��� �����6� �����)�(��� ������6�6�� ����
�6���������D �� ������ �� i ��� �
��6 ? ��
������

9� �� xi = fi(x)D ����� �� ���- �� ����!"�� �� i ��� ��� (�� �� ���������� �� i ��
�����
�-����
��� �� �6)�������� �� i � �� ������ �� i ����� ���������
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�� �6��
6D ? �<6��� xD �� ������"�� (�� �� ������ �� i ��� �� M��)
��������N �� xi < fi(x)D ��
M��
�������N �� xi > fi(x) �� M������N �� xi = fi(x)�

������� ����� �������6������ �� f D ���� �<!����!"�� ���6������ (�� ��� ������- �� ���������$
���� 6������� �� =�/�� ����!���� I�<��� ? ���� ��
�����6
���J �� �� ������ xt = (xt

1, . . . , x
t
n) ∈

X �<6��� �� ����"
� �� ��
�� t = 0, 1, 2, . . . D �� ����
�(�� ��� �6����� �� 
���"�� ���������
��� �<��6������ �������� � ���� x0 ���� ���� XD

xt+1
i = xt

i + signe(fi(x) − xi) i = 1, . . . , n t = 0, 1, 2, . . . I	�5J

����D ∀λ ∈ RD signe(λ) = λ/|λ| �� λ �= 0D �� signe(λ) = 0 �� λ = 0�  ��� ����� ����
�(��D
����� ��� �������� t �� t+1D �� ������ �� ������������� �� �!�(�� �����6 i ��)
���� �<��� ����6
�� xt

i < fi(xt)D ��
���� �<��� ����6 �� xt
i > fi(xt)D �� )���� �� 
H
� ������ �� xt

i = fi(xt)� +<!�$
���!"�� ����!���� �<��� ��� ��������� ��� �<��)
�������� �� �� ��
������� �� ������ �<���
�����6 �����)�(�� ����� ��� ��� �!6��
"��� �� ����!"�� �� �� �6)�������� (�� �� ���� ���
���������6�� 3� =��� ���� �� �6��� ���� (�� �� ������������� �<��� �����6 ����� �<�� ������ ?
�� ������ ��D ��� �6���� ���� ��"� ���������� +�� �!��)�
���� ��
�����6� �� ������- �� ������$
�������D �
���6� ��� �� 
��� ? ���� ����!����D �
���(���� ���� ��� 6)����6� ����� �6���� =���
��� ��������� F8:D :5G�

&<��� ����(��� ���6 �!�
�� �6���� �� ����
�(�� �� �6���� 
��6���6 ? �<���� �� f ��
=�/�� ������
��� ��)
����
� F8:D 8�D :5G � ? �<6��� xD ���� �!�(�� �����6 i ���� �� ������ ��
������������� ��� ��E6���� �� fi(x)D �� �-���� ��� ���������� ���
������ �� ����"
� �<���������
�<6��� (�� �<�� ������� �� �������� signe(fi(x) − xi) ? �� i"
� ��
������� �� x �� �� ��������
���!��)6�� ��� ������ ��
��������� &�

� ��������� 6���� ������� ����6��� ? �<6��� xD �� ��
���� ���� �6����� �� ����
�(�� ��� ��� ��
��� ��6������� &<��� ����(��� ���� ��� ����6����6�
��� �� )���!�D �����6 ������ �� ���
�����
� ��)
����
� �� f �

)����	�� �

;� ���� ���� x ∈ N
n	 i ∈ {1, . . . , n} �� ε ∈ {−1,+1}	 �
 
��� xi�ε �� n������ #�� ���
 �����
�

�
 �
����
� ε � �� i$�� �������
�� �� x <

xi�ε = (x1, . . . , xi + ε, . . . , xn).

=� /��
� ��

�� f : X → X ���� X �
 ������ %
� � n ����
���
�	 �
 
��� f ′ = (f ′
1, . . . , f

′
n)

������������
 �� X ��
� {−1, 0,+1}n ��%
�� ��� <

∀x ∈ X, f ′
i(x) = signe(fi(x) − xi) (i = 1, . . . , n).

*�(�	�	�� � +,����� �� ����
	�	��
 �
��������-
&��� f : X → X ���� X �
 ������ %
� � n ����
���
�� "� )���!� �� ����������� �����!����
�� f 	 #�� ���
 
��� ���(f)	 ��� �� ������ ����
�� ��
� ���
������ ��� ������� ��� X �� ��
�
���
������ ��� ����	 #�� ���
 
��� ��(f)	 ��� ��%
� ��� <

��(f) =
{
(x, xi�f ′

i(x)) /x ∈ X, i ∈ {1, . . . , n}, xi �= fi(x)
}
.
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�����.�� �  ��� �� )���!� �� ����������� �����!���� �� f D �� �� ���� ��� � ����� �� ������D
�<��� ? ����D �� ���������� �� �� =��
� (x, x)� �6�6����
���D ��� ������� ����(���� ��� 6����
������� �� ����"
�� 3��D ��� ����� ������� ���� ��� ��

��� (�� �<��� ��� �� ���������� ���� ���
������ '-�� �� f �

�����.�� 
  ��� �� ��� ��� ����6��D ���- ������������ f : X → X �� g : X → X ��E6������
������� ����� �� 
H
� ����
�(�� ���� �� 
H
� )���!� �� ����������� �����!����� %��� ����D
�� =��� �� �� ��K� (�� f ′ = g′�  ��� �� �����D ���1 ����������
� �������
� �� �+�� �)
���#��
����
� ����� �#������
����

'������ � n = 1D X = {0, 1, 2}� �� �6'��� ��� ������������ f �� g �� {0, 1, 2} ���� ���$
H
�
��� � f(x) = 2 − x �� g(x) = 1 Ix = 0, 1, 2J� �� � �

x f(x) f ′(x)
0 2 +1
1 1 −0
2 0 −1

x g(x) g′(x)
0 1 +1
1 1 −0
2 1 −1

���(f) = ���(g)

0 1 2

+�� ������������ f �� g ���� 6(�����������

�����.�� � +���(�<������ ���=����� �� ���� ? ��������D �� ���6)��� +1 �� −1 ��� + �� −�

�����.�� � 1���� ����6 �� (������(�� )���!� ������6 (X, T )D �� ��� =����� �� ������ �<��
�-���� f : X → X ����� (�� ���(f) = (X, T ) ��D �� ��� ����� ����������� �-����D �� �� �6'����
3� =��� ����� ���� �6��'�� (�� �!�(�� ���������� �� T ��� �� �� =��
� (x, xi�±1)� 3� =��� �����
�6��'�� �

∀x ∈ X, ∀i ∈ {1, . . . , n}, ∀ε ∈ {−1,+1}, (x, xi�ε) ∈ T ⇒ (x, xi�−ε) �∈ T.

0���� �����
���D �� �-���� ��� ����������� f �� X ���� ���$
H
� ����� (�� ���(f) = (X, T )�
�� ����� ��� �

∀x ∈ X, ∀i ∈ {1, . . . , n}, fi(x) =

⎧⎪⎨
⎪⎩

xi + 1 �� (x, xi�+1) ∈ T

xi �� (x, xi�+1) �∈ T �� (x, xi�−1) �∈ T

xi − 1 �� (x, xi�−1) ∈ T

����� #��	����

+<����
��� ��� ��
�����
���� ��������� �<�� �6���� 
��6���6 ��� f : X → X �� ���������
�� 
��� ��6������� �����!���� �� �� 
6�!��� �� �!�
�� ��� ����6 ��� �<����
��� ��� ����

�������� �� )���!� �� ����������� �����!���� �� f ���� ��� �<����
��� ��� �6(������ �<6����
(x0, x1, x2, . . . ) ������ (�� �{

xt+1 = xt �� xt = f(xt)
(xt, xt+1) ∈ ��(f) �����

t = 0, 1, 2, . . . .

A����� (���� ���� ��� ��E6����� ����� �� ������������ (�<�� ��� )���!� ���� �6'����
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3� ��� ����� (�<��� ����������� (�� ������� �� 6��� ������ ��������� ���6'��
��� ��� ��� 6��� I��
�<��� ��� �������� �� (������ �� 6��� ������J� *�� ����������� ���� ����� '��� ��� H��� �6�����(��
�� ���������� ���6'��
��� �� 
H
� �)���� &��������D �� � � ���- ���������� ���� ����������
? ������� �� ��
��� � ���� �� ����� ��� ������ ���� �� �� �<��� ���� 3��������
���D �� ����� ���
������ �<�� ��� �
�������� �� �� (������� .��
����
��� �

*�(�	�	�� 
 +����	�/ ����� �� ����� 
�����-
&��� f : X → X ���� X �
 ������ %
� � n ����
���
�� >
 �!�
�� �� ���(f) �� ��
�����
r ∈ N ��� �
� ��#��
�� (x0, . . . , xr) ������� �� X ����� #�� �� r > 0 ����� (xt, xt+1) ∈ ��(f)
���� t = 0, . . . , r − 1� >
 ����� �� ��
����� r ∈ N

∗ ��� �
 �����
 (x1, . . . , xr, x1)	 
���
[x1, . . . , xr]	 ��� #�� x1, . . . , xr ��
� ���� ��(���
��� >
 �)��� ��� ������ ��	 �
 ���
��%�
� xr+1

�� x1	 xt+1 ��� ���
�#�� ���������� �� xt ��
� ���(f) ���� t = 1, . . . , r�

�����.�� � %�� ����������D ���� ���� x ∈ XD �� �-���� �� �!�
�� �� ���)���� 0 �� x ? x�

�� ��� ����������� ������� �� 6��� �<�� ����� ������ �����D �6��������
���D ���� �� ������)� ��
���������� ���6'��
��� ��� 6���� �� �� ������ +� ����"
� ������ �� ��
�����
��� ������������
������� +�� �6����- (�� ���
������ �<������� �� ���� �� ��
�����
��� ���� ������� ������6�
���� 
��6����� ��� �!6��
"��� �<!�
6������� �V �� ������������� �� ��������� �����6� ���

��������D �� ������� ������ �<��� ������ M����
���N F8:D 88G�

'������ 
 n = 3D X = {0, 1}3 �� f ��� �6'��� ��� �

f(x1, x2, x3) = (1 − x3, x1, x2) ∀x ∈ {0, 1}3.

�� � �

x f(x) f ′
1(x) f ′

2(x) f ′
3(x)

(0, 0, 0) (1, 0, 0) + 0 0
(0, 0, 1) (0, 0, 0) 0 0 −
(0, 1, 0) (1, 0, 1) + − +
(0, 1, 1) (0, 0, 1) 0 − 0
(1, 0, 0) (1, 1, 0) 0 + 0
(1, 0, 1) (0, 1, 0) − + −
(1, 1, 0) (1, 1, 1) 0 0 +
(1, 1, 1) (0, 1, 1) − 0 0

���(f)

(0, 0, 0) (1, 0, 0)

(0, 1, 0) (1, 1, 0)

(0, 0, 1) (1, 0, 1)

(0, 1, 1) (1, 1, 1)

������ ��� ������������ '������� ��� H��� �6�����(��� �� ���������� ���6'��
��� �� ����� ������
(�� ����� ��� ���� ��� 6���� �� �6���� �-����6� (0, 1, 0) �� (1, 0, 1)�

��������� 
��������� (�<��� ����������� ����� ��� �� 6��� ����������� ? �� ����� ���������
0����D ? ������ �� ��� 6���D �� ����������� ���� ��������� �� ��
��� ����������
��� )���� ��
=��� �� ����� ����� �� �� (������ I�� (�� ��� �������� ? �!�(�� ���� ����(�� �� ����� ��� ��������J�
3� � � ���� ��� ��'���6 �� M������)������N ��������� ���� �� �����������D �� �� � �� � ��� ����
���������"�� � �<��� ����� (�� ���
�� ? �� ����������� �� �� ��
��� (������ �� ������ 3� ��� ����
=����
��� M�
��������N (�� �<6��� �� ����"
� �������� ���6'��
��� �� 
H
� ����� ���������
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'������ � &�� �-�
��� ��� �-����� �� F�G � n = 2D X = {0, 1, 2} × {0, 1} �� f ��� ����6� ���
�� ����� �������� �

x f(x) f ′
1(x) f ′

2(x)
(0, 0) (1, 0) + 0
(0, 1) (0, 0) 0 −
(1, 0) (2, 1) + +
(1, 1) (0, 1) − 0
(2, 0) (2, 1) 0 +
(2, 1) (2, 1) 0 0

���(f)

(0, 1)

(1, 0)

(1, 1)

(0, 0) (2, 0)

(2, 1)

+� )���!� �� ����������� �����!���� �������� �� 6��� ������D �<6��� (2, 1)D �� �� ����� ��������
(�� ����� ��� ��� 6���� (0, 0)D (1, 0)D (1, 1) �� (0, 1)� &�

� ���� �<�-�
��� ��6�6����D ������ ���
������������ '������� ��� H��� �6�����(��� �� �����)���� �<6��� ������ �� �� ���������� ���6'��$

��� �� ������ &��������D ���������
��� ? �<�-�
��� ��6�6����D �<����
��� ��� ������������ ���
��'���� &�

� ���� ��� ����
��� ��'�� �� �<� � (�� 4 ������������ (�� ���������� ���6'��
���
�� �����D �� ��� ����������� �� �������� (�� �� ����"
� '��� ��� �� ���������� ��� �<6��� �������

 ��� �� ��� ����!����D ������ �� 6��� ������� x0 ∈ XD �� ����� ����������� �������� ��� ��
����������� (x0, x1, x2, . . . ) �V xt+1 = xt + f ′(xt) ���� t = 0, 1, 2, . . . I�<��� ��� =�/�� ����
������� �<6����� �<��6������ I	�5JJ�  "� ����D �� ��
����� ���� (�� �!�(�� ����������� '��� ���
���������� ��� �� ����� '-� �� ��� ��������� ���6'��
��� �� 
H
� ����� ������� +�� ������
�� ��� ������ '-�� �� f ���� ����� �����6� M�����������N F;8G� %��� ��� ������� 6��(�6�� ��6$
�6��

���D �� ��� ������� �� ������6��� (�� ��� ������ '-�� �� ��� ������ ������� �� )���!�
�� ����������� �����!���� �� f ���� ��� M�����������N� &� (����'����= �������� 6)���
��� H���
�������6 ? �� ������"
� ���� �� ���������� 3� �<�)�� ��� �������
��� *������
� ��

�1�� ��������

*�� ��
������� =����
��� �����-� �� ���(f) ��� ��� ������ ��� ���� A �� X ��� (�� ����
���� x, y ∈ A �� �-���� �� �!�
�� �� x ? y �� �� �!�
�� �� y ? x S �����$�� ��� ������ �� ���� ����
(x, y) ∈ A × XD �� � (x, y) ∈ ��(f) ⇒ y ∈ A� ������ (�� ��� ������ '-�� �� ��� ������ �������
���� ��� ��
�������� =����
��� �����-�� �������� ��������� ����� (�� A ���� ��� ��
�������
=����
��� �����-� ������ �� ���(f) �� ������������� ��� ��- ���- ����� �<M�����������N �6�?
��6����6�� 0����D ���� ���� x, y ∈ A �� �-���� �� ����� ��������D ��
���6 �<6���� �� AD (�� �����
��� x �� y�  � ����D �� ��� �
�������� �� (������ A� *�� ����������� (�� ����� ��� �� 6��� ��
A ����� ����� M��������"��N �� A �� �������� ���6'��
��� ��� 
H
�� ������ ��������� �� A� ��
=���D A ���D �� ���� �� �<���������D ��� ���� ������ ������ �� X (�<�� ��� �
�������� �� (������
�� ���� ��(����� ��� ������������ �� '������� ��� �6��������
��� ��� H��� �6�����(���� �� ����
����� ���� A ��

� ��� M����� ������ �� ������ ���������N�

�4���� ��-���� �	� 
����������� �� �5��� ���	�
����	 ����	����� T 
�	 ���6�������	 ��� 
������ 
� (1, 0) ��
��� -��		��� 
�� ������
�� ������ 	������ 7� 
��� ������ �� �����	
��
���� �������� ������ ������ r ���� ��
���6������� 
� T ��� ��
����� r ���	 �� �%��� ����� 
�������
�� (2, 1)� T �	� 
��� 
����������� 7� �� 
�
���
��� ����	����� 
�	 ���6�������	 ��� -��		��� 
�� 	��������� �� (2, 1) �	� 
����������� 4���� �� ��% � ��� 4
���6�������	 ��� 
��������� ��
�-������ �� �%���� �� % � ���� ��� ��-���� 
���������� 
� ���6�������	�



5: �������� �	 ������� 
� ���������� 
�������

'������ � �� ������� �<�-�
��� 9 �� �� 
���'��� (�� �<�
�)� �� (2, 1) ��� f1 �

x f(x) f ′
1(x) f ′

2(x)
(0, 0) (1, 0) + 0
(0, 1) (0, 0) 0 −
(1, 0) (2, 1) + +
(1, 1) (0, 1) − 0
(2, 0) (2, 1) 0 +
(2, 1) (1, 1) − 0

���(f)

(0, 1) (1, 1)

(0, 0) (2, 0)

(2, 1)

(1, 0)

3� � � 
��������� ���- ������ ��������� �����
H�6� (�� ������� ��� ���� ��� 6���� �� X � X ���
���$
H
� ��� ��
������� =����
��� �����-� ������ �� ���(f)� &���� ��
������� ���
�� ��
�6����� ��� ��'���6 ��� �6��
������ �� ������������� � ��������� ������������ ���� ��6�����(����

'������ � n = 2D X = {0, 1}2 �� f ��� ����6� ��� �

x f(x) f ′
1(x) f ′

2(x)
(0, 0) (1, 1) + +
(0, 1) (0, 0) 0 −
(1, 0) (0, 0) − 0
(1, 1) (0, 0) − −

���(f)

(0, 1)

(1, 0)

(1, 1)

(0, 0)

+� )���!� �������� ��� ��
������� =����
��� �����-� ������ � {(0, 0), (1, 0), (0, 1)}�

���� ��� �-�
���� �� )���!�� �� ����������� �����!����� (�� ���� ����� ����6� ���(�<?
��6���� ��� �� ������������6 �� �� �������� (�<�� M����������N ���� (�<��� ��
������� =����$

��� �����-� ������� %�������D �� ��6����� �� ��������� ����������� ���
�� �� 
��6����� ���
�!6��
"��� �� ��E6���������� F:;D 	
D 8:D 88D 5
D :
D :5G� 3��������
���D ����(�<�� �6���� ��
�6)������� )6�6��(�� �����B�� �� �!6��
"�� �� ��E6����������D ������� �<���������� ���� ��(���
�<6��� �� �6���� 6�����D �� ������� ��(����� �� �!6������ �����������D ���� �� ��E6������� %��
�-�
���D ���� �� 
��"�� ����6�� �� �� 
���!�)��"�� �� �� Q��� �� 5���������� ������
�D �� �
� ; 6���� ������� ����6������� ��� ��E6����� ����� �� �������� ��6����� ���� �� Q��� F7;G�

 ��� ��� �-�
���� ��������D ��� )���!�� �� ����������� �����!����� ����������� ���������
������������

'������ ! �� ������� �<�-�
��� 9 �� �� 
���'��� (�� �<�
�)� �� (1, 0) ��� f1 �

x f(x) f ′
1(x) f ′

2(x)
(0, 0) (1, 0) + 0
(0, 1) (0, 0) 0 −
(1, 0) (1, 1) 0 +
(1, 1) (0, 1) − 0
(2, 0) (2, 1) 0 +
(2, 1) (2, 1) 0 0

���(f)

(0, 1) (1, 1)

(0, 0) (2, 0)

(2, 1)

(1, 0)

�0����� c0 = ((0, 0), (1, 0), (1, 1), (0, 1)) �� c1 = ((0, 0), (1, 0), (2, 1), (2, 1), (1, 1), (0, 1)) ��	 
��$ 	�������	

�����	 �����	
��
��� ��$ 
��$ �%���	 
� ���(f)� )���� 	���� 
� c0 �� 
� c1 �	� ��� ���6������� 
� ���(f)

������ 
� (0, 0)� 4���� ����	����� 
�	 	����	 
� 0 �� 
� 1 �	� ��
����������� ����	����� 
�	 ���6�������	

������ 
� (0, 0) ���	� ��		��
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+� )���!� �������� ���- ��
�������� =����
��� �����-�� ������� � �� ����� ������ �� ���)����
4 �� �� 6��� ������� ��
��(���� (�� �� )���!� �� �6��
���� �� ���- ��
�������� �����-���
+� ����
�(�� � ����� �� ������������6 �<H��� �6���
������ � ������ �!�(�� 6���D �� �<� � (�<���
����������� ���������

'������  n = 3D X = {0, 1}3 �� f ��� �6'��� ���

f(x1, x2, x3) = (x3, 1 − x1, 1 − x2) ∀x ∈ {0, 1}3.

�� � �

x f(x) f ′
1(x) f ′

2(x) f ′
3(x)

(0, 0, 0) (0, 1, 1) 0 + +
(0, 0, 1) (1, 1, 1) + + 0
(0, 1, 0) (0, 1, 0) 0 0 0
(0, 1, 1) (1, 1, 0) + 0 −
(1, 0, 0) (0, 0, 1) − 0 +
(1, 0, 1) (1, 0, 1) 0 0 0
(1, 1, 0) (0, 0, 0) − − 0
(1, 1, 1) (1, 0, 0) 0 − −

���(f)

(0, 0, 0) (1, 0, 0)

(0, 1, 0) (1, 1, 0)

(0, 0, 1) (1, 0, 1)

(0, 1, 1) (1, 1, 1)

+� )���!� �������� ���- 6���� ������� �� �� ����� �������� �� ���)���� 6� �� ��
��(���� (��
�� �����
������ �� �� )���!� ���� �� )���!� �� ����������� �����!���� �� �<�-�
��� 	 �<���
(�<��������� I���� �<�-�
��� 	D �� ����� �� ���)���� 6 ��� ������ �� �� �<� � ��� �� ����� '-�J�

'������ 0 n = 3D X = {0, 1, 2} × {0, 1} × {0, 1} �� f ��� ����6� ��� �

x f(x) f ′
1(x) f ′

2(x) f ′
3(x)

(0, 0, 0) (0, 0, 0) 0 0 0
(0, 0, 1) (1, 1, 0) + + −
(0, 1, 0) (0, 0, 1) 0 − +
(0, 1, 1) (1, 0, 1) + − 0
(1, 0, 0) (0, 1, 0) − + 0
(1, 0, 1) (1, 1, 0) 0 + −
(1, 1, 0) (0, 1, 1) − 0 +
(1, 1, 1) (2, 1, 1) + 0 0
(2, 0, 0) (2, 0, 1) 0 0 +
(2, 0, 1) (2, 1, 0) 0 + −
(2, 1, 0) (2, 1, 0) 0 0 0
(2, 1, 1) (2, 0, 1) 0 − 0

���(f)

(0, 1, 0) (1, 1, 0)

(0, 0, 1) (1, 0, 1)

(0, 1, 1)

(0, 0, 0)

(2, 0, 1)

(2, 1, 0)

(1, 1, 1)

(1, 0, 0)

(2, 1, 1)

(2, 0, 0)

+� )���!� �������� ����� ��
�������� =����
��� �����-�� �

{(0, 0, 0)}, {(2, 1, 0)} �� {(2, 0, 0), (2, 0, 1), (2, 1, 1)}.
3� � � �� ����� �� ���)���� 6 �� 3 ������ �� ���)���� 2� +�� 4 ������ ���� ���������� �� ��
��(����
����� (�� �� )���!� �<��� ��� �����-��

�� �6��
6D �� ������ ��� ����������� f D �<��� 
��6�����D ��� �� )���!� �� ����������� ������6
? f D �� ����
�(�� �<�� �6���� �� �6)�������� &<��� ���� ������ (���� ���� ��� 6���� �������D
��� ������ ������� I�� ���������JD ��� ��
�������� =����
��� �����-�� �������D �� �<��� �����
������ ��

��� ���� ��)����6� ��� ��E6����� ������������ &���� (������� �<��� )6�6����
���
��� ���������
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+� ������ �� �6���� �� �6)������� ��� ������������� �� �� ������ �� )���!� �<�������������
3�=��
����
���D ��� ��

��� �� �� )���!� ������������� ��- �����6� �� �6���� �� �� ��������
�� ��� �<��� �����6 ? ��� ����� �� �� ���
�"�� �6)��� �� �������D �<��� ? ����D �� ��� ��������� ��
������ �� �� ���
�"�� � ��� ��Q����� ��� �<6�������� �� ������ �� �� �������� &� )���!� �����
�� M��!6
� )����� �� =���������
���N �� �6���� �� ��������� �� �6��
6 (��������= �����(�� ��
�� ����
�(�� ���� =����� � ����6!����� (�� ����� �����"���

+���(�� �<�� 
��6���� �� ����
�(�� �<�� �6���� ��� �� ����"
� �<6(������� ��E6����������
�� �� =��
� dx/dt = f(x)D ���� f ��� ����������� �� R

n
+ ���� ���$
H
�D �� )���!� �<�������$

����� �� �6���� ��� �6'�� ��

� ���� � �<����
��� ��� ��

��� ��� {1, . . . , n} �� �� �-���� �� ���
�� j ? i 
��� �<�� ��)�� ������= I����� �6)���=J �� �� �����
��� �� (∂fi/∂xj)(x) ��� �������
���
������= I����� �������
��� �6)���=J ���� �� 
���� �� 6��� x ∈ R

n
+ F�8D �:G�

 ��� ����� �������D ���� ������ ���������� ����� �6'������ ��������� ? ����� �����-�� ��������
���� ������ ���� �
��6� ? ���������� ��� ������ �� �6���6� ���� ��� ������������ �<�� ������
'�� X ���� ���$
H
��

����� ���
 �� �
���!��

���� ���� �� ������ '�� X ? n ��
��������

*�(�	�	�� � +1������
 �� $��	��	��
 (ε)-
0
 ������� ����
��� ��� �������� �� ���������� �������� � �
 ���� x ∈ X	 �� ���
 
��� VX(x)	
���
������ ��%
� ��� <

VX(x) =
{
ε / ε ∈ {−1,+1}n �� x + ε ∈ X

}
.

*�(�	�	�� � +���	$�� �	
����� �
�����-
&��� f : X → X� ���� ���� x ∈ X �� ε ∈ VX(x)	 �
 ������� �6���6� �����"�� ������� 7��
�������

� �����$�� �������8 �� f �
 (x, ε) �� ������� (n, n) � ���?���
�� ��
� {−1, 0,+1}	
#�� ���
 
��� df(x, ε) = (dfij(x, ε))	 ��%
�� ��� <

dfij(x, ε) = εj · signe(fi(xj�εj) − fi(x)) (i, j = 1, . . . , n).

0����D dfij(x, ε) > 0 ��D ? �<6��� xD �<��)
�������� I����� �� ��
�������J �� ������ �� ������$
������� �� �<�����6 j ������ ��� ��)
�������� I����� ��� ��
�������J �� ������ ����� �� i I(��
��� ����6 ��� fiJ�  ��� �� ���D �� ��� (�� j ? �� �E�� ������= ��� i �� ������ (�� j ��� ��
���������� �� i� 3������
���D dfij(x, ε) < 0 �� �<��)
�������� I����� �� ��
�������J �� ������
�� j ������ ��� ��
������� I����� ��� ��)
��������J �� ������ ����� �� i� �� ��� ����� (�� j ?
�� �E�� �6)���= ��� i �� (�� j ��� �� ��!������� �� i� .�����
���D dfij(x, ε) = 0 �� �� ���������
�� ������ �� ������������� �� j �<� ������ �6���������� ��� �� ������ ����� �� i�

�����.�� !  ��� �� ��� X = {0, 1}nD VX(x) ��� �� ���)������ +� �6���6� �� f �� �6����
����� (�� �� x �� ��� ���6� ���� �
��)�P�6 df(x) �

dfij(x) = εj · signe(fi(xj�εj) − fi(x)) ���� εj = 1 − 2xj (i, j = 1, . . . , n).

+� 
������ J = (Jij)D �V Jij ��� �� ������ ������� �� dfij(x) ���� i, j = 1, . . . , nD ��� ����� ��
#��������� �� f �� x �6'��� ��� .���/��� ������ F;�D ;8G�
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&���� �6'������ �� �� �6���6� ��� ��������� ��� �� ��
������6� &��������D �� ����� �� ��� ��
�� ����
�(�� �����!����D �� ��������� dfij(x, ε) �= 0 ������O� ��

� ����K����� ���� ��������
? �� ��6����� �<��� ����������� �� j ��� iD ��

� �<�������� �� ')��� 	�5� %��� =��
����
���D ��
��� �������� (�� f ���� ����� (�� dfij(x, ε) �= 0 �� (�<�� �-���� ��� ����������� g 6(��������� ? f
�� ����� ����� �� ��� If ′ = g′J ����� (�� dgij(x, ε) = 0� +<����������� �� j ��� i �6����6� ���
df �� (x, ε) ������O� ����� �����Q���

'������ � n = 1D X = {0, 1, 2}D �� ��� ������������ f �� g ���� �6'���� ��� �

x f(x) f ′(x)
0 2 +
1 1 0
2 0 −

x g(x) g′(x)
0 1 +
1 1 0
2 1 −

���(f) = ���(g)

0 1 2

f �� g ���� 6(���������� 
��� ����� �<��
������ ��� �� 
H
� �6���6� ������� �{
df(0,+) = signe(f(1) − f(0)) = signe(1 − 2) = −1
dg(0,+) = signe(g(1) − g(0)) = signe(1 − 1) = 0

'������ �% n = 2D X = {0, 1, 2} × {0, 1}D �� ��� ������������ f �� g ���� �6'���� ��� �

x f(x)
(0, 0) (1, 1)
(0, 1) (2, 1)
(1, 0) (2, 0)
(1, 1) (1, 0)
(2, 0) (2, 1)
(2, 1) (1, 0)

x g(x)
(0, 0) (1, 1)
(0, 1) (1, 1)
(1, 0) (2, 0)
(1, 1) (1, 0)
(2, 0) (2, 1)
(2, 1) (0, 0)

���(f) = ���(g)

(0, 1) (1, 1)

(0, 0) (2, 0)

(2, 1)

(1, 0)

f �� g ���� 6(���������� 
��� ����� �<��
������ ��� �� 
H
� �6���6� ������� �{
df12((0, 0), (+,+)) = signe(f1(0, 1) − f1(0, 0)) = signe(2 − 1) = +1
dg12((0, 0), (+,+)) = signe(g1(0, 1) − g1(0, 0)) = signe(1 − 1) = 0

0'� (�� ������ ��� ������������ (�� ��
������ �� 
H
� ����
�(�� ����� �� 
H
� �6���6�D
���� ������ ������6��� �� �������� �������� �� �� �6���6� ������� �

*�(�	�	�� � +*��	$�� �	
����� ��� �
�����-
&��� f : X → X� ���� ���� x ∈ X �� ε ∈ VX(x)	 �
 ������� �6���6� �����"�� ��� ������� 7��
�������

� �����$�� 
�
 �������8 �� f �
 (x, ε) �� ������� (n, n) � ���?���
�� ��
� {−1, 0,+1}	
#�� ���
 
��� ∂f(x, ε) = (∂fij(x, ε))	 ��%
�� ��� < ∀i, j ∈ {1, . . . , n}	

∂fij(x, ε) =

{
dfij(x, ε) �� fi(x) �� fi(xj�εj) ��
� �� ���� �� ������� �� xi + εi/2,

0 ��
�
.

�����.��  �� X = {0, 1}nD ����� ∂f = df �

�����.�� 0

∀x ∈ X, ∀ε ∈ VX(x),

{
∂fij(x, ε) = +1 ⇒ dfij(x, ε) = +1
∂fij(x, ε) = −1 ⇒ dfij(x, ε) = −1.



		 �������� �	 ������� 
� ���������� 
�������

x

xj�+1

j

i

fi(x) fi(xj�+1)

xj�+1

x

j

i

fi(x) fi(xj�+1)

���� 	�5 R 2 ������# ��� ������
�
��� 	� ������ 	� j 3 � �
�
 x ��	��
 ��� ������
�
��� 	� ������
����� 	� i � �� � dfij(x, ε) = +1� 4����	��
# ��

� ��	����
��� 	� ������ ����� 	� i � � ��� 	�
������������ ��� � �����
��� 	� ������ 	� ������
��
��� 	� i ��� ����
 �
 ���)� �� �����
��� 	� j# ��
������ 	� i ��
 �� -	�����
���. 
f ′

i(x) = f ′
i(x

j�+1) = −1�� 2 	���
�# �� ��
��
��� ��
 ����
����� �
� ������
�
��� 	� ������ ����� 	� i ��	��
 ��� � ������
�
��� 	� ������ 	� j � ��
 ��� -�������. 	���
�� 	���������

xj�+1

x xi�+1

j

i

fi(x
j�+1)fi(x) s

xj�+1

x

fi(x
j�+1) fi(x)

j

i

s

���� 	�	 R ��� �����
���� ������
����� εi �
 εj ���
 ����
����� �� -�����. s = xi + εi/2 3 �����	���� ��

	��� �������� ��
�� xi �
 xi + 1� 2 ������# ��� ������
�
��� 	� ������ 	� j �����
 �� ������ �����
	� i 	� �������� �� ����� s� 4�

� �����
��� 	� ������ ����� 	� i ��
 -�������. 	��� �� 	�������� � ����

�� �����
��� 	� ������ 	� j# �� ������ 	� i ��
 �� 	�����
��� ����� �� ���)� �� �����
��� 	� j# �� ��
 ��
������
�
���� 2 	���
�# �� �����
��� 	� ������ 	� j ��	��
 ��� ��	����
��� 	� ������ ����� 	� i ���
��
 ��������
 -�������. 	��� �� 	�������� �����������
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+� ��������� Mfi(x) �� fi(xj�εj) ���� �� ���� �� �<����� �� xi + εi/2N ��� �������6� ���� ��
')��� 	�	�  ��� �� ����������� ��������D �� 
����� (�� �� �6���6� ��� ������� �� f �� �6����
(�� �� )���!� �� ����������� �����!���� �� f �

#����
	�	�� � &���
� f : X → X	 x ∈ X	 ε ∈ VX(x)	 i, j ∈ {1, . . . , n} �� y = xj�εj �

;� &� i �= j �����

∂fij(x, ε) =

{
+εiεj ⇐⇒ (x, xi�εi) �∈ ��(f) �� (y, yi�εi) ∈ ��(f)
−εiεj ⇐⇒ (x, xi�εi) ∈ ��(f) �� (y, yi�εi) �∈ ��(f)

=� &� i = j �����

∂fii(x, ε) =

{
+1 ⇐⇒ (x, y) �∈ ��(f) �� (y, x) �∈ ��(f)
−1 ⇐⇒ (x, y) ∈ ��(f) �� (y, x) ∈ ��(f)

#���$�2 �� ��������� εi = εj = +1 ��� ������ ��� 6���� �����)���� �� i �= j ����� �

∂fij(x, ε) = +1 ⇐⇒ fi(x) ≤ xi = yi < fi(y)
⇐⇒ f ′

i(x) ≤ 0 < f ′
i(y)

⇐⇒ (x, xi�+1) �∈ ��(f) �� (y, yi�+1) ∈ ��(f).

3������
��� �

∂fij(x, ε) = −1 ⇐⇒ fi(y) ≤ xi = yi < fi(x)
⇐⇒ f ′

i(y) ≤ 0 < f ′
i(x)

⇐⇒ (x, xi�+1) ∈ ��(f) �� (y, yi�+1) �∈ ��(f).

�� i = j ����� yi = xi + 1 �� �� � �

∂fii(x, ε) = +1 ⇐⇒ fi(x) ≤ xi < yi ≤ fi(y)
⇐⇒ f ′

i(x) ≤ 0 ≤ f ′
i(y)

⇐⇒ (x, xi�+1) �∈ ��(f) �� (y, yi�−1) �∈ ��(f)
⇐⇒ (x, y) �∈ ��(f) �� (y, x) �∈ ��(f).

3������
��� �

∂fij(x, ε) = −1 ⇐⇒ fi(y) ≤ xi < yi ≤ fi(x)
⇐⇒ f ′

i(y) < 0 < f ′
i(x)

⇐⇒ (x, xi�+1) ∈ ��(f) �� (y, yi�−1) ∈ ��(f)
⇐⇒ (x, y) ∈ ��(f) �� (y, x) ∈ ��(f).

�

0����D ∂f �� �6���� (�� �� ���(f) I���� ')��� 	�9J� 0����
��� ���D ���- ������������
6(���������� ��
������ �� 
H
� �6���6� ��� ������� If ′ = g′ ⇒ ∂f = ∂gJ� %�� ������D ��
�6�����(�� ��� =�����D f �� g ������� ��
����� �� 
H
� �6���6� �� ��� ����
�(��� �����!�����
��E6������� &�����6���� ��� �-�
��� ��� ������������ ���������� f �� g �6'���� ��� {0, 1, 2}
��� f(0) = f(1) = f(2) = 0 �� g(0) = g(1) = g(2) = 1� +�� #���������� I���$��������J �� f
�� g ���� ������ 6)���� ? �� 
������ ����� I? ��� ����6�J� %�������D ��� )���!�� �� �����������
������6� ? f �� g ���� ��E6����� � ��(f) = {(2, 1), (1, 0)} �� ��(g) = {(2, 1), (0, 1)}�
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� ���������� 
�������

εj = +1
εi = +1

εj = −1
εi = +1

εj = +1
εi = −1

εj = −1
εi = −1

y

x xi�+1

yi�+1

x

yyi�−1

xi�−1

xxi�−1

yyi�−1

x y

xy x

x y

y

y

x xi�+1

yi�+1

x

yyi�−1

xi�−1

xxi�−1

yyi�−1

y yi�+1

x xi�+1 x xi�+1

y yi�+1

εi = +1

εi = −1

∂fii(x, ε) = +1

∂fij(x, ε) = +1 ∂fij(x, ε) = −1

∂fii(x, ε) = −1

���� 	�9 R ��� +)���� ������� ��	�����
 � ������� 	� 
�����
��� 	��� ���(f) �
 ��� +)���� ��� �������
��	�����
 �� �������� 	� 
�����
��� 	��� ���(f)� ��� +)���� �� ����
����� �����
���
 ��� �����
���� 	�
������ 	� j ��� ��)���
 3 � �
�
 y = xj�εj 
�� ���
 �� � j �= i# �
 �� ��� �� � j = i��



�	�	 ������ 
 ������������ 	;

����� $����� ��
�������
���

���� ������ 
��������� �6'��� �� )���!� �<������������ �<�� �6���� ���� �� ����
�(�� ���

��6���6� ��� �<�����
6������ �� f � �� ��

���� ��� �������� ? �!�(�� #��������� �� f ��
)���!� �<�������������

*�(�	�	�� ! +,����� �3	�������	��
-
>
 n$)���!� �<������������ ��� �
 ������ G = (V,E) �@ V = {1, . . . , n} �� �@ E ⊆ V ×
{−1,+1} × V � &� (j, α, i) ∈ E �
 ��� #�� G ��
���
� �
 ��� �� j ? i �� ��)�� α� &� α = +1
7����� α = −18	 �
 ��� ����� #�� (j, α, i) ��� �
� ���������� 7����� ��!�������8�

*�(�	�	��  +,����� �3	�������	��
 �3��� 4����	����-
&��� J = (Jij) �
� ������� (n, n) � ���?���
�� ��
� {−1, 0,+1}� 0
 ������� )���!� �<�����$
������� �� J 	 �� �
 
��� G(J)	 �� n������� ���
��������
� ��
� ���
������ ��� ���� ��� <

{(j, Jij , i) / i, j ∈ {1, . . . , n} �� Jij �= 0}.

'������ �� n = 3D

J =
0 − −
+ 0 0
0 + +

G(J) =

1 2

3

+

+

−
+−

+�� )���!�� �<������������ �� �� =��
� G
(
∂f(x, ε)

)
������ �����6� ��� ������� ���
��������
�

�����1 �� f � ���� �X�D G
(
∂f(x, ε)

)
�� ∂f(x, ε) ���� ���- ����6���������� 6(���������� �� �� 
H
�

��=��
������

�����.�� �  <���"� �� ��
��(�� :D ���� ���� x ∈ X �� ε ∈ VX(x)D �<����
��� ��� ������������
�� G

(
∂f(x, ε)

)
��� ��� ������ �� �<����
��� ��� ������������ �� G

(
df(x, ε)

)
�  ��� �� ���)�)�

��� )���!��D �� ��� (�� G
(
∂f(x, ε)

)
��� �� ������ ������� �� G

(
df(x, ε)

)
�

���� ��

�� 
��������� �� 
����� �� �6'��� �� )���!� �<������������ I)�����J �<�� �6����

��6���6 ��� f � �� ��� �<����� �� ���� ��� )���!�� �����- �� f �

*�(�	�	�� 0 +5�	�� �� ������
 �3	�������	��
-
&���
� G = (V,E) �� G′ = (V,E′) ���1 n�������� ���
��������
�� 0
 ������� ����� �� G ��
G′	 �� �
 
��� ���������
� G ∪ G′	 �� ������ n������� ���
��������
� (V,E ∪ E′)�

*�(�	�	�� � +,����� �3	�������	��
 ������-
&��� f : X → X� 0
 ������� )���!� �<������������ �� f 	 �� �
 
��� ���������
� G(f)	 ��
n������� ���
��������
� ��
�� ��%
� <

G(f) =
⋃

x∈X, ε∈VX(x)

G
(
∂f(x, ε)

)
.



	� �������� �	 ������� 
� ���������� 
�������

������ (�� �� )���!� )����� G(f) ���� �������� ��� ����������� �������� �� ��� �����������
�6)����� �<�� ��

�� i ? �� ������

'������ �
 n = 2	 X = {0, 1, 2} × {0, 1} �� f ��� ��

�� ��� <

x f(x) f ′
1(x) f ′

2(x)
(0, 0) (1, 0) + 0
(0, 1) (1, 0) + −
(1, 0) (2, 1) + +
(1, 1) (0, 1) − 0
(2, 0) (2, 1) 0 +
(2, 1) (2, 1) 0 0

���(f)

(0, 1) (1, 1)

(0, 0) (2, 0)

(2, 1)

(1, 0)

"�� ������� �����1 �� f ��
� ��� �����
�� <

∂f((0, 0), (+,+)) =
0 0
+ 0

1 2

+

∂f((0, 1), (+,−)) =
− 0
+ 0

1 2

+

−

∂f((1, 0), (−,+)) =
0 −
+ 0

1 2

+

−

∂f((1, 0), (+,+)) =
0 −
0 0

1 2

−

∂f((1, 1), (−,−)) =
− −
+ 0

1 2

+

−

−

∂f((1, 1), (+,−)) =
+ −
0 0

1 2

−

+

∂f((2, 0), (−,+)) =
0 0
0 0

1 2
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∂f((2, 1), (−,−)) =
+ 0
0 0

1 2+

'�
�	 �� ������ ���
��������
� ������ G(f) ��� <

1 2

+

−

−+

��� ����������

 ��� �� �!������D ���� ��

�� ������ �<�� ������ ��� 6���� '�� X �� �<��� ����������� f ��
X ���� ���$
H
�� ���� ����� ������� ������6 ? f �� )���!� �� ����������� �����!���� ���(f)
���
������ �� 
��6����� ��� ����
�(���

��T�� ? �<������������ �� �� �6���6� ��� ������� ∂f D ���� ����� ��'� �6'�� �� )���!� �<��$
���������� G(f) ������6 ? f D (�� �� �6���� (�� �� ���(f)�

&�

� �� �6���� ��� )6�6����
��� ������6���6 ��� ��� ����
�(�� �� �� )���!� �<��$
����������D �� ��

� �� ����
�(�� �����!���� (�� ���� ����� ������6� ? f ��� ����� �� ��

6�!��� ��)�(�� �� ���6 �!�
��D 
��� ���
� �
 ���$�� ������� ��
���� ���� ��� ������1 ��
���������
 �������#��� < �
 ���$��	 �� �6���� �� �6)������� �������	 ��� �
 ������ �� �� *����(
G(f),���(f)

)
	 f ���
� �
� ����������
 ���
 ������� �� n �
��������� %
�� ���
����� ��
� ����

�+��� &�

� �!�(�� ����������� f �6'��� �� �6���� �� �6)������� �������D �� ���� ����� ����
f ��

� �� M�����-�N �<�� �6���� �� �6)������� ������� �� �� ������

(
G(f),���(f)

)
��

�

�� M�6
����(��N �� �� 
H
� �6�����



	: �������� �	 ������� 
� ���������� 
�������



�������� 


��
�	�	�
� 
������	��� ���� ��

����	����	�

��	�� �� ��� ������ �������

�� �����(��D ��� ����6�� '����� ��� ��� �6����- �� �6)������� )6�6��(��� ���� )6�6����
���
(������������ ����� �� �6��
��� ������� �� )���!� �<������������ �� �6����� �� ���� ����� ��
(������� �� ������ (������ ���� ��� ������6�6� ����
�(��� �� �6���� (�� ������� H��� �6������
�� �� )���!�� &<��� ��� (������� ��� ���������

0� �6��� ��� ���6�� :
D ���6 �!�
�� 6���/� ���- ����������� ���
������ �� =���� ��
���� ����� �� )���!� �<������������ �<�� ����"
� �� ��� ������6�6� ����
�(��� F8;D :	G�

3�=��
����
���D �� ���
�"�� ������� (�� �� ��6����� �<�� ������� ������= I���� ��������� ��
��
��� ���� �<������������ �6)������J ���� �� )���!� �<������������ �<�� ����"
� ��� ��� �����$
���� �6�������� ���� (�� �� ����"
� ��
���� ��������� 6���� ��������  ����� 5>>;D ��� �������
�� ����� ���������� ��� 6�6 �������� ���� ��� �����-��� ��E6�������� �� ���� �� ���� )6�6���-
F7>D 9	D �;D 57D 59D �8D �:G� �� 	

;D ��
�D ���� �� �!��E�� ��� 6����6 �� �����6D �� ���������
�� �6���6� �� ������D �� ������� ����6���� �������� �� �� ���������� � �� f : {0, 1}n → {0, 1}n

��
�� �� 
���� ���- ������ '-�� ����� f ��
�� �� )���!� ����� ��������� �� ������� ������=
F;;G� &���� ������D =��� ����� �� �!6��"
� �� ����� �� ����� '-� �� �!�! ��  ��) F�5G ������
�� 
H
� ���6� � �� ���� ��� )���!�� �����- �� f : {0, 1}n → {0, 1}n ���� ���� ������� ����� f
��
�� �� ����� '-� ���(��� &� �!6��"
�D ���������6 �� 5>>> ��� �!�! �� 2� F�	GD ��� ��6����6
��� ��� ������� ��

� �� �����)�� ����6�� �� �� ���������� #����������

3�=��
����
���D �� ������� ���������� �� �!�
�� ������� (�� �� ��6����� �<�� ������� �6$
)���= I���� ��������� �� ��
��� �
���� �<������������ �6)������J ���� �� )���!� �<������������
�<�� ����"
� ��� ��� ��������� �6�������� ���� �� ��6����� �<������������ ������� ���� �� ��$
��
�(�� �� �� ����"
�� &���� ������� ���������� =X� ����� �6
����6� ���� ��� =��
����
��
��E6�������� �� ���� �� ���� )6�6���- F7>D 9	D �;G ����� �<H��� =��
��6� �� �6
����6� ���� ��
��� ����6�� ��� ��
�D ���� �� �!��E�� F;;G� +� =��
� =����� �� �6������ ������ ��� �� �������� �
�� �� )���!� �� ���������� �����!���� �� f : {0, 1}n → {0, 1}n �������� �� ����� ������ ����� ��
)���!� �<������������ )����� �� f �������� �� ������� �6)���=�

 ��� �� �!������ ���� ������ 6������ ��� �������� ����6����� ��� ����������� �� �!�
�� ��
�� �� &��������� #��������� ? ����� �����-�� ��������



9
 �������� �	 ���
������ ����������� ���� �� ������������������ �� ��� ������ �������

��� ��
����� �������� �� �
������

&�

��/��� ��� =��
������ ��� ������� �� ������� ������= �� �6)���= �

*�(�	�	�� �% +�	���	� ��
	�	6 �� �����	6-
&��� �
 n������� ���
��������
� G� >
 ������� C �� G �� ��
����� r ∈ N

∗ ��� �
� ��#��
��
((i1, α1), . . . , (ir, αr)) ����� #�� (ik, αk, ik+1) ��� �
 ��� �� G ���� k = 1, . . . , r ���� ir+1 = i1 ���
��
��
���
� "� ��)�� �� C ���

∏r
k=1 αk� "� ������� C ��� 6�6
������� �� ��� ������� i1, . . . , ir

��
� ���� �����
���� ���� ���� I ⊆ {1, . . . , n}	 �
 ��� #�� C ��� �
 I�������� �� {i1, . . . , ir} ⊆ I�

�����.�� �% ���� J ��� 
������ (n, n) ? ���K������ ���� {−1, 0,+1}� %�� ����D �� ����
(�<�� ������� ��G(J) ��� �� ������� �� J � �� �������� ? �� ������ (��G(J) ��� �� ����6���������
�� J ���� �� =��
� �<�� )���!� �<������������ I�=� �6'������ 8 ��)� 	;J�

'������ �� &�����6���� �� )���!� �<������������ G ������� �

1

3

+ 2−
−

+

−

+

3� �������� ���- �������� ������=� 6�6
�������� �

1+ �� 1 2−
−

+�� ������� ������=� �� G ���� ���� ��� {1, 2}$��������� G �������� ����� ���- �������� �6)���=�
6�6
�������� �

3

2

−
+

��

1

3

2

+

−

+

%���(�� G �������� ��� ��������D G �������� ��� ��'���6 �� �������� ��� 6�6
��������� �� �����
���- I�� ���
��� ��� ������= �� �� ������ ��� �6)���=J �

1

2

1

12

− −

−
− +

��

21

32

−

−

−

+
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���  ��������� �� ��������

��������� (�� �� �6���� ������6�6 �� ��������� (�<��� �����6D �� ��������� (�� ����� �����6
�<���������� I�� )���!� �<������������ �� �6���� �� �6��
� ? �� ������� ������= �� ���)���� 1J�
�� �� ������ �� �<�����6 ��� =����� �����D ���� �� �<���������� ��� �� ��� ������ ����� =������ 3�$
�����
���D �� �� ������ �� �<�����6 ��� 6���6 ����� �<�����6 �<���������� �� ��� ������ ����� 6���6�
+� ������ �� �<�����6 �� ���� ���� =����� ���� 6���6 � ���- ���')�������� ������� ���� ����������

%��� )6�6����
���D ���� �� ������� ������= �� ���)���� (������(��D �!�(�� �����6 �)�� ���
���� 
H
� ��������
��� ��� ��� ������������ �� �������� +� ������ �� �!�(�� �����6 ���� �����
�� ���������� ? �� ������ 6���6 �� ? �� ������ =������ &��������D �� ������ ��� ��(��� ��� �����6
i �� ��������� �6���� �� ������ ��� ��(��� �<�����6 j (�� ��6�"�� i ���� �� ������� �� ����������
%�� �-�
���D �� �<����������� �� j ? i ��� ��������D �� �� j �� ��������� ? �� ������ 6���6D ����� ��
������ �� i �� ���� ��� �� ���������� ��� �� ������ =����� Ij ��� �� ���������� �� iJ� 3� �<�� ����
(�� (���(�� ���� �� ���)���� �� ������� �� �<� � (�� ���- ���')�������� ������� ����������

 �� �-�
���� �� ����
�(��� ����6����� ������6�� ? ��� �������� ������=� ����6� ������ ����$
H��� ���� ���������

'������ �� n = 1D X = {0, 1} �� f(x) = x ∀x ∈ {0, 1} �

G(f)

1+

���(f)

[0] [1]

n = 2D X = {0, 1}2 �� f(x1, x2) = ((1 − x2), (1 − x1)) ∀x ∈ {0, 1}2 �

G(f)

1 2

−

−
���(f)

[0, 1]

[1, 0]

(1, 1)

(0, 0)

�� ������� �<�-�
��� 8 � n = 3D X = {0, 1}3 �� f(x1, x2, x3) = (1−x2, 1−x3, x1) ∀x ∈ {0, 1}3 �

G(f)

1 2

3

−

+ −

���(f)

(0, 0, 0) (1, 0, 0)

[0, 1, 0] (1, 1, 0)

(0, 0, 1) [1, 0, 1]

(0, 1, 1) (1, 1, 1)
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������ ����������� ���� �� ������������������ �� ��� ������ �������

n = 4D X = {0, 1}4 �� f(x1, x2, x3, x4) = (1 − x4, x1, 1 − x2, x3) ∀x ∈ {0, 1}4 �

G(f)

21

4 3

−

+

−

+

���(f)

(0, 0, 0, 1) (0, 0, 0, 0) (1, 0, 0, 0)

(1, 0, 1, 1)

(0, 0, 1, 0)

(0, 1, 0, 1)

(1, 1, 1, 1)

(0, 1, 0, 0)

(1, 1, 0, 1)

(1, 1, 1, 0)

(0, 1, 1, 1)

[0, 0, 1, 1] [1, 1, 0, 0]

(1, 0, 0, 1) (0, 1, 1, 0)

(1, 0, 1, 0)

��������� 
��������� (�� �� �6���� ������6�6 �� ��������� (�<��� �����6D �� ���������
(�� ����� �����6 �<������!���� 3��������
���D �� �� ������ �� �<�����6 ��� 6���6 �����D ����(�<����
�<������!���D ��� ������ ��� �
��6 ? ��
������ 3������
���D �� �� ������ �� �<�����6 ��� =�����D
����� ���� �� �<������!��� ��� �� (�� =������� �<��)
�������� �� ��� ������ �� ��������������
&��=��6
���D �� ��
����� (�� �� ������ �� �<�����6 ������� �� �� ��������� ? �� ������ �����
6$
������� %��� )6�6����
���D ���� �� ������� �6)���= �� ���)���� (������(��D �!�(�� �����6 �)��
��� ���� 
H
� �6)�����
��� ��� ��� ������������ �� �������D �� �� ������ �� �!�(�� �����6 �������
�� �� ��������� ? �� ������ M�����
6������N�

'������ �� n = 1D X = {0, 1} �� f(x) = 1 − x ∀x ∈ {0, 1} �

G(f)

1−

���(f)

0 1

n = 2D X = {0, 1}2 �� f(x1, x2) = (1 − x2, x1) ∀x ∈ {0, 1}2 �

G(f)

1 2

−

+
���(f)

(0, 1)

(1, 0)

(1, 1)

(0, 0)

�� ������� �<�-�
��� 	 � n = 3D X = {0, 1}3 �� f(x1, x2, x3) = (1 − x3, x1, x2) ∀x ∈ {0, 1}3 �

G(f)

1 2

3

+

+−

���(f)

(0, 0, 0) (1, 0, 0)

(0, 1, 0) (1, 1, 0)

(0, 0, 1) (1, 0, 1)

(0, 1, 1) (1, 1, 1)
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n = 4D X = {0, 1}4 �� f(x1, x2, x3, x4) = (x4, x1, x2, 1 − x3) ∀x ∈ {0, 1}4 �

G(f)

21

4 3

+

+

−

+

���(f)

(0, 0, 0, 0) (0, 0, 0, 1)

(1, 0, 0, 1)

(1, 1, 0, 1)

(1, 1, 1, 1)(1, 1, 1, 0)

(0, 1, 1, 0)

(0, 0, 1, 0)

(1, 0, 1, 0)

(0, 1, 1, 1) (1, 1, 0, 0)

(1, 0, 1, 1)

(0, 1, 0, 1)

(1, 0, 0, 0)(0, 0, 1, 1)

(0, 1, 0, 0)

 ��� F;5GD 1�������! ��
� �� ��� ��������� ������6������ ����"��
��� �� )���!� �� ����������
�����!���� ������6 ? �� ������� ����6 �� =������� �� �����
��� ���- ����
"���� � �� ���)���� ��
�� ��)�� �� �������� 3� ��� ����

��� �6
����6 (�� ���� ��� ��

��� �� )���!� �� ����������
�����!���� �<�� ������� ������= I����� �6)���=J ��� �� ��
��� ���� I�
����J �� ������������ ��
�����������D ���� �� )���!� �� ���������� �����!���� �<�� ������� ������= �� � � �������� ���-
6���� ������� �� ���� �� )���!� �� ���������� �����!���� �<�� ������� �6)���= �� � � �������� ��
����� ������ ���- =��� ���� ���) (�� �� �������� &�� ��E6������ ������6�6� �� �6��'��� =�����
���
��� ��� �-�
���� ����6� ��$�������
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π(x, y)

y

x

���� 9�5 R �� ���� ����
 ������ 	� y 3 x �� ����� ��� ��� 	�� �
�
� 	� ���� π(x, y)�

��� !���� �� ���� ���
� ������

���� ����������� ��� )6�6���������� �� ��� ������� ��� �������� ����6����� �� �� ���
�"��
���������� �� �!�
�� �� �� �� ���������� #��������� �� ��������� �� ����� �� ���� ����� �����

(�� ���� ������ 6������ ���� ����� �������� 3� ����� ��� ��������� ��K����� ���� �� ��6�����
�<�� ���� ����� �����
 ������� ���- 6���� ���� �� ����
�(�� �����!���� �<��� ����������� f
�<�� ������ '�� ? n ��
������� ���� ���$
H
��

���� ���� X �� ������ '�� ? n ��
��������

*�(�	�	�� �� +#��
 ����� ����	�-
&���
� f : X → X �� x, y ∈ X� >
 �����
 �� ���(f) �� y � x ��� �
 ���� ����� �!�
�� ����
��� �� ��
�����

∑n
i=1 |xi − yi|�

�<�� �-���� �� �!�
�� �� y ? xD �X =��� (�� ��� ����������� �� )���!� �����!���� �� f ��
���
������ (�� ��� �6�����
���� 6�6
�������� ���� XD �� �!�
�� ��� �6��������
��� �� ���$
)���� ���6������ �V 6)��� ?

∑n
i=1 |xi − yi|� 0����D �� �<�� �� �6="�� ? �� �������� ���!������ ���

XD �� ���� ����� �!�
�� ��� ��� )6��6��(���

���� �X�D �� ���� ����� �!�
�� �� y ? x �� ����� (�� ��� ��� 6���� �� ���� ����� ���6 ��
X ��������� ? �� =��� x �� y I���� ')��� 9�5 ���"� ����� �� �� �6'������ ��������J�

*�(�	�	�� �
 +#�$�-
>
 ���6 �� X ��� �
 ������� ��������
 P = P1 × · · · × Pn �
���� ��
� X �@ ���#�� Pi ��� �

�
�������� (i = 1, . . . , n)� 0
 
����� π(x, y) �� ���� ����� ���� �� X ��
��
�
� x �� y <

∀x, y ∈ X, π(x, y) =
n∏

i=1

{min(xi, yi), . . . ,max(xi, yi)}.

�����.�� �� X ��� �� ���6 �� ���$
H
� �� �� ���6 P = P1×· · ·×Pn �<��� ��� �6��������
���
�� (�� ���� ����� �����6 �� ������ '�� ? n ��
������� � �������� ����������� Pi ������� ��
�6����� ? �� ���)������

�'� 
�	����� 1�������� d �	� 
�-��� 
�� d(x, y) =
Pn

i=1 |xi − yi| 
��� ���� x, y ∈ X



�	�	 !���� 
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P

���� 9�	 R ��� +)���� ������� ��	�����
 � ������� 	� 
�����
��� �
 ��� +)���� ���� ��� ����
� �������
��	�����
 ��� �� 
�����
��� ��
 ��������� ��� 
���� ����
� ����� ���
 	��� P%�
����� � 	����� ��� ����
�#
�� � ��
 ��� �������� 	 ������� 	��� �� ���� P�

 ��� ����� �������D �� �� =��������� ���� ��� �� ����
�(�� �6����� ? �<���6����� �� π(x, y)�
�� ��

���� ��� ���������� ��� ������ �� ��������6 �������� ? �� ���6�

*�(�	�	�� �� +����	�	�� �����	$� 7 �� ��$�-
/��
� ��

�� f : X → X �� �
 ���� P �� X	 �
 ���� x ∈ P ��� P$������ �� ∀y ∈ X	 (x, y) ∈
��(f) ⇒ y �∈ P�

*� 6��� P$������ ��� ���� �� 6��� �� P ? ������ ��(��� �� �<��� ��� �������� �<6������ ����
P I')��� 9�	J� �� ��
��(���� (�<�� ����� '-� �� f ��� P$������ ���� ���� ���6 P �� ����������

�� ������� ������� �� ������ (x, y) �<����
��� ��� �������� �� VX(x) ���
������ �� =����
������ ��� ��
�������� �� x �� ��������� �� y�

)����	�� 
 ���� ���� x, y ∈ X	 �
 
��� I(x, y) ���
������ ��� i ∈ {1, . . . , n} ���� #�� xi �= yi	
�� �
 
��� VX(x, y) ���
������ ��� �����
�� ε �� VX(x) ���� #�� <

εi = signe(yi − xi) ∀i ∈ I(x, y).

�� i �� j ���� ���- ������� �� I(x, y)D ����� ∂fij(x, ε) ��� ��������� ���� ε ∈ VX(x, y)� &���
���� �
"�� ? ������6��� �� #���������D �� �6������� (�� �� ������ (x, y)D (�� ��� ������� ��
�������� ��� �������� �� ��� ��)��� �� ∂f(x, ε) ���� �<������ �<���������� ? ��� I(x, y) I���� ε ��
(������(�� 6�6
��� �� VX(x, y)J� &���� 
������ �6���� ���� ��� ������������ ������ ��� �����6�
�� I(x, y) (�� �<�� ������� ? �<6��� x ����(�<�� �����(�� ��� ���������� �� ��������� �� y�

)����	�� � &��� f : X → X� ���� ���� x, y ∈ X	 �
 
����� ��� ���� ∂f(x, y) = (∂fij(x, y)) ��
������� (n, n) � ���?���
� ��
� {−1, 0,+1} ��%
�� ��� < ∀i, j ∈ {1, . . . , n}	

∂fij(x, y) =

{
∂fij(x, ε) ���� ε ���� ��
� VX(x, y) �� i, j ∈ I(x, y)
0 ��
�


�����.�� �
 +� )���!� �<������������ G(∂f(x, y)) ��� ������ �� ������
��� ��� ���� ��
G(∂f(x, ε)) (�� ��� �� ��

�� ������� �� '��� (�� �<���������� ��� ? I(x, y)�  ��� G(∂f(x, y))
��� �� )���!� ������� �� G(∂f(x, ε)) �� ���� ��� �������� �� G(∂f(x, y)) I�� �������
��� ��
∂f(x, y)J ���� ��� I(x, y)$���������



9� �������� �	 ���
������ ����������� ���� �� ������������������ �� ��� ������ �������

�����.�� �� %��� ���� x ∈ X �� ε ∈ VX(x) �� � ∂f(x, ε) = ∂f(x, x + ε)�

���� ������ 
��������� �6
������ (�� �� π(x, y)$��������6 �� x �� �<������� �� ������� ������=
���� ∂f(z, y) ���� ���� z ∈ π(x, y) �
���(�� �� ��6����� �<�� ���� ����� �!�
�� �� y ? x ����
���(f)� �� ��������� ��� ���- ��

�� ���������  ��� �� ���
���D �� )6�6������ �� ��� 
��������6
��� ������ �� �� ������ �� �� ������� ����6���� �� �� ���
�"�� ���������� �� �!�
�� F;9G�

8���� � &��� f : X → X� ���� ���� x, y ∈ X	 x �= y	 �� x ��� π(x, y)������� �� �� ∂f(x, y) ���
��
� ������� ������* �����
����� ����� ∂f(x, y) ��� ��
� ��������

#���$�2 ������ i, j ∈ I(x, y) �� ε ∈ VX(x, y)� &�

� x ��� π(x, y)$������D �� � �{
fi(x) ≤ xi < yi �� εi = +1
yi < xi ≤ fi(x) �� εi = −1.

 ���D �� ∂fij(x, y) ���= ∂fij(x, ε) �= 0 �� � �
{

fi(x) ≤ xi < fi(xj�εj) �� εi = +1
fi(xj�εj) < xi ≤ fi(x) �� εi = −1.

%�� ����6(����D signe(fi(xj�εj) − fi(x)) = εi ���� ∂fij(x, ε) = εj · εi� �� �� �6���� �

∂fij(x, y) �= 0 ⇒ ∂fij(x, y) = εj · εi ∀i, j ∈ I(x, y). I9�5J

��������� ��� ������������� (�� ∂f(x, y) ��������� �� �������� 0����D �� ��� 6������ (�� ∂f(x, y)
�������� �� I(x, y)$������� 6�6
������� C = ((i1, α1), . . . , (ir, αr))�  ���D �� ������'��� ir+1 ��
i1D �<���"� I9�5JD �� � αk

���= ∂fik+1ik(x, y) = εik · εik+1
���� k = 1, . . . r� +� ��)�� �� C ��� ����

(εi1 · εi2) · (εi2 · εi3) · . . . · (εir · εi1)� ��D ���� �� ������� �� 2r ��)���D �� ��)�� εik ������O�
�-����
��� ���- =��� Ik = 1, . . . , rJ� �� �6���� (�� C ��� �� ������� ������= 6�6
�������D ���
�������������� �

8���� 
 &��� f : X → X� ∀x, y ∈ X	 x �= y	 �� x ��� π(x, y)������� �� �� ∂f(x, y) ��� ��
�
������� ����� x � �
 ������������ z ��
� ���(f) #�� ��� π(z, y)������� �� #�� ��������
� � π(x, y)�

#���$�2 &�

� ∂f(x, y) ��� ���� �������D �� ��� ����� (�� ∂f(x, y) ? �� 
���� ��� �������
����� �<������ j ∈ I(x, y)� ���� ε ∈ VX(x, y) �� z = xj�εj � %���(�� εj = signe(yj − xj)D �� �
z ∈ π(x, y)� �������� (�� (z, x) ��� ��� ���������� �� ���(f)� &�

� x ��� π(x, y)$������D{

fj(x) ≤ xj < zj ≤ yj �� εj = +1
yj ≤ zj < xj ≤ fj(x) �� εj = −1

�� ��

� ∂fjj(x, y) ���= ∂fjj(x, ε) = 0 I�� j"
� ������� �� ∂f(x, y) ��� �����JD �� � �
{

fj(z) ≤ xj < zj ≤ yj �� εj = +1
yj ≤ zj < xj ≤ fj(z) �� εj = −1.

I9�	J

 ��� f ′
j(z) = −εj � 0����D

zj�f ′
j(z) = zj�(−εj) = (xj�(+εj))j�(−εj) = x
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�� ��� ����6(����D (z, x) ��� ���� ��� ���������� �� ���(f)� �������� '����
��� (�� z ���
π(z, y)$������� %���(�� x ��� π(x, y)$������D �� �{

fi(x) ≤ xi = zi < yi �� εi = +1
yi < zi = xi ≤ fi(x) �� εi = −1

∀i ∈ I(x, y) \ {j}

�� ��

� ∂fij(x, y) ���= ∂fij(x, ε) = 0 ���� ���� i ∈ I(x, y) I�� j"
� ������� �� ∂f(x, y) ���
�����JD {

fi(z) ≤ xi = zi < yi �� εi = +1
yi < xi = zi ≤ fi(z) �� εi = −1

∀i ∈ I(x, y) \ {j}.

�� �6���� ����� �� ���� �� �� I9�	J (�� z ��� π(z, y)$������� �

���� ��

�� 
��������� �� 
����� �� �6
������ �� �

8���� � +����� �� ���
 ����� ����	�-
&���
� f : X → X �� x, y ∈ X� &� x ��� π(x, y)������� �� �� ∂f(z, y) ��� ��
� ������� ������*
�����
����� ���� ���� z ∈ π(x, y) ����� �� �1���� �
 ���� ����� �����
 �� y � x ��
� ���(f)�

#���$�2 %��� ���� ���6 P �� XD �� ��� (�� P �6��'� (H) �� �<��������� �� ��

� ��� ����� ����
���� x, y ∈ P� ���� ������ 
������ ��� ��������� ��� �<����
��� ��� ���6� �� X (�� �!�(�� ���6
P �� X IX ��
����J �6��'� (H)� ���� ���� �� (������(�� ���6 P �� X� �� P ��� �� ���)�����D
�� ��� 6������ (�� P �6��'� (H)� �����D �� ������� (�� �!�(�� ���6 �������
��� ������ ���� P

�6��'� (H)� ���� ���- 6�6
���� ��������� x �� y �� P� ��������� (�� x ���� π(x, y)$������ �� (��
∂f(z, y) ���� ���� ������� ������= 6�6
������� ���� ���� z ∈ π(x, y)� 0����D �� �����������D ∂f(x, y)
��� ���� ������� ������= 6�6
�������� �� �6���� ����� ��� ��

�� 5 �� 	 (�� x � �� ��6�6�������
z ���� ���(f) (�� ��� π(z, y)$������ �� (�� ���������� ? π(x, y)� &�

� π(z, y) ⊂ π(x, y) ⊆ PD
∂f(z′, y) ��� ���� ������� ������= 6�6
������� ���� ���� z′ ∈ π(z, y)� %���(�� π(z, y) �6��'� (H)D
�� �� �6���� (�<�� �-���� �� ���� ����� �!�
�� �� y ? z ���� ���(f)� %�� ����6(����D ��

�
(z, x) ��� ��� ���������� �� ���(f)D �� �-���� �� ���� ����� �!�
�� �� y ? x ���� ���(f)� 0����D
P �6��'� IHJ� �

+� ')��� 9�9 ����� ��� ������������ �� �� ������ �� ��

� �� ���� ����� �!�
���

�����.�� �� +� ������ ��� ������������D ���� ����� ��� 
6�!��� ���
������ �� �6���
����
�� ��� ���� ������ �!�
��� �-������ ����� y �� x� &� �!�
�� (z0, . . . , zr) �� z0 = y ? zr = x
�� ���)���� r =

∑n
i=1 |xi − yi| ��� ������ �� ������D ���� t �6��������� �� r ? 2D

zt−1 = (zt)j�signe(yi−xi) ���� j �<������ �<��� ������� ����� �� ∂f(zt, y).

��" 	
���#
� ���$����
� �� %�����

+� �!6��"
� �������D ��� ����������� �

6����� �� ��

� �� ���� ����� �!�
��D 
�� ��
6������� (�� �� ��6����� �� �������� ������=� ���� �� )���!� ����� ��� ��� ��������� �6��������
���� (�<�� ���6 P ��������� �� 
���� ���- 6���� P$������� �

�������� � &���
� f : X → X �� �
 ���� P �� X� &� ���1 ����� �����
��� x �� y �� P ��
�
P�������� ����� �� �1���� z ∈ π(x, y) ��� #�� ∂f(z, y) ��
���
� �
 ������� ������* �����
������



9: �������� �	 ���
������ ����������� ���� �� ������������������ �� ��� ������ �������

&� 0��� ��� ���	�
���� 	� �����#
x ��
 π(x, y)%�
���� �
 ∂f(z, y) ��

���� ������
 ����
�� ���� 
��
 z ∈
π(x, y)� 5� ���
�������# ∂f(x, y)
��
 ���� ������
 ����
�� �
 �����
x ��
 π(x, y)%�
����# 	 ���)� ��
����� &# ∂f(x, y) ��
 ���� ������
�

π(x, y)
x

y

f(x)

6� 7���# G(∂f(x, y)) � �� ���%
��
 ���� ����������� 0��������
��� �� �����
 ���
 i 
�,� ����%
*��
���� 8����# 3 � �
�
 x# ��� ��%
���
��� 	� ������ 	� i �� 	����%

��� 	� y �� �����
 ��� 3 fi(x)
	� �������� �� ����� xi + 1/2 �
 ��
�����
 ��� 3 fj(x) 	� ��������
�� ����� xj − 1/2� 7���# f(z) =
f(xi�+1) �����
���
 3 �� *���
������

xi + 1/2

xj − 1/2

x

y

f(z)f(x)

z

(� 9� �� 	�	��
 �� �� �,��
� ���

�����
��� 	� z 3 x �
 ��� z ��

π(z, y)%�
����� π(z, y)

x

y

f(z)

z

:� 4���� z ��
 π(z, y)%�
����
�
 ����� π(z, y) ��
 �
���
����

������ 	��� π(x, y)# ��� ����%

�)�� 	 ��	��
���# �� �,��
� ��
���� ����
 ������ 	� y 3 z�
4���� �� �,��
� ��� 
�����
���
	� z 3 x# �� �� 	�	��
 �� �� �,��
�
�� ���� ����
 ������ 	� y 3 x�

x

y

z

���� 9�9 R ;����
��
��� 	� �� ������ 	� ����� 	� ���� ����
 �������
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#���$�2 �� �E��D �� ∂f(z, y) ��� ���� ������� ������= 6�6
������� ���� ���� z ∈ π(x, y) �����D
�<���"� �� �!6��"
� �� ���� ����� �!�
��D �� �-���� �� �!�
�� �� y ? x ���� ���(f)� ��D ��
�!�
�� �� ����� (�� ��� ��� 6���� �� π(x, y) �� (�� ��� �
�������� ���D ���� ���(f)D y ��
����"�� ����� ���������� ����������� ? π(x, y)� 3� �-���� ���� z ∈ π(x, y) ��� (�� ∂f(z, y)
�������� �� ������� ������= 6�6
�������� �

�� ������� P = X �� ������� ��� ������� �����"�� �� �� ���
�"�� ���������� �� �!�
��D
(�� ���������� �� �!6��"
� �� ��
�D ���� �� �!��E�� F;9G ���� �� ��� �V X = {0, 1}n �

�������	�� � +1��
	�� �	
����� �� �� ����	��� ���9������ �� �����
-
&��� f : X → X� &� x �� y ��
� ���1 ���
�� %1�� �����
��� �� f ����� �� �1���� z ∈ π(x, y) ��� #��
∂f(z, y) ��
���
� �
 ������� ������* �����
������

#���$�2 3� ��K� �� ��
��(��� (�� ��� ������ '-�� �� f ���� X$������� �� �<�������� �� �!6�$
�"
� 5� �

�����.�� �� �� x �� y ���� ���- ������ '-�� �� f D �� �-���� z ∈ π(x, y) ��� (�� ∂f(z, y)
�������� �� ������� ������= 6�6
������� ��D ��� ��
6����D �� �-���� 6)���
��� z′ ∈ π(x, y) ��� (��
∂f(z′, x) �������� �� ������� ������= 6�6
������� I6���������
���D z′ = zJ� ������ ����� (�� ���
�������� ������=� �� ∂f(z, y) �� ∂f(z′, x) ���� ��� I(x, y)$�������� II(z, y) �� I(z′, y) ���� ������
���� I(x, y)J�

+� ���������� ��6�6���� 
����� (�� �� ��6����� �<�� ������� ������= ���� �� )���!� ����� ���
��� ��������� �6�������� ���� �� 
����������������6�  ��� �� ���������� �������D �� 
����� (��
���� �� ��� �����!����D �� ��6����� �<�� ������� ������= ����� ��� ���� )6�6����
��� �6��������
���� �� M
����$�����������6N ���� �� ��6����� �� ��������� ��
�������� �����-�� ������� I�=
�!������ 	J�

*�(�	�	�� �� +'�
����� 
�����-
&��� f : X → X� >
� ������ 
�
 ���� A �� X ��� �
 ����
��� ������ �� ���(f) �� ∀(x, y) ∈
A × X	 (x, y) ∈ ��(f) ⇒ y ∈ A�

�����.�� �! +�� ��
�������� =����
��� �����-�� ������� �� ���(f) ����D �� ���� �� �<��$
�������D ��� ���� ������ ����
���� ������� �� ���(f)�

�������	�� 
 +,������	
��	�� �� �� ����	��� ���9������ �� �����
-
&��� f : X → X� &� A �� B ��
� ���1 �
������� ������� ���
��
�� �� ���(f) ����� �� �1����
x, y ∈ X ��� #�� ∂f(x, y) ��
���
� �
 ������� ������* �����
������ ���� ���������
�	 ���� ����
(a, b) ∈ A × B ��� #�� ∀(c, d) ∈ A × B	 π(c, d) �⊂ π(a, b)	 �� �1���� x ∈ π(a, b) ��� #�� ∂f(x, b)
��
���
� �
 ������� ������* �����
������

#���$�2 ���� ��� ���������� �� ����������D a ��� π(a, b)$������� �� �E��D �<�� �-���� ��� ������$
���� (a, c) ���� ���(f) ��� (�� c ∈ π(a, b) �����D ����(�� a ∈ AD �� � c ∈ A�  ��� (c, b) ∈ A×B

��D ��

� a �= cD π(c, b) ⊂ π(a, b) �� (�� �<��� ��� ��������� �� 
����� �� 
H
� (�� b ���
������ ���� π(a, b)� 3� ��K� ����� �<�������� �� �!6��"
� 5� �

&���� )6�6���������� �� �� ������� �����"�� �� �� ���
�"�� ���������� �� �!�
�� ��� �������6�
���� �� ')��� 9�7�
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������ ����������� ���� �� ������������������ �� ��� ������ �������

B

A

a

b′

b

���� 9�7 R �� ������ 	� 
�����
��� ���������� ���
���
 	��, ��������
�� ���
����
 �����,�� �
�����#
A �
 B� "��� 
��
 (c, d) ∈ A×B �� � π(c, d) �⊂ π(a, b)� 7< ���
 	� ��

� �������
�# �� ���
 ��� a �
 b ���

π(a, b)%�
������ 0� � �� ������� ��� ∂f(x, b) ��
 ���� ������
 ����
�� ���� 
��
 x ∈ π(a, b)# ����� 	 ���)�
�� ����� 	� ���� ����
 ������# �� � � �� ������ 	� b 3 a �� ��� � ��
 ��� �������� 
�� �� ���
 ���
���

�� ��� ��������
� ���
����
 �����,� �
������ 7���# �� � �,��
� ���� x ∈ π(a, b) 
�� ��� ∂f(x, b) �
�� ������
 ����
�� ������
����� 7� ����# ���� 
��
 (c, d) ∈ A × B �� � π(c, d) �⊂ π(a, b′) 	��� �� �,��
�
x′ ∈ π(a, b′) 
�� ��� ∂f(x′, b′) � �� ������
 ����
�� ������
�����

�����.�� � �� f ��
�� �� )���!� �<������������ ����� ��������� �� ������� ������= 6�6
��$
����� ����� �� ������� ��� �� ������� �� )���!� �<������������ )����� �� f � ���� ����� ���� ���
��������� �6�������� ���� �� ��6����� �� ��������� ��
�������� =����
��� �����-�� �������
���� ���(f) (�� ��� ���� ���� =���� (�� �� ��6����� �<�� ������� ������= ���� �� )���!� )�����
�� f I�=� �-�
��� 5� ��$�������J�

�����.�� �0 &� �� ������ ���
��������
� ������ G(f) ��� ��
� ������� ������* �����
����� �����
���� ��� ������� �����1 �� f ��
� ��
� ������� ������* �����
����� ��
� ���(f) ����� �� ����
�
� �������
�� *������
� ��

�1� ������� ���� ����� ���� ����6 ��� ������6�6 �� )���!�
�� ���������� �����!���� �� f I(�� ��
����� �� 
���� 2n ��

���J �� ���� �� �� )���!�
�<������������ )����� �� f I(�� �� ��
����� (�� n ��

���J�

�����.�� �� ���� �������D ? �� 
H
� )���!� �<������������ )����� ������������� )6�6��$
��
��� �������� �� =�������� f ��E6������ I�<��=��
����� ����6� ��� G(f) ��� ��������
���
����
�������J� 0����D �� G ��� ��
� ������� ������* �����
�����	 ������ ��� *�
����
� f �������
�
G ����� ������ ���
��������
� ������ �
� �
 ������ �� ���
�����
 ��)
����
� #�� 
� ��
���
�
#���
� �������
�� *������
� ��

�1� �������

�����.�� 
% ���� �X�D �� ��6����� �<�� ������� ������= ���� �� )���!� ����� �� f I�� ����
���� �� )���!� )����� �� fJ �<��� (�<��� ��������� 
��������� ���� (�� ���(f) ��
���� ���$
������ ��
�������� =����
��� �����-�� ������� ����� 
�� ���
 �� ��?��
� I�=� �-�
��� 5: ��$
�������J�
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'������ �! n = 2D X = {0, 1, 2} × {0, 1} �� f ��� ����6� ��� �

x f(x)
(0, 0) (1, 0)
(0, 1) (1, 0)
(1, 0) (1, 1)
(1, 1) (2, 1)
(2, 0) (1, 0)
(2, 1) (2, 0)

���(f)

(0, 1) (1, 1)

(0, 0) (2, 0)

(2, 1)

(1, 0)

%��� ���� x ∈ X �� ε ∈ VX(x) �� � �

∂f(x, ε) =
0 0
+ 0

1 2

+

�� ∂f(x, ε) =
0 +
− 0

1 2

+

−

�<�V �� )���!� �<������������ )����� ������� �

1 2

+

+

−

3� � � ���� �� ������� ������= )����� 
��� ����� ������� ������= ������ +� ����
�(�� ��������
���� �� ���(�� ���������� � �� ����� ������ [(1, 0), (1, 1), (2, 1), (2, 0)]� �� �6��'� ����� =���$
��
��� (�� �!�(�� ���6 P �� X �������� �� ���� �� 6��� P$������� %��� ��6���6
���D P =
{(1, 0), (1, 1), (2, 1), (2, 0)} �� �������� ����� 6��� P$������ �� ���� ��� ������ ���6� P

′ �����������
�� ���(�� 6��� P

′$�������

'������ � �� ������� �<�-�
��� : � n = 3D X = {0, 1, 2} × {0, 1} × {0, 1} �� f ��� ����6�
��� �

x f(x)
(0, 0, 0) (0, 0, 0)
(0, 0, 1) (0, 0, 0)
(0, 1, 0) (1, 0, 1)
(0, 1, 1) (0, 0, 1)
(1, 0, 0) (1, 1, 0)
(1, 0, 1) (0, 1, 0)
(1, 1, 0) (1, 1, 1)
(1, 1, 1) (0, 1, 1)
(2, 0, 0) (1, 1, 0)
(2, 0, 1) (0, 1, 0)
(2, 1, 0) (1, 1, 1)
(2, 1, 1) (0, 1, 1)

���(f)

(1, 1, 0)

(0, 0, 1) (1, 0, 1)

(0, 1, 1)

(0, 0, 0)

(1, 1, 0)(0, 1, 0)

(1, 1, 1)

(1, 0, 0)

(2, 1, 1)

(2, 0, 0)

(2, 0, 1)

BA

+�� ����
���� A �� B ���� ��� ����
���� ������� ���������� +� ���
��� �� �6���� ? �� 6��� �������
+� ������ �������� �� 6��� ������ �� ��� ��
������� =����
��� �����-� ������ ? ����� 6�����
�� ������� a = (0, 0, 0) ∈ A �� b = (2, 0, 0) ∈ B �� � ∀(c, d) ∈ A×BD π(c, d) �⊂ π(a, b)� 3� �-����
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������ ����������� ���� �� ������������������ �� ��� ������ �������

���� �� 6��� x ∈ π(a, b) ��� (�� ∂f(x, b) �������� �� ������� ������= 6�6
�������� �� �E��D ��
������� x = (1, 0, 0) �� � �

∂f(x, b) =
+ 0 0
0 0 0
0 0 0

1 2

3

+

%�� ��
6����D �� �-���� ����� x ∈ π(a, b) ��� (�� ∂f(x, a) �������� �� ������� ������= 6�6
��������
3� ��K� �� ������� x = b �

∂f(b, a) =
+ 0 0
0 0 0
0 0 0

1 2

3

+

&�����6���� 
��������� �� ������ (a, b) ∈ A × B �V a = (0, 0, 0) �� b = (1, 1, 1)� �� � ��
������� ∀(c, d) ∈ A × BD π(c, d) �⊂ π(a, b)� 3� �-���� ���� x ∈ π(a, b) ��� (�� ∂f(x, b) ��������
�� ������� ������= 6�6
�������� �� ������� �� ������� ������= �� ������� x = a �

∂f(a, b) =
0 0 +
+ 0 +
0 + 0

1 2

3

+

+
+

+

%�� ��
6����D �� �-���� ����� x ∈ π(a, b) ��� (�� ∂f(x, a) �������� �� ������� ������= 6�6
��������
3� ��K� �� ������� x = b �

∂f(b, a) =
0 0 +
+ 0 0
0 + 0

1 2

3

+

+
+

���� �X�D ��� �������� ������=� �����- �� f �� ���������� ���� �� )���!� �<������������ )����� ��
f ���� �<������������ ���� �

1

3

+

+

2+

 ��� ����� ������������D �� ��6����� �<��� Q"�!� �� j ? i ���� ��)�� ����(�� �� ��6����� �<���
����������� �������� �� �<��� ����������� �6)����� �� j ? i ���� �� )���!��

'������ �0 �� ������� �<�-�
��� ; � n = 2D X = {0, 1}2 �� f ��� ����6� ��� �

x f(x)
(0, 0) (1, 1)
(0, 1) (0, 0)
(1, 0) (0, 0)
(1, 1) (0, 0)

���(f)
(0, 1)

(1, 0)

(1, 1)

(0, 0)
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f ��
�� �� )���!� �<������������ ����� ��������� �� ������� ������= I�� ���)���� 2J �

∂f((0, 0), (1, 1)) = ∂f((0, 0), (+,+)) =
− −
− −

1 2

−

−

− −

%�������D {(0, 0), (1, 0), (0, 1)} ��� �� ����� ��
������� =����
��� �����-� ������ �� ���(f)�

��& ���$����
� '���������

 ��� �� ������� ��6�6�����D ���� ����� ����6 ��� ��������� �6�������� ���� (�� f ��
����
�� 
���� ���- ������ '-���  ��� ����� �������D ���� ������ ������ ��� ��������� ��K�����
���� (�� f ��
���� �� ����� '-� ���(��� %��� ��6���6
���D ���� ������ �6
������ �� �!6��"
�
������� �

�������� 
 +1��
	�� �	
����� �� �� ���9������ 4����	����-
&��� f : X → X� &� ∂f(x, y) ��� ��
� ������� ∀x, y ∈ X ����� f ����� �
 ���
� %1� �
�#���

+� ��� X = {0, 1}n � 6�6 ���������6 ��� �!�! �� 2� F�	G ���� �6
����6 ��� �!�! ��  ��)
F�5G� 3� ��� ��6����6 ��� ��� ������� ��

� �� �����)�� ����6�� �� �� ���������� #����������

�����.�� 
� �� ���� ��� )���!�� �����- �� f ���� ���� ������� �����D �<���"� �� �!6��"
� 5D
�!�(�� ���6 P �� X �������� �� ���� �� 6��� P$������ ��D �� �����������D f ��
�� �� ���� ��
����� '-� I�=� ���������� 	J� %��� �6
������ �� �!6��"
� 	D �� ��K� ���� �� �6
������ (�<���
����� ����������� f ��
�� �� 
���� �� ����� '-��

���� ������ ���� )6�6����
��� �6
������D �� ���������� ��� ��������� ��� �<����
��� ���
���6� �� XD (�� ���� �� ��������� M∂f(x, y) ���� ������� ∀x, y ∈ XN �!�(�� ���6 P �������� ��
���(�� 6��� P$������� +� ��� �� ���� ������������ �� ��� �V P ��� �� �����

*�(�	�	�� �� &��� I ⊆ {1, . . . , n}� >
 I$���� �� X ��� �
 ���� C = C1 × · · · × Cn �� X ���
#�� |Ci| = 2 �� i ∈ I �� |Ci| = 1 �� i ∈ {1, . . . , n} \ I� 0
 ������� |I| �� ��
������ �� �����
���� ���� i ∈ I	 �
 ���� Ci = {c0

i , c
1
i } ���� c0

i < c1
i �

%��� �6
������ (�� �!�(�� ���� C �� X �� ��
������ k �������� �� 6��� C$������D ����
������ ���� ��
���� �� �!6��"
� �� �!�! ��  ��)� %��� ��6���6
���D ���� �� �6'������ ��������D
�� ������� �� ������ (f, C) ��� ����������� ����6���� g : {0, 1}k → {0, 1}k ���� ��� ������ '-��
������������� ��- 6���� C$�������� �� 
����� ������� (�� �� ���� ��� )���!�� �����- �� f ����
���� ������� ����� ���� ��� )���!�� �����- �� g ���� ���� �������� 3� ��K� ����� �<�������� ��
�!6��"
� �� �!�! ��  ��) ���� �6
������ �� ��� �� �����

*�(�	�	�� �! &���
� f : X → X �� �
 I����� C �� X �� ����
���
 k > 0� 0
 ���� I =
{l1, . . . , lk}� &��� �� ���
�����
 h : X → {0, 1}k ��%
�� ���� ���� x ∈ X ��� <

h(x) = (h1(xl1), . . . , hk(xlk)) ���� hi(xli) =

{
0 �� xli ≤ c0

li

1 �� xli ≥ c1
li
.

(i = 1, . . . , k).

����� �� ����������
 �� h � C ��� �
� ��
�����
	 �
 ��%
�� ��
� ������A�� �� =������� ����6����
g : {0, 1}k → {0, 1}k ������6� ? f ���� C ���

∀x ∈ C, g(h(x)) = h(f(x)).
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 ��� �� ��

� �������D �� ��������� ��� ��������� �� ����� �6'������D �� 
����� (�� �� )���!�
�� ���������� �����!���� �� f M���������N ��- 6���� �� CD ���� �� )���!� (C,��(f) ∩ (C × C))D
��� ���
���!� �� )���!� �� ���������� �����!���� �� g�

8���� � ∀x, y ∈ C	 (x, y) ∈ ��(f) ⇐⇒ (h(x), h(y)) ∈ ��(g)�

#���$�2 %��� ���6)�� ��� ��������� ���� ������ �� )6�6�����6D �� ��������� I = {1, . . . , k}�
���� x, y ∈ C�

I⇒J �� (x, y) ∈ ��(f) �����D �� �-���� i ∈ I ��� (�� xi�f ′
i(x) = y ���� f ′

i(x) �= 0� �� xi = c0
i

����� yi = c1
i ���� f ′

i(x) = +1� %�� ����6(����D c0
i < fi(x) ���� gi(h(x)) ���= hi(fi(x)) = 1

�� ��

� hi(xi) = 0 �� � g′i(h(x)) = +1� %�� ����6(����D (h(x), h(x)i�+1) ∈ ��(g)� ��D
hi(xi) + 1 = hi(xi + 1) ���� h(x)i�+1 = h(xi�+1) = h(y)� +� ��� xi = c1

i ��� ��
�������

I⇐J 3������
���D �� (h(x), h(y)) ∈ ��(g) �����D �� �-���� i ∈ I ��� (�� h(x)i�g′i(h(x)) = h(y)
���� g′i(h(x)) �= 0� �� hi(xi) = 0 ����� gi(h(x)) ���= hi(fi(x)) = 1� ���� c0

i = xi < fi(x)� �� ��
�6���� f ′

i(x) = +1� %�� ����6(����D (x, xi�+1) ∈ ��(f)� ��D hi(yi) = hi(xi)+1 ���� yi = xi+1�
�� �� �6���� xi�+1 = y� +� ��� hi(xi) = 1 ��� ��
������� �

 ��� ��� ���- ��

�� ��������D �� ������� ������ ��� ��������� �� �� �6'������ 5��

8���� � ∀x, y ∈ C	 ∀i, j ∈ {1, . . . , k}	 ∂flilj(x, y) = dgij(h(x))�

#���$�2 ���� ����� �� )6�6�����6D �� ��������� I = {1, . . . , k}� ������ x, y ∈ CD ε ∈ VX(x, y)
�� i, j ∈ I(x, y) ⊆ I� &�

� x, y ∈ CD �� � xj + εj = yj �� hj(xj) + εj = hj(xj + εj)� �� ��
�6���� (�� h(x)j�εj = h(xj�εj )� 0����D �� ��������� ��� �6'������� �� g �� dg �

dgij(h(x)) ���= εj · signe(gi(h(x)j�εj ) − gi(h(x)))
= εj · signe(gi(h(xj�εj )) − gi(h(x)))
���= εj · signe(hi(fi(xj�εj)) − hi(fi(x))).

&�

� c0
i < xi + εi/2 < c1

i D �� dgij(h(x)) = 0 ����� fi(xj�εj) �� fi(x) �� ���� ��� �� ���� ��
�<����� �� ����� s = xi + εi/2� �� �� �6���� (�� ∂fij(x, y) ���= ∂fij(x, ε) = 0� �� dgij(h(x)) �= 0
����� fi(xj�εj) �� fi(x) ���� �� ���� �� �<����� �� s ���� ∂fij(x, y) �= 0�  � ����D ��

� hi ���
����������D

signe(hi(fi(xj�εj)) − hi(fi(x))) = signe(fi(xj�εj) − fi(x)).

%�� ����6(����D �� � ���� ∂fij(x, y) = dgij(h(x))� �

8���� ! &� ∂f(x, y) ��� ��
� ������� ���� ���� x, y ∈ C ����� C ��
���
� �
 �
�#�� ����
C��������

#���$�2 �� C ��� �� ��
������ �����D �� ��

� ��� �

6����� �����D ���� ����� �� )6�6�����6D
�� ������� (�� I = {1, . . . , k}� ���� g �� =������� ����6���� ������6� ? f ���� C� ������ ��
(������(�� x′ ∈ {0, 1}k �� x �<���(�� ���6�6���� �� x′ ��� h (�� ���������� ? C I���� ����
i ∈ ID xi = c0

i + x′
iJ� ���� y �<6��� M�����6N ? x ���� C � ���� ���� i ∈ ID yi = c0

i + 1 − x′
i� 3�

��� ����� (�� y ∈ C �� I(x, y) = I�  ���D �<���"� �� ��

� ;D

∀i, j ∈ I, ∂fij(x, y) = dgij(x′).
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�� �� �6���� (�� ���� ������� �� dg(x′) ��� �� ������� �� ∂f(x, y)�  ���D ��� !����!"��D dg(x′)
��� ���� ������� ���� ���� x′ ∈ {0, 1}k �  ���D �<���"� �� �!6��"
� �� �!�! ��  ��)D g ��
��
�� ���(�� ����� '-� ξ′�  <���"� �� ��

� 7D �� ��� ����� 6������ (�� �<���(�� ���6�6���� ξ ��
ξ′ ��� h (�� ���������� ? C ��� �<���(�� 6��� C$������ I���� ���� i ∈ ID ξi = c0

i + ξ′iJ� �

+� �!6��"
� 	 ��� �� ��� ����������� �� ��

� ������� (�� �<�� ������� �� ������� P = X�

8����  &��� f : X → X �� �
 ���� P �� X� &� ∂f(x, y) ��� ��
� ������� ∀x, y ∈ P ����� P

��
���
� �
 �
�#�� ���� P��������

#���$�2 �� ��� (�<�� ���6 �� X �6��'� �<!����!"�� (H) �� �<��������� �� ��

� ��� �����
���� �� ���6� �� 
����� ��� ��������� (�� �!�(�� ���6 �� X �6��'� (H)� ���� ���� �� ���6
P = P1 × · · · × Pn �� X ��� (�� ∂f(x, y) ��� ���� ������� ∀x, y ∈ P� �� P ��� �� ����D �<���"�
�� ��

� �D P �������� �� 6��� P$������� �����D �� �-���� �� 
���� �� i ∈ {1, . . . , n} ��� (��
Pi = {a, a + 1, . . . , b} ���� a + 1 < b� �� ������� ����� (�� �!�(�� ���6 P

′ �������
��� ������
���� P �6��'� (H)� ������

P̃ = P1 × . . . × (Pi \ {a}) × . . . × Pn �� P̄ = P1 × . . . × (Pi \ {b}) × . . . × Pn.

&�

� P̃ ⊂ PD ∂f(x, y) ��� ���� ������� ∀x, y ∈ P̃� %�� !����!"�� �<���������D �� �-���� ����
�� ���(�� 6��� x̃ = (x̃1, . . . , x̃n) ∈ P̃ (�� ��� P̃$�������  � 
H
�D �� �-���� �� ���(�� 6���
x̄ = (x̄1, . . . , x̄n) ∈ P̄ (�� ��� P̄$������� ��������� ��� ������������� (�� x̃ �� x̄ �� ������ ��� P$
�������� 0����D �� �-���� (x̃, y) ∈ ��(f) ���� y ∈ P �� ��

� x̃ �<� ��� �� ���������� ���� P̃D ��
� y �∈ P̃� �� �� �6���� (�� yi = a < x̃i = a + 1 < b�  ���D x̃ ∈ P̄� %�� ����6(����D π(x̃, x̄) ⊂ P̄�
��D x̄ �<� ����� ���������� ���� P̄� �� �� �6���� (�� x̄ ��� π(x̄, x̃)$������ �� �� 
���� �� 
H
�
(�� x̃ ��� π(x̄, x̃)$�������  ��� π(x̄, x̃)D (�� ��� �������
��� ������ ���� P I����(�� |Pi| > 2JD
�������� ���- 6���� π(x̄, x̃)$������� �� �� �6��'� ��� (H) �� (�� ����� �<!����!"�� �<����������
 ��� ���� x̃ ���� x̄ ��� P − stable� &�

� �<���"� �� �!6��"
� 5 �� �� ���� ��� � ����� ���-
6���� P$�������D ���� x̃ ���� x̄ ��� �<���(�� 6��� P$������� 0����D P �6��'� (H)� �

+� ')��� 9�; ����� ��� ������������ �� �� ��

��

�����.�� 

  ���D �� ∂f(x, y) ��� ���� ������� ���� ���� x, y ∈ XD ����� f ��
�� ���� ���(��
����� '-� ξ�  � ����D ��

� ξ ��� π(ξ, x)$������ ���� ���� x ∈ XD �� �6���� �� ��

� ��
���� ����� �!�
�� (�<�� �1���� �
 ���� ����� �����
 �� ���� ���� x ∈ X � ξ ��
� �� �)
���#��
��)
����
� �� f � &��������D ������ ��� ������������ �� ���(f) �� '������� ��� �6��������
���
��� ��������� ξ ��� �<������� �� ������� ���� ���� ��� )���!�� �����- �� f �<�
���(�� ���
�<������� �� ����� ���� ���(f) I�=� �-�
��� 5> ��$�������J�

�����.�� 
� &� �� ������ ���
��������
� ������ �� f ��� ��
� ������� ����� ���� ��� �������
���
��������
� �����1 �� f ��
� ��
� ������� ��
� f ����� �
 ���
� %1� �
�#�� �� ���(f)
�����	 ���� ���� x ∈ X	 �
 ���� ����� �����
 �� x � �� ���
� %1�� ���� ����� ���� ���
������� ������6�6 ���������� ���(f) (�� ���� �� �6����� �� )���!� �<������������ )����� �� f �

�����.�� 
� �� ���� ��� )���!� �����- �� f ���� ���� ������� ������= 6�6
������� �� �� f
��
�� �� )���!� ����� ��������� �� ������� �6)���= ����� �<���"� �� ���������� 	 �� �� �!6��"
�
	D ���(f) �������� ��� ���(�� ��
������� =����
��� �����-� ������ A (�� �� �� �6���� ��� ?
�� 6��� ������ �� (�� ���
�� ���� �� �6����� ��� ��
�����
���� ������������� I�=� �!������ 	J�
0��� �� 
H
� ��������
��� (�� ����� ������6 ���� �� ������ �� ���������� 	D �� 
����� (�<��
�-���� �� ���� ����� �!�
�� �� ���� 6��� �� X \ A ? �� 6��� �� A�



7� �������� �	 ���
������ ����������� ���� �� ������������������ �� ��� ������ �������

&� 9� ������� ��� P � ��
 ��� �� ����
�
 ��� ������ ���� P

′ �
���
����
 ��%
���� P 	��� ���
���
 �� ������ �
�
 P′%
�
����� 9� ���
 ���
��� ��� P ���
���

����� �� �
�
 P%�
����� "�� ���
��	��%

���# �� ������� ��� P �� ���
���
 ��%
��� �
�
 P%�
�����

P

6� 4���� P � ��
 ��� �� ����# �� �,��
�
��� 	�������� -�����. � � ��
 �� 	����%
���� ����*��
��� ��� � �����
��
���� "��
����
�)��# �� ���� P̃ ��
��� 3 ���
�� 	�
P �� ��	�����
 	 ��� ���
� ��

� 	����%
���� -�����. ���
���
 �� �
�
 x̃ ��� ��

P̃%�
����� 4����	��
# ����� x̃ � ��
 ���
P%�
����# �� ��
��
��� 3 	���
� � ��
 ���
���������

P̃

x̃

(� �� ����� ��������
��� �������� ��

����� �= x̃ ��
 ��� �� ���	 ������ 	� P̃�
;��# �� ���
 ���� ��� x̃ ��
 P̃%�
���� ����
�� �� � ��
 ��� P%�
�����

P̃

x̃

:� 5� ���������
 3 ���
�� 	� ���� P̄ ���
� �� ��
���
 �� 	������
 P̃ 	 ��� ���
�
���� �� ������# �� ������ 3 ��� ��
��
���
���������� P̄ ���
���
 �� ������ �
�
 x̄

��� ��
 P̄%�
���� ���� ����� x̄ � ��
 ���
P%�
����# x̄ �� 
����� ��� �� ���	 ������
	� P̄�

P̄x̃

x̄

>� 9� �� 	�	��
 ��� x̃ �
 x̄ ���
 π(x̄, x̃)%
�
������ 4��� ���
��	�
 � ����
�)�� 	�
	����
 ��� π(x̄, x̃) ��
 �
���
����
 ������
	��� P� 7��� ���
 x̃ ���
 x̄ ��
 P%�
�����

π(x̄, x̃)
x̃

x̄

���� 9�; R ;����
��
��� 	� �� ������ 	� ����� 	� ?�
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'������ �� n = 2D X = {0, 1, 2}2 �� f ��� ����6� ��� �

x f(x)
(0, 0) (0, 2)
(0, 1) (2, 2)
(0, 2) (2, 2)
(1, 0) (0, 2)
(1, 1) (1, 1)
(1, 2) (2, 0)
(2, 0) (0, 0)
(2, 1) (0, 0)
(2, 2) (2, 0)

���(f)

(0, 2)

(0, 1)

(0, 0) (1, 0)

(1, 1)

(1, 2) (2, 2)

(2, 1)

(2, 0)

���� ��� )���!�� �����- �� f ���� ���� �������� �� �E��D ���� ���� x ∈ X �� ε ∈ VX(x)D �� � �

∂f(x, ε) =
0 +
0 0

1 2

−

�� ∂f(x, ε) =
0 0
− 0

1 2

+

f ��
�� ���� �� ���(�� ����� '-�D �<6��� (1, 1)D �� �� �-���� ���� �� ���� ����� �!�
�� ���� ��
����� '-� ������ ���� ��� ������ 6����� &��������D ���(f) �������� �� ����� I�� ���)���� 8J�
��
��(���� (�� �� )���!� �<������������ )����� �� f ��� �� ������� �6)���= ����6�

&�

� �� 
����� �<�-�
��� �������D �<������� �� ������� ���� ���� ��� )���!�� �����- ��
f �<��� (�<��� ��������� ��K����� ���� (�� f ��
���� �� ����� '-� ���(���

'������ 
% n = 2D X = {0, 1}2 �� f ��� ����6� ��� �

x f(x)
(0, 0) (1, 1)
(0, 1) (1, 1)
(1, 0) (0, 1)
(1, 1) (1, 1)

���(f)

(1, 0)

(1, 1)

(0, 0)

(0, 1)

f ��
�� �� ����� '-� ���(�� 
��� ∂f11((0, 0), (+,+)) = −1 ���� ��� )���!�� �����- �� f ��
���� ��� ���� ���� ��������

��( )������ ���$����
� �� %�����

��
�D ���� �� �!��E�� F;9G ��� �����6 ��� ������� ����6���� �� �� ������� ����������
�� �!�
�� ���� �� =��
� =����� ��� �� �������� � �� �� )���!� �� ���������� �����!���� �<���
����������� f : {0, 1}n → {0, 1}n �������� �� ����� ������ ����� �� )���!� �<������������ )�����
�� f �������� �� ������� �6)���=�  ��� ����� �������D �� ��������� �� 
H
� ������!�D �� 6������
�� �6������ ���� ����� ����� ������� ���� )6�6����

���� X �� ������ '�� ? n ��
������� �� ���� f ��� ����������� �� X ���� ���$
H
��



7: �������� �	 ���
������ ����������� ���� �� ������������������ �� ��� ������ �������

��������� (�� ���(f) ��������� �� ����� �� ���)���� 2 ������� ��� x �� y I(x, y) �� (y, x)
���� ��� ����������� �� ���(f)J� 0����D ���� ���� ε ∈ VX(x, y)D �� � y = xi�εi �� �� �6����
�� �� ����������� 5 (�� ∂fii(x, ε) = −1� 0����
��� ���D ∂f(x, ε) �������� �� {i}$������� �6)���=
I�� �� ������� ��� ����� ��6���� ���� ∂f(x, y)J� 3������
���D �� ∂fii(x, ε) = −1 ����� �<���"� ��

H
� �����������D (x, xi�εi) �� (xi�εi , x) ���� ��� ����������� �� ���(f) ���� ���(f) ��������
�� ����� �� ���)���� 2� 0����D ���(f) �������� �� ����� �� ���)���� 2 �� �� �����
��� �� f
��
�� �� )���!� ����� ��������� �� ������� �6)���= �� ���)���� 1�

 ��� �� �����D �� �<���6������� ���� ��- ������ �� ���)���� ���6������ ? 2� %��� ��6���6$

���D ���� ������ �6
������ (�� �� ��6����� �<�� ����� ������ �� ���)���� ���6������ ? 2 ����
���(f) �
���(�� �� ��6����� �<�� ������� �6)���= ���� G(f)� �� ��������� ���� (�� ���(f)
�������� �� ����� ������ ρ = [x1, x2, . . . , xr] �� ���)���� r > 2� �� ������'��� xr+1 �� x1 ��
���� )6�6����
���D ��� ������� ��� 6���� �� ����� ������ ���� 
����� rD ���� �� ������'��� r + k
�� k�

&�

� �� ����� ρ ��� ������D �!�(�� 6��� xk �� ����� � �� ���(�� �����������  ���D ? �<6���
xkD �� �-���� ��� ���(�� �����6 i ���� �� ������ �<��� ��� ������ ���� ����� (�� f ′

i(x
k) �= 0�  ���

�� ����� �� ������ ϕ(k) ��� �������

*�(�	�	�� � 0
 ������� �����6)�� �<�� ����� ������ [x1, . . . , xr] �� ���(f) ������������
 ϕ :
{1, . . . , r} → {1, . . . , n} ����� #�� f ′

φ(k)(x
k) �= 0 ���� k = 1, . . . , r�

���� �������D ��

� xk+1 ��� �<���(�� ���������� �� xk ���� ���(f) �� � �

xk+1 = (xk)ϕ(k)�f ′
ϕ(k)

(xk) (k = 1, . . . , r).

��������� ϕ(k) �= ϕ(k + 1)� 0����D ? �<6��� xkD �� ������ �� ϕ(k + 1) ��� ������ ��� ����
�� ������ �� ϕ(k) ���� 6������� &���� 6�������� �� ������ �� ϕ(k) ���
�� �<��������� �<6���
xk+1 ��D ���� �� ������ 6���D ���� �� ������ �� ϕ(k + 1) ���� �!��)��� 0����D ? �<6��� xkD
�<6�������� �� ������ �� ϕ(k) ������ ��� ��������� �� ������ ����� �� ϕ(k + 1)� &!�(�� ������
k ∈ {1, . . . , r} ��� (�� ϕ(k) �= ϕ(k+1) ��� ���� �6�6������ �<��� ����������� �� �<�����6 ϕ(k) ���
�<�����6 ϕ(k + 1)D ��

� �<�������� �� ')��� 9���  � ����D �� ��)�� �� ����� ����������� �� �6����
��
���
��� ��� ����������� (xk, xk+1) �� (xk+1, xk+2)� %�� �-�
���D �� �� ���
�"�� ����������
���
�� ��� ��)
�������� �� ������ �� ϕ(k) �� �� �� ������� ���
�� ��� ��)
�������� I�����
��� ��
�������J �� ����� �� ϕ(k +1) ����� �<����������� �� ϕ(k) ��� ϕ(k +1) ��� �������� I�����
�6)�����J�  ��� �� �����D ��� ������� k ∈ {1, . . . , r} ���� (�� ϕ(k) �= ϕ(k + 1) ������ �����6�
������ �� ρ�

8���� 0 &��� �
 �)��� ������ [x1, . . . , xr] �� ���(f) �� ��������� ϕ� &� k ∈ {1, . . . , r} ��
ϕ(k) �= ϕ(k + 1) ����� <

∂fϕ(k+1)ϕ(k)(x
k, xk+2) = f ′

ϕ(k)(x
k) · f ′

ϕ(k+1)(x
k+1).

#���$�2 ���� ε ∈ VX(xk, xk+2)� �� �

xk
ϕ(k) + f ′

ϕ(k)(x
k) = xk+1

ϕ(k) = xk+2
ϕ(k),

����
f ′

ϕ(k)(x
k) = xk+2

ϕ(k) − xk
ϕ(k) = εϕ(k). I9�9J
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f ′
ϕ(k+1)

(xk+1) = −1

��

f ′
ϕ(k)

(xk) = −1

f ′
ϕ(k+1)

(xk+1) = −1

��

f ′
ϕ(k)

(xk) = +1

f ′
ϕ(k+1)

(xk+1) = +1

��

f ′
ϕ(k)

(xk) = −1

ϕ(k)

ϕ(k + 1)

f ′
ϕ(k+1)

(xk+1) = +1

��

f ′
ϕ(k)

(xk) = +1

ϕ(k + 1)

ϕ(k)

ϕ(k + 1)

ϕ(k)

ϕ(k)

ϕ(k + 1)

ϕ(k) +−→ ϕ(k + 1) ϕ(k) −−→ ϕ(k + 1)

ϕ(k) −−→ ϕ(k + 1)ϕ(k) +−→ ϕ(k + 1)

xkxk+1

xk+2

+

xk+2

xk+1 xk

−

xk

xk+2

xk+1

xk+1xk

xk+2

−
+

���� 9�� R ��� 
�����
���� (xk, xk+1) �
 (xk+1, xk+2) �����
������
 �� ����� �
���� ρ �
 ϕ(k) �= ϕ(k+1)�
5� ���
 3 ������ 
����� 	���
��# � ������
�
��� 	� ������ 	� ϕ(k) 3 � �
�
 xk 
��� ��)�� 3 � �
�

xk+1� ��	��
 ��� ������
�
��� 
����� ��� 	�����
���� 	� ������ ����� 	� ϕ(k + 1) �� ��� �����
 ��
������ 	� ϕ(k + 1) 	 ������
�� 
����� 	� 	�������� 	����� � �
�
 xk+1 � �� � � ��� ��
����
��� ����
���

����� ����
���� 	� ϕ(k) 3 ϕ(k + 1) 	��� �� ������ 	 ��
����
���� 	� ���
)��� 5� ���# �� ��
��
��� ��

����
������



;
 �������� �	 ���
������ ����������� ���� �� ������������������ �� ��� ������ �������

 � 
H
�D
xk+1

ϕ(k+1) + f ′
ϕ(k+1)(x

k+1) = xk
ϕ(k+1) + f ′

ϕ(k+1)(x
k+1) = xk+2

ϕ(k+1),

����
f ′

ϕ(k+1)(x
k+1) = xk+2

ϕ(k+1) − xk
ϕ(k+1) = εϕ(k+1). I9�7J

0���� �
xk+1 = (xk)ϕ(k)�εϕ(k) �� xk+2 = (xk+1)ϕ(k+1)�εϕ(k+1) . I9�;J

&�

� (xk, (xk)ϕ(k+1)�εϕ(k+1)) �<��� ��� ��� ���������� �� ���(f) �� ��

� (xk+1, xk+2) ���
��� ���������� �� ���(f)D �� �6���� �� I9�;J �� �� �� ����������� 5 (�� �

∂fϕ(k+1)ϕ(k)(x
k, xk+2) ���= ∂fϕ(k+1)ϕ(k)(x

k, ε) = εϕ(k) · εϕ(k+1).

�� ��������� I9�9J �� I9�7J �� ������� �� �6������ ���!���6� �

��������� 
��������� ϕ(k) = ϕ(k + 1)� 0����D ? �<6��� xkD ���� �� ������ �� ϕ(k) ����
6������D �� ����� 6�������� ���
�� �� ����"
� �<��������� �<6��� xk+1�  ��� ��� 6���D �� �������D
���� �� ������ �� ϕ(k) ���� 6������� &�������� �<6�������� �� ϕ(k) ? �<6��� xk+1 �� ���
�� ��
������� ? �<6��� xk ��� ���� �� ��� ���D �� ������� ������ �� ���)���� 2� 0����D �� ��������� ����
��(����� �� ������ �� ϕ(k) 6����� ? �<6��� xk ��� �� 
H
� (�� ����� ���� ��(����� �� ������ ��
ϕ(k) 6����� ? �<6��� xk+1� 0����D �� ������ k (�� �<��� ��� �� ����� �� �6�"�� ������ ������������

8���� � &��� �
 �)��� ������ [x1, . . . , xr] �� ���(f) �� ��
����� r > 2 �� �� ��������� ϕ� &�
k ∈ {1, . . . , r} �� ϕ(k) �= ϕ(k + 1) ����� f ′

ϕ(k)(x
k) = f ′

ϕ(k)(x
k+1)�

#���$�2 �� ���� f ′
ϕ(k)(x

k) = α �� f ′
ϕ(k)(x

k+1) = β� &�

� α �� β ���� ��E6����� �� 0 ����
α = β ���� α = −β� ��D

xk+2 = (xk+1)ϕ(k)�β =
(
(xk)ϕ(k)�α

)ϕ(k)�β
.

 ���D �� α = −βD xk+2 = xk� ���� ����� (xk+1, xk) �� (xk, xk+1) ���� ��� ����������� �� ���(f)
�� (�� �<��� ��� �������� ��� �� ����� ������6�6 ��� �� ���)���� �������
��� ���6������ ? 2� 0����D
α = β� �

���� ������ 
��������� 6������ �� ����� ������ ρ �� �����6)�� ϕ ���� )������
���� ����
������ ������ �<�� 6��� xa �� ��������� �� ����� �� M����
�����N ��� ������������ �6�6�6�� ���
��� ������ ��������6� ���(�<? ��������� �� 6��� xb �!���� �� =������� �� xa� ���� 
���������
������� (�� ��� ������������ �6����6�� =��
��� �� ������� �6)���=�

*�(�	�	�� �0 &��� �
 �)��� ������ ρ = [x1, . . . , xr] �� ���(f) �� ��������� ϕ� &��� a, b ∈
{1, . . . , n}� "� ������ (a, b) ��� �
 ���� ���� ρ �� ϕ(a) = ϕ(b) �� f ′

ϕ(a)(x
a) = −f ′

ϕ(b)(x
b)�

�� �� ����� �� �6���� ��� xaD �� ����� '��� xb ���� �!���� �� ����� (�� (a, b) ���� �� ���� ����
�� ������ ������ (�� �� ����� '��� �-���� �6��������
���� �� �E��D �� �� ���������� (xa, xa+1)
���
�� ��� ��)
�������� I����� ��� ��
�������J �� ������ �� ϕ(a)D ��

� ρ ��� �� �����D ��
�-���� ��� ���������� (xb, xb+1) ���
������ �� =���� ��
����� I����� ��)
�����J �� ������ ��
ϕ(a)� 0����D (a, b) ��� �� �����  ���D ���� ���� a ∈ {1, . . . , r}D �� �-���� ���� b ∈ {1, . . . , r} ���
(�� (a, b) ��� �� ����� ������ 6)���
��� (�� �� (a, b) ��� �� ���� ����� a �= b �� (b, a) ��� ��
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�����

%��� �6��)��� �<����
��� ��� ������� ��� 6���� (�� ������ ��������6� ���� ����� �� xa ? xb

�� ������� �� �����D ���� ������ ���������� (���(��� ���������� %��� ���� a, b ∈ {1, . . . , r} �
[a, b] �6��)���� �<���������� {a, . . . , b} �� a ≤ b �� �<����
��� {a, . . . , r, 1, . . . , b} �� a > b S [a, b[
�6��)���� �<����
��� [a, b] \ {b} �� ]a, b[ �<����
��� [a, b] \ {a, b}�

���� ��

�� 
��������� �� 
����� �� �6
������ (�� �� (a, b) ��� �� ���� ����� �<����
���
��� ������������ �6����6�� ��� ��� ������ �� ����� ����������� ? [a, b[ =��
� �� ������� �6)���=�

�������� � &��� �
 �)��� ������ ρ = [x1, . . . , xr] �� ���(f) �� ��
����� r > 2 �� �� ���������
ϕ� &� (a, b) ��� �
 ��
� ���� ρ �����

⋃
k∈[a,b[

G
(
∂f(xk, xk+2)

)

��
���
� �
 ϕ([a, b[)�������� 
�����* #�� ����� ��� ���� ��� ������� �� ϕ([a, b[)�

#���$�2 �� ��������� ���� ����� �� )6�6�����6 (�� a < b I�� a > bD �� ��K� �� ��
6����� ���
������� �� ����� �� ������� �� xaJ� ���� K �<����
��� ��� ������ �� ρ ����������� ? [a, b[ �

K =
{
k / k ∈ [a, b[ �� ϕ(k) �= ϕ(k + 1)

}
.

�� K ��� ���� ����� �<���"� �� ��

� > �

f ′
ϕ(a)(x

a) = f ′
ϕ(a)(x

a+1) = · · · = f ′
ϕ(a)(x

b) = f ′
ϕ(b)(x

b).

�� ���� ��� �
�������� ��� (a, b) ��� �� �����  � ����D �� K = {k} �����

ϕ(a) = · · · = ϕ(k) �= ϕ(k + 1) = · · · = ϕ(b)

�� �� ������ ? ��� �������� ��������������  ��� K �������� �� 
���� ���- 6�6
����� &��� ����
���
�� �� ����� K = {k1, . . . , km} ���� ki < ki+1 ���� i = 1, . . . ,m − 1� &�

� ki �� ki+1

���� ���- ������ ����6����=� �� � �

ϕ(ki) �= ϕ(ki + 1) = · · · = ϕ(ki+1) (i = 1, . . . ,m − 1). I9��J

 ��� �<���"� �� ��

� > �

f ′
ϕ(ki+1)(x

ki+1) = f ′
ϕ(ki+1)

(xki+1) (i = 1, . . . ,m − 1). I9�8J

 � ����D

ϕ(km) �= ϕ(km + 1) = · · · = ϕ(b) = ϕ(a) = · · · = ϕ(k1) I9�:J

 ��� �<���"� �� ��

� > �

f ′
ϕ(km+1)(x

km+1) = f ′
ϕ(b)(x

b) �� f ′
ϕ(a)(x

a) = f ′
ϕ(k1)

(xk1). I9�>J



;	 �������� �	 ���
������ ����������� ���� �� ������������������ �� ��� ������ �������

0����D �<���"� I9�8JD I9�>J �� �� ��

� : �� �D

∂fϕ(k2)ϕ(k1)(xk1 , xk1+2) = f ′
ϕ(a)(x

a)f ′
ϕ(k2)(x

k2)

∂fϕ(k3)ϕ(k2)(xk2 , xk2+2) = f ′
ϕ(k2)(x

k2)f ′
ϕ(k3)(x

k3)
���

∂fϕ(k1)ϕ(km)(xkm , xkm+2) = f ′
ϕ(km)(x

km)f ′
ϕ(b)(x

b).

�� �� �6���� (�� ⋃
k∈K

G
(
∂f(xk, xk+2)

)
�������� �� ϕ(K)$������� (�� ����� ��� ���� ��� ��

��� �� ϕ(K) = {ϕ(k1), . . . , ϕ(km)}�  �
����D �� ��)�� �� �� ������� ��� �

α = f ′
ϕ(a)(x

a)f ′
ϕ(k2)

(xk2) · f ′
ϕ(k2)

(xk2)f ′
ϕ(k3)(x

k3) · . . . · f ′
ϕ(km)(x

km)f ′
ϕ(b)(x

b).

��D ���� �� ������� �� 2m ��)���D ���� i = 2, . . . ,mD �� ��)�� f ′
ϕ(ki)

(xki) ������O� �-����$

��� ���- =���� �� �� �6���� (�� α = f ′

ϕ(a)(x
a) · f ′

ϕ(b)(x
b) = −1�  <���"� I9��J �� I9�:JD

ϕ(K) = ϕ([a, b[) �<�V �� ��

�� �

�� ������� X = {0, 1}n �� �������� �� =��
� ����6���� �� �� ������� ���������� �� �!�$

�� ����6� ��� ��
�D ���� �� �!��E�� F;;G�

 ��� �� ���������� �������D �� 6����� �� �!6��"
� �� ����� (�<�� �� =���� ��� ���������� ��
������ �� ���� I�� ������� ��� ���� �� ��������
��� (�� �<�� �������� ����� ���� F;;GJ�

�������	�� � +1��
	�� �	
����� �� �� 
������ ���9������ �� �����
-
&������
� #�� �� ������ �� ���
�����
 ��)
����
� �� f : X → X ��
���

� �
 �)��� ������
[x1, . . . , xr] �� ��
����� r > 2� &��� I ���
������ ��� ������ �� �� ��������� �� �)���� 5����	

r⋃
k=1

G
(
∂f(xk, xk+2)

)

��
���
� �
 I�������� 
�����* #�� ����� ��� ���� ��� ������� �� I�

#���$�2 �� ���� ϕ �� �����6)�� �� ����� �� Γ �<����� �� )���!�� �<������������ �� �<6����6� ��
� ϕ({1, . . . , r}) = I�  <���"� �� ��

� 9D �<�� �-���� �� ���� (a, b) ��� (�� ϕ([a, b[) = I ����� Γ
�������� �� I$������� �6)���= (�� ����� ��� ���� ��� ��

��� �� I� ��������� ϕ([a, b[) �= I ����
���� ���� (a, b)� ���� �� ���� (a, b)� %�� !����!"��D �� �-���� i ∈ I ��� (�� i �∈ ϕ([a, b[)�  ���D ��
�-���� a′ ∈ ϕ−1(i) ��� (�� ]a′, a[∩ϕ−1(i) = ∅ �� �� �-���� b′ ∈ {1, . . . , r} ��� (�� (a′, b′) ��� �� �����
&�

� ϕ(b′) = ϕ(a′) = iD b′ �∈]a′, a[∪[a, b[� %�� ����6(����D [a, b[ ��� �� ������ ����$����
���
�� [a′, b′[� �� �� �6���� (�<�� �-���� ��� �6(����� ��'��� �� ����� ((a0, b0), (a1, b1), . . . ) �����
(�� [ai, bi[⊂ [ai+1, bi+1[ ���� ���� i ∈ ND ��� �������������� 0����D �� ����� ��
�� �� ���� (a, b)
��� (�� ϕ([a, b[) = I �� Γ �������� �� I$������� �6)���= (�� ����� ��� ���� ��� ��

��� �� I� �

�����.�� 
� �� �� )���!� �<������������ Γ �������� �� I$������� �6)���= ����� ���� ��� ����
������ I$�������� �6)���=� �� Γ I�� ���� �� �� ���)����J ���� ��� I$�������� �6)���=� 6�6
���������
�� �E��D �� �� ��� �������

C = ((i1, α1), . . . , (ir, αr))
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�<��� ��� 6�6
������� ����� �� �-���� k, l ∈ {1, . . . , r}D k < lD ���� (�� ik = il�  ���

C ′ = ((ik, αk), . . . , (il−1, αl−1))

��
C ′′ = ((ik, αl), . . . , (ir, αr), (i1, α1), . . . , (ik−1, αk−1))

���� ���- I$�������� �� Γ �� ���)���� �������
��� ��=6������ ? ����� �� C� ��D ��

� C ���
�6)���=D ���� C ′ ���� C ′′ ��� �6)���= ���� �� �-���� �� I$������� �6)���= �� ���)���� �������
���
��=6������ ? CD ��� ��������������  ��� C ��� �� I$������� 6�6
������� �� Γ� %�� ������D �� Γ
�������� �� ������� ������= ����� Γ �� �������� ��� �6��������
��� �� ������� ������= 6�6
��������
�� �E��D �� )���!� �<������������ Γ (�� ��
�� 1 ���� ���(�� ��

�� �� (1,−, 1) ���� ���(��
����������� �� �������� ��� �� ������� ������= 6�6
������� 
��� �������� ��� ��'���6 �� ��������
������=� ��� 6�6
�������� I�� ���� ����� ��� ((1,−), (1,−))J�

'������ 
� 3�=��
����
���D n = 3D X = {0, 1, 2}×{0, 1, 2}×{0, 1} �� �� )���!� �� ����������
�����!���� �� �<����������� f : X → X �������� �� ����� ρ = [x1, . . . , x10] ������� �

1

3

2

1 1

2

2

3

1

3

2

2

1
x3

x9

x7

x5

x4

x6

x8x2

x1x1 = (0, 0, 0) x10

+�� 6���� (�� ������� �� ������ ������������� ��- ������ �� ρ ���� �������6�� +� �����6)�� ϕ
�� ����� ��� ����� ����(�6� ��� �� ')��� � �!�(�� ���������� �� xk ? xk+1 ��� 6��(���6� ��� ϕ(k)�
 ��� �� � I = ϕ({1, . . . , 10}) = {1, 2, 3}� +�� ������������ I��6������ ���� G(f)J �6����6�� ���
��� ������ �� �������� ���� ��� ��������� �

1 1

2

2

3

1

3

2

2

11 +−→ 3

2 +−→ 1

2 −←− 1

3 +−→ 2

2 +−→ 1

3 +−→ 1

1 −−→ 3

x3

x9

x7

x5

x4

x6

x8x2

x1 x10
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������ ����������� ���� �� ������������������ �� ��� ������ �������

+� �6����� �� ������ ��� ������������ =��
� �� )���!� �<������������ Γ ������� I(�� ��� ��
)���!� ������� �� G(f)J �

1

3
+

2−

−

+

+

+

3� �������� ����� I$�������� �6)���=� 6�6
�������� ���� �� (�� ����� ��� ���� ��� ��

��� �� I
I�� �������� ����� ���- �������� ������=� 6�6
��������J� 3��������� 
��������� �� =��� (�� �!�(��
���� (a, b) �6�"�� �<�-������� �<�� ������� �6)���= (�� ����� ��� ���� ��� ��

��� �� ϕ([a, b[)�
 ��� �� ')��� ��������D �� � � �� ����� �� ��������6 �<�� 6��� xa ? �� 6��� xb �� �� �����
��� ��
(a, b) ��� �� ���� �

1 1

2

2

3

1

3

2

2

1
x3

x9

x7

x5

x4

x6

x8x2

x1 x10

%������ �� ���� I9D>J� �� � ϕ([3, 9[) = I �� ��� ������ ����������� ? [3, 9[ ���� 3D 4D 5D 6D 8�
+�� ������������ ������6�� ? ��� ������ =��
��� �� ������� �6)���= ������� �

3

1

32

−

+ +

+

+

1

&� ������� I(�� ��� ��� 6�6
�������J ����� ���� ��� ���� ��� ��

��� �� I� %�� ��
6����D ���
������������ ������6�� ��- ������ ����������� ? [9, 3[= {9, 10, 1, 2} =��
��� ����� �� �������
�6)���=� �� �E��D ����� ��� ������ 10 �� 2 ���� ��6����� ���� [9, 3[ �� ��� ������� �� �������
�6)���= ������� I(�� ��� 6�6
�������J �

2

+

−
1

�����.�� 
! &� �� ������ ������ �� f ��� ��
� ������� 
�����* ����� �� 
�) � ��� �� �)��� ������
��
� ���(f)� &<��� ��� ������"
� ������6�6 ���������� ���(f) (�� �<�� ���� �6����� �� G(f)�

�����.�� 
 ���� ����� �6
����6 (�� �<�-������� �<�� ������� �6)���= ���� ��� �
��
 ��
������� �����1 ��� �6�������� ���� �� ��6����� �<�� ����� ������ ���� ���(f)� .���� �� ������



�	(	 )����
� ���$������ 
� %����� ;;

�-�
��� �� �� ������ I���� �� ��� ����6�� ��

� �������JD �� ��6����� �<�� ������� �6)���= ����
�� 
���� �� )���!� ����� ��� ����$H��� ��� ��������� �6�������� ���� �� ��6����� �<�� �����
������ ���� ���(f)� 3� ������ ����� ���6������� �<6������ �<����� ��� )���!�� �����- 6����6� ���
�� ����� �������� �� ���� )6�6����
��� ��� ��
������� =����
��� �����-��

���� '������ ����� ������� ��� ��� ������ ������� �� ��
��(���� (�� �� �� ��� ����� �<��� ���
������� ���� �� ���� ����� �� �-���� �� )���!� ����� ��������� �� ������� ������=�

#����
	�	�� 
 &��� �
 �)��� ������ ρ = [x1, . . . , xr] �� ���(f) �� ��
����� r > 2� &��� i �
�
����� �� ϕ� &� {x1

i , . . . , x
r
i } ��� �� �����
����� ���������
� ���������� � 2 ����� �� �1���� �
 ��
�

(a, b) �� x ∈ π(a, b) ���� #�� ∂f(x, b) ��
���
� �
 ������� ������* �����
����� #�� 
� ����� ��� ���
�� ������ i�

#���$�2 ��������� (�<�� �-���� �� ������ l ∈ {x1
i , . . . , x

r
i } ��� (��

min({x1
i , . . . , x

r
i }) < l < max({x1

i , . . . , x
r
i }).

&�

� ρ ��� �� �����D �� �-���� ��� ���������� (xa, xa+1) (�� ���
�� �� ������ �� i �� ������
�� l ? l + 1 �� �� �-���� ����� ��� ���������� (xb, xb+1) (�� ���
�� �� ������ �� i �� ������
�� l ? l − 1� %��� =��
����
���D ��

� ρ ��� �� �����D �� �-���� �� ���� (a, b) ��� ϕ(a) = i ��
xa

i = xb
i = l� &�

� l �= xa+1

i D �<���(�� ���������� xa+1 �� xa ���� ���(f) �<���������� ���
? π(xa, xb)�  ��� xa ��� π(xa, xb)$������ �� �� 
����� �� 
H
� (�� xb ��� π(xa, xb)$�������
0����D �<���"� �� �!6��"
� 5D �� �-���� x ∈ π(xa, xb) ��� (�� ∂f(x, b) �������� �� ������� ������=
6�6
������� ��D ��

� xi = bi = lD �� ������� �� ����� ��� ��� i� �

'������ 

 �� ������� �� ����� ρ = [x1, . . . , x10] �� �<�-�
��� ��6�6���� �

1 1

2

2

3

1

3

2

2

1
x3

x9

x7

x5

x4

x6

x8x2

x1 x10x1 = (0, 0, 0)

{x1
1, . . . , x

10
1 } = {0, 1, 2}

{x1
2, . . . , x

10
2 } = {0, 1, 2}

{x1
3, . . . , x

10
3 } = {0, 1}

+�� ����� (a, b) �� ����� ���� (�� ϕ(a) = i �� xa
i = xb

i = 1D ���� i = 1 �� i = 2D ���� ����(�6�
��� ��� ������ 6���� �� ��������6� ��� �� ')��� ��$�������� ��� �� ')��� ��������D ��� C���� )�����



;� �������� �	 ���
������ ����������� ���� �� ������������������ �� ��� ������ �������

������������� ��- ���6� =��
6� ��� ��� ������

x3

x9

x7

x5

x4

x6

x8x2

x1 x10

π(x2, x8)

π(x5, x10)

π(x4, x10)

&�

� �� ����� ��� ������D x2 �� x8 ���� π(x2, x8)$�������� 3� �-���� ���� x ∈ π(x2, x8) ���
(�� ∂f(x, x8) �������� �� ������� ������= 6�6
������� (�� �� ����� ��� ��� 2 I��� x2

2 = x8
2J�  �


H
�D �� �-���� x ∈ π(x4, x10) �� x′ ∈ π(x5, x10) ���� (�� ∂f(x, x10) �� ∂f(x′, x10) �����������
�� ������� ������= 6�6
������� (�� �� ����� ��� 1 I��� x4

1 = x5
1 = x10

1 J�

��* +���
���� ��
 ������������� �� �� �

�,
� ��� �������

"�� ��������� �����
��� ��
� �� �������� �����
� �������� �� �
 ������� �� ������ ������� df �
�� ����� �� �� ������� 
�
 ������� ∂f 	 ���� ��� �����

�
� ���� *�������

&��� ����� �� =��� (�� ���� ���� x ∈ X �� ε ∈ VX(x)D �� )���!� �<������������ G(∂f(x, ε))
������6 ? �� #��������� ��� ������� �� (x, ε) ��� �� ������ ������� �� )���!� �<������������
G(df(x, ε)) ������6 ? �� #��������� ������� �� (x, ε) I�=� ��
��(�� >J�

%�� �-�
���D ���� �� ��� �V n = 1D �� �!6��"
� 	 ������� ������� �� �� ��
����� ∂f ��� df �
�� �E��D �� ���� ��� )���!�� G(df(x, ε)) �<��� ����������� f �<�� ���������� {1, 2, . . . , b} ����
���$
H
� ���� ���� ������� ����� f ��� ��� ��������� (�� ��
�� ���� 6����
��� �� ���(�� �����
'-�� �� b = 10D �� ��������� df D �� �<� � ���� (�� 10 ������������ �6��'��� ��� ���������� ��
�!6��"
� 	� %�� ������D �� ��������� ∂f D �� ��� �� ������ ���� 
����� (�� 185 794 560 �����$
������� �6��'��� ��� �����������

���� ����� ��������� �� �6���6� ��� ������� �'� (�� ������ ��� ������������ ��
������ ��

H
� ����
�(�� �����!���� ��
������ �� 
H
� �6���6�� %�������D �������� �6������� 6������
���� �� �!������ �� =��� ������
��� ��� �6=6����� ? �� ����
�(�� �����!����� 3� �<�)�� ��
���������� 5 (�� ����� ��� ��������� �6�������� ���� (�<��� ����������� f : X → X ��
����
��� ������ '-�� ��������� �� �� �!6��"
� 	 (�� ����� ��� ��������� ��K����� ���� (�� f
��
���� �� ����� '-� ���(���
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&�

� ���� �<����� �6�? �����)�6D ��� �6������� �<�-�6������� �6����6�� ��� ��� ����"
�� ��
�6)������� )6�6��(��� ������� 
����������
��� (��������=�D �� ���� ������� ����6����6� ���� ��
=��
� �<�� )���!� �<������������ F58G� &� )���!� ��� ����� ���� ��

� ����� �� �6���� ����
�6������ ��� 
��"��� ����
�(��� ���� �<�������= �� ��
������� �� =���������
��� )����� ��
����"
��

+� 
6�!��� ��)�(�� �� ���6 �!�
�� �
������ ����� �6
���!�� ��

����
���D ���� ���
��
�<�������� ? �� )���!� �<������������ GD �VD �� ���� �<�� ��)��D �!�(�� ����������� ��� 6��(���6�
��� �� �����D �� ����
��� '�� D �� ����
�(��� �����!����� I�=� �!������ 	J (�� �<�-���
���
? �<���� �� �����$���� ����#���� &�� ����
��� �<�������"�� ��

� �<����
��� ��� ����
�(���
(�<�� ����"
� �� �6)������� ��� ����������� �� �6����� ����(�� ��� )���!� �<������������ ��� G�

 ��� �� �!������D ���� ��6������� ��� =��
��������� �� �� 
6�!��� �� �!�
�� �� �<���������
����������
��� ��� �6=6������ F:5D �G� �� 
����� ������� (�� �� =��
����
� ��� ���� ? =���
��!6���� ���� �� ������ �� �6���6� �����"��� �� �������"�� '����
��� ��� �6������� �� �!������ 9
���� �� �����-�� �� �� 
6�!��� �� �!�
���

"�� �
-�������

%���� �������

+�� �����6� �� ����"
� �� �6)������� �����)�(�� ������6�6 ���� ���6�� �� 1 ? n S �<����
���
��� 
�����1 �� ��
��
������
 ��������� ���� �<�����6 i 6���� �� ���������� '�� Xi = {0, 1, . . . , bi}�
+<����
��� ��� ����� ��������� �� �6���� ��� ���� �<����
��� X =

∏n
i=1 Xi� �� ������� �� ���

����
��� �� ������ %
� � n ����
���
��

�� 
��6���� �� ����
�(�� ��� �<�����
6������ �<��� ����������� f = (f1, . . . , fn) : X →
X� &!�(�� ����������� fi : X → Xi ����� �� 
����� ����� �� i �� =������� �� �<6��� x =
(x1, . . . , xn) ∈ X �� �6���� � �� xi < fi(x) �� ������ �� i ��� �� M��)
��������N S �� xi > fi(x)
�� ������ �� i ��� �� M��
�������N S �� �� xi = fi(x) �� ������ �� ������������� �� i ��� M������N�
%��� ��6���6
���D �� ����
�(�� ��� �6����� ��� �� ������ �� ���
�����
� ��)
����
� ������6 ? f D
���6 ���(f)� +<����
��� ��� ��

��� �� �� )���!� ��� XD �� �� �-���� �� ��� I�� ��� ���
�����
J
�<�� 6��� x ? �� 6��� y �<�� �-���� ��� �����6 i ����� (�� �

y = xi�f ′
i(x) ���= (x1, . . . , xi + f ′

i(x), . . . , xn) �V f ′
i(x) ���= signe(fi(x) − xi) �= 0.



�
 �������� "	 )�� �� �����
� 
� ���� %�����

0����D ? �<6��� xD ���� �!�(�� �����6 i ����� (�� f ′
i(x) �= 0D �� �-���� ��� ���������� (�� ���
��

�<��������� �<6��� (�� �<�� ������� �� �������� f ′
i(x) ? �� i"
� ��
������� �� xi �� �� ��������

���!��)6�� ��� ������ ��
��������� +��� �� �!�(�� ����������D �� � � ���� ��� ���(�� �����6 ����
�� ������ �� ������������� 6����� �<��� ����6 �� ��������� �� ��� ������ ������  � ��
����-
�-�
���� �� ����
�(��� �����!����� ���� ����6� ���� �� �!������ 	�

%���� $����� ��
�������
��� � ���
��

�� �����(��D �� )���!� �<������������ �� ����"
� 6����6 ��� ������� ������ +�� ��

��� ��
�� )���!� ������������� ��- n �����6� �� ����"
�D �� �� � � �� ��� �<��� �����6 j ? ��� �����6 i
�� �� ���
�"�� �6)��� �� �������D �<��� ? ����D �� �<6�������� �� ������ �� i �6���� �� ������ ��
j�  � ����D �!�(�� ����������� �� j ? i ��� 
��� �<�� ��)��� &����$�� ��� ������= I����� �6)���=J
�� ��� ��)
�������� �� ������ �� ������������� �� j ���
��D ���� ��������� ����������D ���
��)
�������� I����� ��� ��
�������J �� ������ ����� �� i�  ��� �� 
6�!��� �� ���6 �!�
��D
�� ������ ����� �� ����� ��� �!�(�� ������������ &��� ����� �� =��� (�<�� �����)�� I�� ���� ����
�<������ ��
�����J �� �6)������� ��� �� ���� ������� ���K���� �� ������� �<��� �������������
M�����ND ��� �E�� �������� ������
��� ��- �������������� ���6������� F98D 7�D :8D 	:D 88D 58G�
+� ����� �� �6���� ���� ���� �� ������ ���
��������
� � ������ �

*�(�	�	�� �� +,����� �3	�������	��
 7 
��	�
-
>
 n$)���!� �<������������ ? ������ ��� �
 ������ G = (V, E) �@ V = {1, . . . , n} �� �@ E ���
�
 ������
������ %
� �� V × N × {−1,+1} × V � &� (j, s, α, i) ∈ E	 �
 ��� #�� G ��
���
� �
�
�
��������
 �� j � i �� ����� s �� �� ��)�� α� 0
 ��� ����� #�� (j, s) ��� �
� ����6� �� i ��
� G�
���� ���� ������ i	 �
 
����� Gi ���
������ ��� �
����� �� i ��
� G ��	 ���� α ∈ {−1,+1}	
�
 
����� Gα

i ���
������ ��� �
����� (j, s) ∈ Gi ������ #�� (j, s, α, i) ∈ E �� (j, s,−α, i) �∈ E�

�� �������� (�<�'� �<���6)�� ��� ���������D +1 �� −1 ���� ������� ���6)6� ��� + �� −�

'������ 
� +<����
��� ��� ��

��� �� G ��� {1, 2, 3} �� �<����
��� ��� ���� �� G ��� �

{(1, 1,+, 1), (1, 2,−, 2), (1, 2,+, 2), (2, 1, +, 3), (3, 1,−, 1), (3, 2, +, 1)}.

�� ����6����� G ��� �� ���)��

� ������� �

1 2

3

2+

2−

1+

1−
2+ 1+

+�� ����6�� ��� ����� ��

��� ���� ��� ��������� �⎧⎨
⎩
G1 = {(1, 1), (3, 1), (3, 2)}
G+

1 = {(1, 1), (3, 2)}
G−

1 = {(3, 1)}

⎧⎨
⎩
G2 = {(1, 2)}
G+

2 = ∅
G−

2 = ∅

⎧⎨
⎩
G3 = {(2, 1)}
G+

3 = {(2, 1)}
G−

3 = ∅
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��� �� ����
�(�� �� ����"
� ? ������ �<�� )���!� �<������������
? ������ GD �� �� ����� �� ������ ��� 6���� '�� ? n ��
������ X = X1 × · · · × XnD ��D ��
=�/�� ���������D ����(�� �� ����"
� �� ������ ? �<6��� x ∈ XD �� ������"�� (�<�
� �
��������

(j, s, α, i)	 �� �
� �
���� (j, s) �� i	 ��� �(������ �� �� 
����� �� ��
��
������
 xj ��� ���������
�� ���� �� ����� s �� ���
��������
� 0'� (�� �!�(�� ����������� ������ H��� �� �� ��� H���
�E������ �� =������� �� �<6��� �� ����"
�D �� �!����� X �� ����� (�� �� ������ (G, X) =��
� ��
������ ���
��������
� � �������

*�(�	�	�� 
% +��
��� �3	�������	��
 7 
��	�
-
>
 n$�6���� �<������������ ? ������ ��� �
 ������ (G, X) �@ G ��� �
 n������� ���
��������
�
� ������ �� �@ X = X1 × · · · × Xn ��� �
 ������ %
� � n ����
���
� ��� #�� min(Xj) < s ≤
max(Xj) ���� ����� �
��������
 (j, s, α, i) �� G� "� =������� ? ������ �� ������ ��� ������������

ω = (ω1, . . . , ωn) ��%
�� ��� X ��� <

∀x ∈ X, ωi(x) = {(j, s) / (j, s) ∈ Gi �� xj ≥ s} (i = 1, . . . , n).

0
 ������� ωi(x) ���
������ ��� ����6�� �E������� �� i � ������ x�

�����.�� 
0 �� (j, s) ∈ ωi(x)D ����� ������ ��� ����6�� (j, s′) �� i ������ (�� s′ < s �����$
�������� ����� ? ωi(x)� %�� ����6(����D �� Gi �������� ��� ����6�� ����� �� 
H
� ���)���D �����
ωi(X) ���= {ωi(x) /x ∈ X}D ���� �<����
��� ��� �����
����
� ���
����� �(������� ��������� ���� iD
��� �� ������ ����$����
��� �� �<����
��� ��� ������� �� Gi�

'������ 
� n = 2D X = {0, 1, 2} × {0, 1, 2} �� G ��� ����6 ��� �� ���)��

� ������� �

1 22+

2−

1−2+ 2+

1+

+�� =�������� ? ������ ω1 �� ω2 �� �6���� ���� ����6�� ��� �� ����� �������� �

x ω1(x) ω2(x)
(0, 0) ∅ ∅
(0, 1) {(2, 1)} ∅
(0, 2) {(2, 1)} {(2, 2)}
(1, 0) {(1, 1)} ∅
(1, 1) {(1, 1), (2, 1)} ∅
(1, 2) {(1, 1), (2, 1)} {(2, 2)}
(2, 0) {(1, 1), (1, 2)} {(1, 2)}
(2, 1) {(1, 1), (1, 2), (2, 1)} {(1, 2)}
(2, 2) {(1, 1), (1, 2), (2, 1)} {(1, 2), (2, 2)}

0����D �� � � � ��
��������� ��������� �<����6�� �E������� ���� �� ���
�"�� �����6D �� 7 ���� ��
������� �{

ω1(X) =
{∅, {(2, 1)}, {(1, 1)}, {(1, 1), (2, 1)}, {(1, 1), (1, 2)}, {(1, 1), (1, 2), (2, 1)}}

ω2(X) =
{∅, {(2, 2)}, {(1, 2)}, {(1, 2), (2, 2)}}
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� ���� %�����

%���% (���	!���� ��

����

1���� ����6 �� �6���� �<������������ ? ������ (G, X) �� �� =������� ? ������ ωD �� ������"��
������� (�� �� 
����� ����� fi(x) ���
� �
���� i � ������ x 
� ����
� #�� �� ���
������ ωi(x) ���
�
����� �(������� �� i� %��� ��6���6
���D �� ������"�� (�� �<����������� fi : X → Xi (�� �����
�� ������ ����� �� i �� =������� �� �<6��� x � �� =��
� �������� �

fi = κi ◦ ωi ���� κi : ωi(X) → Xi.

+<����������� κi ������� ���� �� ������ �� ������������� κi(E) ? �!�(�� ��
�������� E ∈
ωi(X) �<����6�� �E������� �������� ���� i�  ��� �� ����6������D �� ������� ��� κi(E) ��� �����
�$���� ����#��� ������6� ? i F�7D 8:D ��G�

+� =��
� ����6� ? fi �� =������� �� G ��� �� ��
�������� κi ◦ ωi �� ����� ���� �<�������
��� ��
����� �� ��)�� ��� ������������ (�� �6)��� �� ������ �� i� 3��������
���D ��� ���
�� ��
��������
� ��� ��� ��
����
��� ��� �� ������ ��� �����$���� ����#��� �������� � i�

%�� �-�
���D ��������� (�� (j, s) ���� ��� ����6� �� i ���� GD �� ��������� (�� �<6��������
�� ����"
� ���� ����� (�� �<����
��� ��� ����6�� �E������� �� i ����� �� E ? E ∪ {(j, s)}� 3� � �
���� �� ��� ��)
�������� �� ������ �� j ���
������ �� ������ ����� �� i �� ������ �� κi(E)
? κi(E ∪ {(j, s)})� &<��� ? �� 
�
��� �? (�� ��� ��)��� ���� ���� �� ��
��� �
5� �� (j, s) ∈ G+

i D ���� �� (j, s,+, i) ��� �<���(�� ����������� �� j ? i �� ����� sD ����� ��
������"�� (�� �<����� �� (j, s) ���� ��� ����6�� �E������� �� i �� ���� ��� ������� ���
��
������� �� ������ ����� �� i � �� �
���� κi(E) ≤ κi(E ∪ {(j, s)})�

	� �� (j, s) ∈ G−
i D ���� �� (j, s,−, i) ��� �<���(�� ����������� �� j ? i �� ����� sD ����� ��

������"�� (�� �<����� �� (j, s) ���� ��� ����6�� �E������� �� i �� ���� ��� ������� ���
��)
�������� �� ������ ����� �� i � �� �
���� κi(E) ≥ κi(E ∪ {(j, s)})�

9� .�����
���D �� (j, s) �∈ G+
i ∪ G−

i D ���� �� (j, s,−, i) �� (j, s,+, i) ���� ��� ������������ ��
GD ����� ������ ��6)����6 ����� κi(E) �� κi(E ∪ {(j, s)}) �<��� �
���6�� +<����� �� (j, s)
���� �<����
��� �<����6�� �E������� E ���� ���� ����� �� �E�� ������= �� �6)���= ��� ��
������ ����� �� i�

�6��
��� ���� =��
����
����

�����.�� 
� +���(�� �� �����-�� ���� �����D �� ���6)��� {(j, s)} ��� (j, s)�

*�(�	�	�� 
� +#����������-
&���
� �
 n������� ���
��������
� � ������ (G, X) �� *�
����
 � ������ ω �� i ∈ {1, . . . , n}� >
�
����������
 κi �� ωi(X) ��
� Xi ��� �
 ����
6���)� �� i ���� (G, X) �� ���� ���� α ∈ {−1,+1} <

∀(j, s) ∈ Gα
i , ∀E ∈ ωi(X) ���� #�� E ∪ (j, s) ∈ ωi(X),

{
κi(E) ≤ κi(E ∪ (j, s)) �� α = +1
κi(E) ≥ κi(E ∪ (j, s)) �� α = −1.

>
 ����
6���)� �� (G, X) ��� �
� ����������
 κ = (κ1, . . . , κn) �� ω(X) ��
� X �@ ���#�� κi

��� �
 ����������� �� i ��
� (G, X)�

���#�� ����������� κ �� (G, X) ������ ��
� �� ��%
�� �
� ����������
 f = κ ◦ω : X → X

#�� ���
� ������ ��� ������ ��� �
��������
� �� G �� ������� �� ω �� ��� ���
�� ��� �
��������
�
�� G �� ������� ��� ��
����
��� �������� � κ� �� ������"�� ����� (�� �� )���!� �� �����������
�����!���� �� f ��� ��� ����
�(�� �������� ���� �� �6���� (G, X)�
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&���
� �
 n������� ���
��������
� � ������ (G, X) �� *�
����
 � ������ ω �� K ���
������ �� ���
������������� "�����
��� ��� ����
�(��� ��������� ���� (G, X) ��� {���(κ ◦ ω) /κ ∈ K}�

'������ 
� n = 2D X = {0, 1, 2} × {0, 1, 2} �� G ��� ����6 ��� �� ���)��

� ������� �

1 21+

2+

2−

2+

1−

+�� ����6�� ��� ��

��� 1 �� 2 ���� ��� ��������� �⎧⎨
⎩
G1 = {(1, 1), (2, 1), (2, 2)}
G+

1 = {(1, 1), (2, 2)}
G−

1 = {(2, 1)}

⎧⎨
⎩
G2 = {(1, 2)}
G+

2 = ∅
G−

2 = ∅

�� �6���� �� �6���� ��� =�������� ? ������ ω1 �� ω2 ��������� �

x ω1(x) ω2(x)
(0, 0) ∅ ∅
(0, 1) {(2, 1)} ∅
(0, 2) {(2, 1), (2, 2)} ∅
(1, 0) {(1, 1)} ∅
(1, 1) {(1, 1), (2, 1)} ∅
(1, 2) {(1, 1), (2, 1), (2, 2)} ∅
(2, 0) {(1, 1)} {(1, 2)}
(2, 1) {(1, 1), (2, 1)} {(1, 2)}
(2, 2) {(1, 1), (2, 1), (2, 2)} {(1, 2)}

���� κ1 : ω1(X) → X1� &�

� (1, 1) ��� ��� ����6� M�������
��� ��������N �� �� ���
�"��
�����6D ���� ��

� (1, 1) ∈ G+

1 D �� ����� �� (1, 1) ���� ��� ����6�� �E������� �� 1 �� ���� ���
������� ��� ��
������� �� ������ ����� �� 1� 0����D ���� (�� κ1 ���� �� ����
6���)� �� 1D ���
��6)����6� ��������� ������� H��� �6��'6�� �

κ1(∅) ≤ κ1({(1, 1)})
κ1({(2, 1)}) ≤ κ1({(1, 1), (2, 1)})

κ1({(2, 1), (2, 2)}) ≤ κ1({(1, 1), (2, 1), (2, 2)})

&�

� (2, 2) ��� ��� ����6� M�������
��� ��������N �� �� ���
�"�� �����6D κ1 ���� 6)���
���
�6��'�� �

κ1({(2, 1)}) ≤ κ1({(2, 1), (2, 2)})
κ1({(1, 1), (2, 1)}) ≤ κ1({(1, 1), (2, 1), (2, 2)})

��'�D ��

� (2, 1) ��� ��� ����6� M�������
��� �6)�����N �� �� ���
�"�� �����6D ���� ��

�
(2, 1) ∈ G−

1 D �� ����� �� (2, 1) ���� ��� ����6�� �E������� �� 1 �� ���� ������� ��� ��
�������
�� ������ ����� �� 1� %��� (�� κ1 ���� �� ����
6���)� �� ���� ���� ����� �

κ1(∅) ≥ κ1({(2, 1)})
κ1({(1, 1)}) ≥ κ1({(1, 1), (2, 1)})



�7 �������� "	 )�� �� �����
� 
� ���� %�����

0����D κ1 ��� �� ����
6���)� �� 1 �� ��� 7 ��6)����6� ��6�6������ ���� �6��'6��� �� ���� ����������
��� ����������� ��� ��� ����
"���� ������6� ? 1 ���� �� ���)��

� ������� �

{(2, 1), (2, 2)} +−−−−→ {(1, 1), (2, 1), (2, 2)}
+

�⏐⏐ �⏐⏐+

{(2, 1)} +−−−−→ {(1, 1), (2, 1)}
−
�⏐⏐ �⏐⏐−

∅ +−−−−→ {(1, 1)}
��� �� ���)��

�D �� � � �� ��� ������= I����� �6)���=J �<��� ��
�������� �<����6� ? ��� ����� ��
�� ����
"��� ������6 ? �� ���
�"�� ��
�������� �� ���� �<H��� ���� ����� �� 6)�� I���� )���� ��
6)��J �� ����
"��� ������6 ? �� �������� 3� ��� ����� =����� �� ���� (�� �<����������� κ1 ��������
��� �� ����
6���)� �� 1 �

E κ1(E)
∅ 1
{(2, 1)} 0
{(2, 1), (2, 2)} 0
{(1, 1)} 2
{(1, 1), (2, 1)} 0
{(1, 1), (2, 1), (2, 2)} 2

0 +−−−−→ 2

+

�⏐⏐ �⏐⏐+

0 +−−−−→ 0

−
�⏐⏐ �⏐⏐−

1 +−−−−→ 2

&�

� G−
2 �� G+

2 ���� �����D ������ ���������� ��� ��� ���- ����
"���� ������6� ? �� �������
�����6 �<��� �
���6�� %������ �� ����
6���)� κ2 ��� (�� κ2(∅) = 2 �� κ2({(1, 2)}) = 0� 0����D
κ = (κ1, κ2) : ω(X) → X ��� �� ����
6���)� �� (G, X)� 3� ���
�� �� �6'��� �� =������� f = κ◦ω
�������� �

x ω1(x) κ1(ω1(x)) ω2(x) κ2(ω2(x)) f(x) f ′
1(x) f ′

2(x)
(0, 0) ∅ 1 ∅ 2 (1, 2) + +
(0, 1) {(2, 1)} 0 ∅ 2 (0, 2) 0 +
(0, 2) {(2, 1), (2, 2)} 0 ∅ 2 (0, 2) 0 0
(1, 0) {(1, 1)} 2 ∅ 2 (2, 2) + +
(1, 1) {(1, 1), (2, 1)} 0 ∅ 2 (0, 2) − +
(1, 2) {(1, 1), (2, 1), (2, 2)} 2 ∅ 2 (2, 2) + 0
(2, 0) {(1, 1)} 2 {(1, 2)} 0 (2, 0) 0 0
(2, 1) {(1, 1), (2, 1)} 0 {(1, 2)} 0 (0, 0) − −
(2, 2) {(1, 1), (2, 1), (2, 2)} 2 {(1, 2)} 0 (2, 0) 0 −

+� )���!� �� ����������� �����!���� �� f D ���� �<������������ ����D ��� ��� ����
�(�� ��������
���� �� �6���� �

(0, 2)

(0, 1)

(0, 0) (1, 0)

(1, 1)

(1, 2) (2, 2)

(2, 1)

(2, 0)

3� �������� ���- 6���� ������� �� �� ����� �������� �� ���)���� 4�
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 ��� �� 
6�!���� ���)����� �� �!�
��D �� �<��� ��� �������� �<����� ��������� ������������
�<�� ��

�� ? �� ����� � �� (j, s, α, i) �� (j, s′, α′, i) ���� ��� ������������ �� G ����� s = s′ ��
α = α′� ���� ����� !����!"��D �� ��������D ��- ��������� ��"�D �� 
6�!��� ���)����� �� �!�
��
F:5D �G�

+<!����!"�� ������� ��(����� �� �-���� �� ���� ��� ����������� �<�� ��

�� ? �� �����
��� ����C =���� ���D ���� �� �6����6D �� �<��� ��� ���� (�<�� �6)������� �)���� �� =�/�� ��������
�� �6)����� ��� ��� ����� �� =������� �� �����-��� *� �-�
��� ���� ����� ��� ����� �� ��
�6)������� �� �<��6��� ��������� �!�C �� ���� F7:D 59G� &�� ��6���D (�� ���� ���� ����� ��C�
��
�
���(�6�� ���� �� 
6�������
� �� �<���������D ��� �6)��6 ��� �� ����6��� ���&� ���� �� =��
�

���
6��(��D ���& ��!��� �<�-�������� �� �<��6��� �� ���� �� =��
� ��
6��(��D ���& ������
�<�-�������� �� �<��6���� &�

� �� ��6����� �<��������� ������ �� ��
6�������� �� ���&D ��
���� ���� ������6��� (�� ���& ��� �� ��!������� �� �<��6��� �� �<�������� �<��������� �� ��
���������� �� �<��6��� �� ��6����� �<���������� *� ����� �-�
��� ��� ����� �� �� ����6��� �3 (��
���������� ���� �� ����"
� �� �6)������� )6�6��(�� �����B���� �<�

����6 �!�C �� ����6����!�)�
λ� &���� ����6��� =������� �� ������ �-�������� ? ������ �<�� ���
��� ����� ���� �<��!��� ? ������
�<�� ������ ����� ���� 6���6 F85G�

"�� .���,������ �� ���#��� �� 

���� �������

 ��� �� �!������ 	D ���� ��

�� ����� �<�� )���!� �� ����������� �����!���� ���(f)D
f : X → XD �� ���� ����� ��������� ��� �6���6� �����"�� ∂f ���
������ �<�������� ? ����� ��$
��
�(�� �� )���!� �<������������ I���� ������J G(f)� �� �������� (�� ����� �6���6� ��� 6����6�
? �<6��� x ∈ X �� ��������� �� ������� �� ���������� 6�6
�������� ε ∈ VX(x)� �� α = ∂fij(x, ε)
��� ��� ���D ����� (j, α, i) ��� ��� ����������� �� G(f)�

 ��� �� ������� ��6�6�����D ���� ����� �
�����6 �� �6
���!� �������� ���� ��

�� �����
�<�� �6���� �<������������ ? ������ (G, X) �� ���� ��� ����� ������6 �� ����
��� �� ����
�(���
�����!����� �� ��������� �� 
6�!��� �� �!�
���

���� ����� ���� ��� ���
�"�� ������!� ���
������ �<�������� �� )���!� �<������������
I���� �����J ? ��� ����
�(�� �����!����D �� ��� ������� ������!� ���
������ �<�������� ��
����
��� �� ����
�(��� �����!����� ? �� )���!� �<������������ I? ������J�  ��� ����� �������D
�� 
����� (�� ��� ���- ������!�� �� ���� ��� ����������������

�� ��

���� ��� 6������ �� ���
��� ���� ����� �� �6���6� ∂f �<��� ����������� f = κ ◦ ω
������6� ? �� �6���� (G, X) �� ��� ������������ �� G �

#����
	�	�� � &���
� �
 n������� ���
��������
� � ������ (G, X) �� *�
����
 � ������ ω ��
f = κ ◦ ω ���� κ �
 ����������� �� (G, X)� &��� x ∈ X	 ε ∈ VX(x)	 i, j ∈ {1, . . . , n} �� ����
α ∈ {−1,+1}� 0
 ���� s = max(xj , xj + εj) �� s′ = max(xi, xi + εi)� 5����	 ∂fij(x, ε) = α ��
�� �������
� �� (j, s, α, i) ��� �
� �
��������
 �� G ��{

κi(ωi(x) \ (j, s)) < s′ ≤ κi(ωi(x) ∪ (j, s)) �� α = +1
κi(ωi(x) \ (j, s)) ≥ s′ > κi(ωi(x) ∪ (j, s)) �� α = −1

I7�5J
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#���$�2 �� �� ������� �� ��� �V α = +1 �� εj = +1D ��� ������ ��� 6���� ��
6���(����

I⇒J %�� �6'������D �� ∂fij(x, ε) = +1 ����� �

κi(ωi(x)) < xi + εi/2 < s ≤ κi(ωi(xj�+1)). I7�	J

 ��� ωi(x) �= ωi(xj�+1)� �� �� �6���� �

ωi(xj�+1) = ωi(x) ∪ (j, xj + 1) = ωi(x) ∪ (j, s).

 ��� (j, s) ��� ��� ����6� �� i ���� G�  � ����D �� (j, s,+, i) �<��� ��� ��� ����������� �� G
����� (j, s) ∈ G−

i �� ��

� κ ��� �� ����
6���)� �� (G, X) �� �

κi(ωi(x)) ≥ κi(ωi(x) ∪ (j, s))

�� (�� ��������� I7�	J�  ��� (j, s,+, i) ��� ���� ��� ����������� �� G�

I⇐J �� ������� (�� (j, s,+, i) ��� ��� ����������� �� G �� �� ������� I7�5J� %���(��
εj = +1D �� � xj = s − 1�  ���D ��� �6'������ �

ωi(xj�+1) = ωi(x) ∪ (j, s) �= ωi(x).

&�

� s′ − 1 < xi + εi/2 < s′ �� ��

� �� ������� I7�5JD �� �� �6���� �

κi(ωi(x)) < xi + εi/2 < κi(ωi(xj�+1)).

 ��� ∂fij(x, ε) = +1� �

�����.�� �% &�

� ∂f �� �6���� (�� �� ���(f) I�=� ����������� 5JD �� ����������� ���
����� ���� ����� ����������� g : X → X 6(��������� ? f ���� ����� (�� ���(g) = ���(f)�

��������� (�� ���(f) ���� ��� ����
�(�� ������6� ? (G, X)�  <���"� ����� ����������� ��
�� ��
��(�� ��6�6�����D �� (j, α, i) ��� ��� ����������� �� G(f) ����� �� �-���� �� 
���� ���
����������� �� j ? i �� ��)�� α ���� G� %��� ��6���6
���D �� (j, α, i) ��� ��� ����������� �� G(f)
(�� ���� H��� M�6����6�N ��� �� �6���6� ∂f �� �6������� ��� ��������� �� ������ �� j �� s − 1
? s �V �� s ? s − 1D ����� (j, s, α, i) ��� ��� ����������� �� G�  ���D �� �6���6� ∂f ���� ���
��
�� M�6������N �� )���!� ������� �� GD �� ���� )6�6����
���D �� ����
��� �<������������ (�� ��
�������� ���� ���� ��� �6����- (�� ��
������ ���(f) ���� ���� ����
��� �� ����
�(���� ��
��������� �� )���!� ������� ��

�� ? ���� ��� �6����- ��-(���� ���(f) ��� ������6D �� ������
���
��������
� � ������ �� f �

*�(�	�	�� 
� +,����� �3	�������	��
 7 
��	�
 �� f-
&��� f : X → X ���� X �
 ������ %
� � n ����
���
�� 0
 ������� )���!� �<������������ ? ������
�� f 	 �� �
 
��� G(f)	 �� n������� ���
��������
� � ������ #�� ��
���
� �
 ��� (j, s, α, i) �� ��
�������
� ���� �1���� x ∈ X �� ε ∈ VX(x) ���� #�� s = max(xj , xj + εj) �� ∂fij(x, ε) = α�

������ (�� (G(f), X) ��� �� n$�6���� �<������������ ? �������

)����	�� � /��
� ��

�� ���1 n�������� ���
��������
� � ������ G �� G′	 �� 
������
 �������
G ⊆ G′ �
��#���� #�� G ��� �
 ������ ������� �� G′ ���� #�� ����� �
��������
 �� G ��� �
�
�
��������
 �� G′�
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#����
	�	�� � &��� �
 n������� ���
��������
� � ������ (G, X) �� f : X → X� &� ���(f) ���
�
� �)
���#�� �������� � (G, X) ����� G(f) ⊆ G�

#���$�2 3

6���� �<���"� �� ����������� 9 �� �� ��
��(�� 9
� �

&���� ����������� 
�� ���� �� 6������� (�� �� ��6����� ��� ������������ �� G(f) ���� ��
�6���� (G, X) ��� ��� ��������� 
��������� ���� (�� ���(f) ���� ��� ����
�(�� ������6� ?
�� �6����� ���� ������ 
��������� 
������ (�� ����� ��������� ��� ��?��
��� +� �����"
�
��������� �������� ? 
������ (�� ���(f) ��� ��� ����
�(�� ������6� ? (G(f), X)�

�������� � &��� f : X → X ���� X �
 ������ %
� � n ����
���
�� ���(f) ��� �
� �)
���#��
��)
����
� �������� � (G(f), X)�

#���$�2 +� ������ ��������
��� =���������� �� �� �!6��"
� ��� ����6� ���� �<����-� 0� �

�������	�� � +:.�	$������ �� ������
-
&���
� �
 ������ ���
��������
� � ������ (G, X) �� f : X → X� ���� #�� ���(f) ���� �
�
�)
���#�� �������� � (G, X) �� *��� �� �� ��?� #�� G(f) ⊆ G�

#���$�2 +� ��������� �6�������� ��� ����6� ��� �� ����������� 7� %��� �� ��������� ��K�����D
�� ������� G(f) ⊆ G �� �� 
����� (�� ���(f) ��� ��� ����
�(�� ������6� ? (G, X)� ���� ω
�� =������� ? ������ �� (G, X) �� ω′ �� =������� ? ������ �� (G(f), X)�  <���"� �� �!6��"
� 7D
���(f) ��� ��� ����
�(�� ������6� ? (G(f), X)�  ���D �� �-���� �� ����
6���)� κ′ �� (G(f), X)
��� (�� ���(f) = ���(κ′◦ω′)� &�

� f �� κ′◦ω′ ��� �� 
H
� �6���6�D �� � � G(f) = G(κ′ ◦ω′)�

������ �� (������(�� i ∈ {1, . . . , n} �� x, y ∈ X� �� ω′
i(x) �= ω′

i(y) ����� G(f) �������� ���
����������� (j, s, α, i) ����� (�� xj < s ≤ yj �� yj < s ≤ xj� &�

� (j, s, α, i) ��� ����� ���
����������� �� GD ���� �� ���
��� ��� �� � (j, s) �∈ ωi(x) �� (j, s) ∈ ωi(y)D �� ���� �� ������ ���
�� � (j, s) ∈ ωi(x) �� (j, s) �∈ ωi(y)�  ��� �

∀x, y ∈ X, ωi(x) = ωi(y) ⇒ ω′
i(x) = ω′

i(y) ⇒ κ′
i(ω

′
i(x)) = κ′

i(ω
′
i(y)).

0����D �� �-���� ��� ���(�� ����������� κi : ωi(X) → Xi ����� (�� κi ◦ωi = κ′
i ◦ω′

i� 0'� �<�������
��� �������������D ��������� (�� κi �� ���� ��� �� ����
6���)� �� i ���� (G, X)� 0����D ��
�-���� α ∈ {−1,+1}D (j, s) ∈ Gα

i �� E ∈ ωi(X) ���� (�� �

E ∪ (j, s) ∈ ωi(X) �� α · κi(E) > α · κi(E ∪ (j, s)).

&�

� E ∪ (j, s) ∈ ωi(X)D �� �-���� x ∈ X ��� (�� ωi(x) = E �� ωi(xj�+1) = E ∪ (j, s)� �� �

κi(ωi(x)) = κ′
i(ω

′
i(x)) �� κi(ωi(xj�+1)) = κ′

i(ω
′
i(x

j�+1))

���� �
α · κi(ωi(x)) > α · κi(ωi(xj�+1)).

 ��� ω′
i(x) �= ω′

i(x
j�+1) = ω′

i(x) ∪ (j, s)� 0���� (j, s) ∈ [G(f)]i� �� �� �6���� �

α · κ′
i(ω

′
i(x)) > α · κ′

i(ω
′
i(x) ∪ (j, s))

%�� ����6(����D ��

� κ′
i ��� �� ����
6���)� �� i ���� (G(f), X)D (j, s, α, i) �<��� ��� ���

����������� �� G(f)� %���(�� (j, s) ∈ [G(f)]iD �� �� �6���� (�� (j, s,−α, i) ��� ��� �����������
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�� G(f) �� ���� �� G� �� ������ ����� ? ��� ������������� ��� (j, s) ∈ Gα
i � 0���� κi ��� ��

����
6���)� �� i ���� (G, X)� �� �� �6���� (�<�� �-���� �� ����
6���)� κ �� (G, X) ��� (��
κ ◦ ω = κ′ ◦ ω′� 0����D ���(f) = ���(κ ◦ ω) ��� ��� ����
�(�� ������6� ? (G, X)� �

&�

������ �� �6������� ���� �� �6���� �<������������ ? ������ (G, X)� �� �������� (��
���� �� 
6�!��� �� �!�
��D �<����
��� D ��� ����
�(��� �����!����� ������6�� �� �6����
��� �6'�� ���

D ���= {���(κ ◦ ω) /κ ∈ K},
K 6���� �<����
��� ��� ����
6���)�� �� (G, X)�

"� ���������� B 
��� ������ �� ��

�� �
� *���������
 �� ���
������ ��� �)
���#��� ���
������� � (G, X) #�� ��� �
��$����
� ����� ��� �� 
����
 �� ������� �����$�� < ��� �
������ D
��� ���
������ ��� �)
���#��� ��)
����
�� ���(f)	 f : X → X	 � ������ ���#������ �
 �
*$��
�
 ������ ������� �� G� .��
����
��� �

D = {���(f) / f : X → X �� G(f) ⊆ G}.
�� �����(��D �������� �<����
��� D �� ��������� �� )���!� �<������������ ? ������ G(f) �� �!�(��
����������� f �� X ���� ���$
H
� ��� ���� ? =��� ���6������� %��� ����
���� ����� �T�!�D ��

6�!��� �� �!�
�� ��� ���� ���� �����6�� ���� ���
��D ��� �<�����
6������ �� �� ������ ��$
��
"���)�D �� �� ������6��� (�<�� ����$����
��� ��"� �6���� �<������������ f : X → X I����
�������D �� )���!� �<������������ ? ������ G(f) ������6 ? �!����� �� ��� ������������ ���D ���
������������D �� )���!� ������� �� GJ� &��������D �� =��
������� �� D �� ���
� �� �6���6�

�� �� 6������� ��� ������6�6 ���6���������

&� ���
 ��
���$�� #���
 ������ (G, X) ��� ���� ����� #���
 ������ (G′, X) �� �� �������
�
G′ ⊆ G �����	 ���
� ��

�� �
� �)
���#�� ��)
����
� ���(f)	 f : X → X	 �� ������ ���
������
���
� � ������ (G(f), X) ��� �� ���� ����� ������ ��������
� ������
�� ���(f)� �� �E��D ���(f)
��� ���� ��� ����
�(�� ������6� ? (G(f), X)D �� �� ���� ��� ������6� ? �� ����� �6���� (G, X)
����� G(f) ⊆ G� +�� ���- �6����- ���� ��
��������D �� ���
��� 6���� ���� ����� (�� �� �������

�� �����(��D ����� ������ �� �6���� 
���
�� ��� ������ %�� �-�
���D �� �<�� ������"�� (��
���(f) ��� ��� ����
�(�� �6������ ���� �� �6���� (G, X)D �� ��� ���6������� �� ������ �� �����
����
�(�� ���� H��� ������� ���� �� ���� ����� �6����� 3� ��K� ����� �� �������� G(f) ��
�� �6��'�� (�� ������ ��� ������������ �� G �� �������� ���� G(f)� �� �� �<��� ��� �� ���D
����� (G(f), X) ��� �� ���� ����� �6���� ���
������ �<������� �� ����
�(��� &��� ���� ���� (��
��������� ������������ �� G �� ���� ��� �6��������� ���� ������� ����� ����
�(�� �� ���� �6�����
�� �!6��
"�� 6����6� �6�6����
���D �� ������� (�� ������ ��� ������������ �� G ����������� ��-
�!6��
"��� ������6�� ���� ����� !����!"��D �<����
��� ��� ����
�(��� ? ������6��� ��� ����
���� �����D ����(�<�� ��� �<����
��� ��� ����
�(��� ������6�� ? (G, X) (�<�� �<��� ��� ��������
�<������� ���� ��� ������ �� (G, X)� .��
����
���D ��� ����
��� ��� �6'�� ��� �

{���(f) / f : X → X �� G(f) = G},
��D �� 
���"�� 6(���������D ��� �

{���(κ ◦ ω) /κ ∈ K �� G(κ ◦ ω) = G},
���� K �<����
��� ��� ����
6���)�� �� (G, X)�  ��� �� �!������ �������D ���� ��6��������� ���

6�!��� ��P�� ���
������ �� �������� ��� ����
����



"	�	 �������� ������-� �� ������-� �>

�����.�� ��  ��� F;	GD 6���� ����6 �� �6���� �<������������ ? ������ (G, X) ��� (�<�� �-����
�� ���� ��� ����������� �<�� ��

�� ? �� ����� ���� GD �� 6���� ����6 �� ����
6���)� κD ���
����������� (j, s, α, i) �� G ��� ���� =������������ �� �

∃E ∈ ωi(X) ��� (�� E ∪ (j, s) ∈ ωi(X) ��

{
κi(E) < κi(E ∪ (j, s)) �� α = +
κi(E) > κi(E ∪ (j, s)) �� α = −.

&���� �6'������ ��� ����C ���������� &��������D �<���"� �� ����������� 9D �<�-������� �<�� ���
E ��� ��� ��������� �6�������� ���� (�� (j, s, α, i) ���� ��� ����������� �� G(κ ◦ ω) (�� �<���
��� ��K����� � �� �� ���� (�� �<����������� (j, s, α, i) ���� =������������ �� ���� �� F;	G �� (�<����
�� ���� ��� ��6����� ���� G(κ ◦ ω)� �� ���� ����� ������� �� 
H
� ����
�(�� ? ������ �<��
)���!� (�� �� �������� ��� ����� ������������  ��� �� ���D ? 
�� ����D �� ��� ��K���� �� (����'��
�<����������� �� =������������� &<��� ����(��� �� 
� ��
��� ����������� �� �������� �� ��%
����

��
����� �����
�� �� �� *�
����

����� ���
� �
��������
 < ���
� ��

� �
 #�����
#�� ������
(G, X) �� �
 ����������� κ	 �
� �
��������
 �� G ��� *�
����

���� �� ����� �
� �
��������
 ��
G(κ◦ω)� 0���� �6'����D ��� ������������ =������������� ���� ��� ������������ �������������� ����
������� �� ����
�(�� ���(κ ◦ ω)�

"�� ��
����� �������� �� �
������

+� ���� ����� �� �6���6� �����"�� �� �� 
6�!��� �� �!�
�� ����� 6�6 �-������6D �� ��K� ��
��6����� (���� ���� ��� �������� �<�� )���!� �<������������ ? ������ ���� ������� ��� =��
�������
��� ����������� �� �!�
�� ���� �� =��
����
� (�� ��� ��� � ������6�

*�(�	�	�� 
� +�	���	� ��
	�	6 �� �����	6 �3�� ������ �3	�������	��
 7 
��	�
-
&��� �
 n������� ���
��������
� � ������ G� >
 ������� C �� G �� ��
����� r ∈ N

∗ ��� �
�
��#��
�� ((i1, s1, α1), . . . , (ir, sr, αr)) ����� #�� (ik, sk, αk, ik+1) ��� �
 ��� �� G ���� k = 1, . . . , r
�@ ir+1 ��� ���
��%� � i1 ��� ��
��
���
� "� ��)�� �� C ���

∏r
k=1 αk� "� ������� C ��� 6�6
�������

�� ��� ������� i1, . . . , ir ��
� ���� �����
����

��������� ����� (�� �� )���!� �<������������ �� (G, X) ���� ���� ������� ������= 6�6
��������
���� ��� (������(�� ����
�(�� ���(f) ������6� ? (G, X)�  <���"� �� ����������� 7D G(f) ���
�� )���!� ������� �� G�  ���D G(f) ��� ���� ������� ������= 6�6
�������� �� �� �6���� (��
G(f)D �� M������� ���� �����N �� G(f)D ��� ���� ������� ������= 6�6
��������  ���D �<���"� ��
������� �����"�� �� �� ���������� �� �!�
�� I�=� ��
��(�� 5: ��)� 7
JD ���(f) �� ���� ���
��
����� ��������� ��
�������� =����
��� �����-�� �������� �� 
����� �� 
H
�D �� �����$
���� �� ������� �����"�� �� �� ������� ���������� �� �!�
�� I�=� ��
��(�� 	� ��)� ;7JD (��
�� G ��� ���� ������� �6)���= ����� ������ ����
�(�� ������6� (G, X) �� �������� �� ����� �������

�� �6��
6D ���
� ��

� �
 n������� ���
��������
� � ������ (G, X) �

5� "� �����
�� ���
 ������� ������* ��
� G ��� �
� ��
�����
 
��������� ���� #���
� �)
��
��#�� �������� � (G, X) ��
���

� ��������� �������
��� *������
� ��

�1�� ������� ��	
�
 �����������	 ��������� ����� ��������

	� "� �����
�� ���
 ������� 
�����* ��
� G ��� �
� ��
�����
 
��������� ���� #���
� �)
��
��#�� �������� � (G, X) ��
���

� �
 �)��� �������
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1�������! ��
� �� ��� ��������� F;7G ��� �6
����6 ��� ���- �")��� �� =�/�� ���6��������
���� �� ��� �V G �������� ��- ���� �� ��� �<�� ��

�� ? �� ����� I�� ��������� ��� 
6�!���
�� ���������� ���
������ �� �� ��
���� �� ��� ����6��J�

"�" ����
������ �� �������������


+� ��6����� �<�� ������� ������= I����� �6)���=J ���� (G, X) �<��� ��� ��� ��������� ��K�����
���� (�� ������ ��� ����
�(��� ������6�� ? (G, X) ����������� ��������� ��
�������� =����
���
�����-�� ������� I����� ��� ������ �������J� %�� �� ����
6���)�� κ ���
������ )6�6����
���
�<������� �� ������ ������6�6� ����
�(���� �� ���� ����� �� (������� �� ������ (������ ���� ���
����������� ? �������� ���� ������� �� ���� ����
6���)���

%�%�� )���� ��������
��
����

 ��� �� ����6������D ��������� ����������� ��� ��� ����
"���� ������6� ? �� ������� �� 6�6
������#����
� ��������� ���� ���
����� �� ������� ��� ��(��� ����� ���� �����(�6�� �<H���
M=����������ND �<��� ? ����D �� M)6�6���N ��������� ����������� �<�� ��� ������= �� ��� ��
�����$

���� �6�����(��� ������� �<�� ��� �6)���= F��D :9D :5D 	5G� �� �����(��D ��� ����������� ��� 6�6
������� ������6�� �'� �� =�������� �� �6���
������� �� �� ������ ��� ����
"���� ���
������ �<��$
����� ��� ����
�(��� �� ������ ���� ��� ������������ �-�6��
������� F85D �
D 7;D ;:G�  ��� �����
����$�������D �� ��6����� ���������
��� ��� �����������D )6�6����
��� �����6�� ��
����
��� ��
*�
����

������

���� �� n$�6���� �<������������ ? ������ (G, X)� +�� ����������� �� =������������6 ��� 6�6
����������� ���� �� ��� �V G �������� �� ���� �� ��� �<�� ��

�� ? �� ������ �� �����$
���� ���� (�� G �6��'� ����� !����!"��� �� ��������� 6)���
��� (�� G �������� �� �������
C = ((i1, s1, α1, ), . . . , (ir, sr, αr))� ��'�D �� ������'��� �� ��

�� ir+1 I����� i0J �� ��

�� i1
I����� irJ�

+�� ����������� ���
������ ? C �<H��� =���������� =��� ���������� �� ������ ������ ��������
�����#�� F��G� 3��������
���D �� 6��� ������6�����(�� �� C ��� �� 6���D (�� �<���������� ��� ? XD
�� ���� ��(���D ���� k = 1, . . . , rD �� �� ���� ��� �� �<����������� �� ik ? ik+1 ��� �E������ ��
���E������ ��� �� ������ �� ik ��� M�����N sk−1 �� sk� �� ����6������� ��� 6���� ������6�����(���
�� C ��� ��� n$������ c = (c1, . . . , cn) �V �{

cik = sk − 1/2 ∀k ∈ {1, . . . , r}
ci ∈ Xi ∀i ∈ {1, . . . , n} \ {i1, . . . , ir}.

+�� 6���� ������6�����(���D �� ���� )6�6����
��� ��� 6���� �V �� ������ �� ��������� �����6� i ���
M�����N ���- ������� �� Xi ���� �����6� ����� ��
������� F��G� 3�� ���
������ �� ����6������ ���
������������6� ��6������ ���� ��� ����"
�� �<6(������� ��E6���������� ���6����� ��� 
������- ��
����

��� ���� ��� 6���� ������������� �� ��� ����"
�� F��D 	5G� ������ (�� ���� ������������
���� �� ����
�(�� �����!���� �6������� ��� ����������� ��� �������� ��� ����"
�� �<����������
��E6���������� ����$������� ��- ����"
�� ���6����� ��� 
������- F95D 5>D :G�

+�� ����������� �� =������������6 =��� ������� ���������� �� ������ �� ������

����� ���
 ����
������������#��� ���� f = κ◦ω ���� κ �� ����
6���)� �� �6���� (G, X) �� ω �� =������� ? ������



"	"	 ����������� 
� -������������� 85

�� �� �6����� ���� C �<����
��� ��� ����� �� X ��
���
�� � �
 ���� ������������#�� c �� C �

C = C1 × C2 × · · · × Cn,

{
Cik = {sk − 1, sk} ∀k ∈ {1, . . . , r}
Ci = {ci} ∀i ∈ {1, . . . , n} \ {i1, . . . , ir}.

3��������
���D ����(�� �� ����"
� �� ������ ���� �<6��� cD �� ������ �� �!�(�� �����6 i 6�����
�� ��������� �<�� ������ ����� ��
���� ����� �� ���� ������ �� �� ���� )����� ������ ����� ��� fi

? �<���6����� �� ���� C� �� i ��� ��� �����6 �� ������� ����� ci ��� �� ������ �� �������������
���)����� I��
���� ����� ���- �������J �� �� ������"�� (�� �� ������ �� i ��� M������������N �� �

min
x∈C

fi(x) < ci < max
x∈C

fi(x).

�� ������ ��� �����6� �� ������� ��� �� ������ ������������ ? �<6��� cD �� ���� (�� �� ������
��
����$�� �� c ��� ������

����� �� ��� �����6 i �<��� ��� ���� �� �������D ����� ci ��� �� ������
�� ������������� �6)����� Ici ∈ XiJ �� �� ������"�� (�� �� ������ �� i ��� M������������N �� �

min
x∈C

fi(x) = ci = max
x∈C

fi(x).

&� �� ������ ��
����$�� �� c ��� ������

����	 �� �� �� 
����� �� ���#�� �
���� ���� �� ������� ���
������

���� � ������ c	 �����	 ������ ������������#�� c ��� ������

���� F��G�  ��� �� ���D �� �������
C ��� ��� =���������� F��D 8
D :9D :5G� +�� ����������� ���
������ ? C �<H��� =���������� ����
���� ������ (�� ���
������ ? �� 6��� ������6�����(�� c �� ������� �<H��� �������������

%�%�� )���� ��������
��
���� ����
����
��� �� �
���
�� ������

 ��� �� �!������ 9D ���� ����� �6
����6 (�� �� ��6����� �<�� ������� ������= ���� �� 
����
��� #��������� ∂f(x, ε) ��� ��� ��������� �6�������� ���� �� ��6����� �� ��������� ��
��������
=����
��� �����-�� ������� ���� �� ����
�(�� ���(f) I�=� ���������� 	 ��)� 9>J�  ��� �����
����$�������D �� 
����� (�� �� ��6����� �<�� ������� ���� ��� #��������� �� f �
���(�� ��
������������6 �� �� ������ ���)���"�� �<�� 6��� ������6�����(�� ������6 �� ��������

�� ������� �������� (�� (G, X) ��� �� �6���� �V �� �-���� �� ���� �� ��� �<�� ��

�� ? ��
����� ���� G� �� ������� 6)���
��� (�� f = κ◦ωD κ �� ω 6���� ����������
��� �� ����
6���)�
�� �� =������� ? ������ �� �6����� �� C = ((i1, α1), . . . , (ir, αr)) ��� �� ������� �<��� #���������
∂f(x, ε)D �<���"� �� ����������� 9D G �������� �� ������� C = ((i1, s1, α1, ), . . . , (ir, sr, αr)) ���� �

sk = max(xik , xik + εik) (k = 1, . . . , r).

0����D x ��� �� 6��� �������� ? �<6��� ������6�����(�� c �� C �6'�� ��� �{
cik = xik + εik/2 ∀k ∈ {1, . . . , r}
ci = xi ∀i ∈ {1, . . . , n} \ {i1, . . . , ir}.

 � ����D ��

� C ��� �� ������� �� ∂f(x, ε)D ��� �6'������D ���� k = 1, . . . , r �

fik(x) < cik < fik(xik−1�εik−1 ) �� fik(x) > cik > fik(xik−1�εik−1 ).

��D ���� k = 1, . . . , rD xik−1�εik−1 ��� �� 6��� �������� ? c� �� �� �6���� (�� �� ������ ���)���"��
�� c ��� �������������
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0����D �� ������

����� �� �� ������ ��
����$�� ���
 ���� ������������#�� ������� � �
 ����
���� ������* ��� �
� ��
�����
 
��������� ���� �� �����
�� �� ��������� �������
��� *������
�
��

�1�� �������� ���� ����� ��� ��� ���
�"�� ������ *������� �� ���� ����� �� ������������6
�<�� 6��� ������6�����(�� ������6 ? �� ������� ������= I(�� ���
�� �� =������������6 �� �� �������J
�� �� ��6����� �� ��������� ������������

������ (�� �� ������������6 �� �� ������ ���)���"�� �<�� 6��� ������6�����(�� ������6 ? ��
������� ������= ��� ��� ��������� �6�������� ���� �� ��6����� �� ��������� ����������� (�� ���
���� =����� (�� �� ��6����� �<�� ������� ������= ���� ��� #��������� �� f � 0����
��� ���D
�� ������������6 �� �� ������ ���)���"�� �<�� 6��� ������6�����(�� ������6 ? �� ������� ������=
�<�
���(�� ��� �6��������
��� �� ��6����� �<�� ������� ������= ���� ��� #��������� �� f �

%�%�& ������
���� ���� �� �������� �� �
���
�� ������

 ��� �� ��� )6�6���D ���� ����(�� ��������� ������������ �<�� ��

�� ? �� ����� ���� ����$
���6��D �� ��6����� �<�� ������� ������= ���� ��� #��������� �� f ��� ��� ��������� �6��������
=���� ���� �� ��6����� �� ��������� ������������ +� ��6����� �<�� ������� �6)���= ���� ��� #���$
������ ��� ����$H��� 6)���
��� �6�������� ���� �� ��6����� �� ������ ������� I�=� ��
��(�� 	8
��)� ;7J� &<��� ����(��� 
� ������� �� ���� ��� ��
����
��� �� *�
����

����� ���
 ������� �����
������ #�� ��������
� � �� ������� �� �� ��������� ��������
� ��
� �
� �������

� �� f � %���
��6���6
��� �

*�(�	�	�� 
� &��� �
 (������(�� n������� ���
��������
� � ������ (G, X) ��
��
�
� �
 �������
C = ((i1, s1, α1, ), . . . , (ir, sr, αr))� &��� ω �� *�
����
 � ������ �� �� ������� &��� �
 6��� x ∈ X

������6 �� �������	 ����� � ����	 ��� #�� xik ∈ {sk − 1, sk} ���� k = 1, . . . , r� >
 ����������� κ
�� (G, X) ���
�� �� ������� �<H��� x$=���������� �� ���� k = 1, . . . , r <

{
κik(ωik(x) \ (ik−1, sk−1)) < sk ≤ κik(ωik(x) ∪ (ik−1, sk−1)) �� αik−1

= +1
κik(ωik(x) \ (ik−1, sk−1)) ≥ sk > κik(ωik(x) ∪ (ik−1, sk−1)) �� αik−1

= −1

7i0 ��� ���
��%� � ir8�

�� ��������� ��� ��������� �� ����� �6'������D �� ���� f = κ ◦ ω�  <���"� �� ����������� 9D
�� ��� ����� (�� �� κ ���
�� �� ������� C �<H��� x$=���������� �����D ���� ���� ε ∈ VX(x) ����
(�� xik + εik ∈ {sk − 1, sk}D ((i1, α1, ), . . . , (ir, αr)) ��� �� ������� �� ∂f(x, ε)� 3������
���D
�������� �<���"� �� ����������� 9D �� ∂f(x, ε) �������� �� ������� ((i1, α1, ), . . . , (ir, αr)) ����� G
�������� �� ������� ((i1, s1, α1, ), . . . , (ir, sr, αr))D x ��� �� 6��� ������6 ? �� ������� �� κ ���
��
? �� ������� �<H��� x$=����������� +�� ���������� ���� �� x$=������������6 �<�� ������� ���� ����
�6��������� �� ��K������ ���� ��������� �� ������� �� (������� ���� ��� #��������� 6����6� ?
�<6��� x� 0����
��� ���D ��� ���������� �-���
��� �� ��6����� �<�� ������� ���� ��� #���������
�� ��������� ���(��
��� �� ���)�)� �� �� 
6�!��� �� �!�
���

���� �������D �<���"� �� (�� ����� �<H��� ���D �� x�*�
����

����� ���
 ������� ������* ��� �
�
��
�����
 
��������� ���� �� �����
�� �� ��������� ������������  � ����D �� ����� ������� �<���
x$=���������� ����� ������ ��� #���������� �� f ���� ���� ��������  ���D �<���"� �� �!6��"
� 	
I��)� 79JD f ��
�� �� ����� '-� ���(�� ξD �� �<���"� �� ��

� �� ���� ����� �!�
�� I��)� 98JD
���� ���� x ∈ XD �� �-���� �� ���� ����� �!�
�� �� x ? ξ ���� ���(f)�
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�����.�� �
 �� 6������� �� =�/�� ��������� �� �6'������ ��� 6���� ������6�����(��� �<��
������� �� ��� )6�6���D ��� �������� ��E6����� ������� ��
����� ��� 
H
�� 6���� ������6�����(����
�� �E��D �� G �������� �� ������� ������= ((i1, s1, α1, ), . . . , (ir, sr, αr)) �� �� ������� �6)���=
((i1, s1, α

′
1, ), . . . , (ir, sr, α

′
r)) �����D ��

� ��� ���- �������� ��
������ ��� 
H
�� ��

��� ��

��� 
H
�� ������D ��� ���- �������� ��
������ ��� 
H
�� 6���� ������6�����(���� &<��� ����(���
�� �6'������ �� �� =������������6 �<�� ������� ���� �� ��� )6�6��� ���� �-�������
��� ������� ��
��
��� ��� ��)��� ��� ������������ �� ��������

�����.�� �� ��������� (�� G ��������� �� ���� �� ��� �<�� ��

�� ? �� ������  <���"�
�� ������� 7�7�	D �� �� ������� ��� x$=���������� ����� �� ������ ���)���"�� �� �<6��� ������6�����(��
c �� ������� ��� (�� x ��� �������� ? c ��� ������������D 
��� �� �6�����(�� ��� )6�6����
���
=������ �����=���D ��� ���������� ���� �� =������������6 �<�� ������� ������� ��� �� ������ �<6���
������6�����(�� ��� 6�6 ��������
��� ����������� �� 5>>9 ��� ������� �� �!�
�� F��G ���� ��
����� �V �� �6)������� �� ���� ��� �)�� ��� ��E6������ ������ ���� �� 
H
� ����� �

∀i, k ∈ {1, . . . , n}, (j, s) ∈ Gi ⇒ (j, s) �∈ Gk. I7�9J

���� ����� !����!"��� �����6
�������D �� ��� �������� �� 
������ (�� �� �� ������ ���)���"�� �<��
6��� ������6�����(�� c �<�� ������� ��� ������������ ����� �� ������� ��� x$=���������� ���� ����
��� 6���� x ��������� ? c� +<!����!"�� I7�9J ��� ������� ������6� F8:D 8�D ��D 	5G� &<��� ��������
��� !����!"�� =����� %�� �-�
���D �� X = {0, 1}nD ���� �
���� ? �!�(�� ��

�� �� G �<�����
�� ���� �� �����������

"�& ����������

 ��� �� �!������D ���� ����� ������6 ��� =��
��������� �� �� 
6�!��� �� ���6 �!�
��
���� ��(����� �� �6)������� ���� ������� ��Y�� ��!���� ��� ����� ������� ��������� ������� +�
����� �� ��
��� �� �� ���� �� �6)������� ���� �� 
6�!��� �� �!�
�� ���� �-�������� �� ��
���� (�� ����� ����
�(�� �����!���� ���(f)D f : X → XD ���� H��� ������� ? ������ �<��
�6���� �<������������ ? ������ (G, X)� %��� ��6���6
���D ���� ����� 
����6 (�� ���� �����
����
�(�� ���(f)D f : X → XD �� �-���� �� ���� ����� �6���� (G(f), X) ���
������ �<�������
����� ����
�(�� S �� )���!� �<������������ ? ������ G(f) �� �� �6���� 6���� �6'�� �� 
���"��
��������� �� ��������� �� �6���6� ��� ������� �� f � ���� ����� ������� =��
��6 ��� �����������
�� �!�
��D (�� ���� ������ �6
����6 ���� �� �!������ 9D ���� �� ������� �����-��� ��'�D
���� ����� 
����6 (�<�� ��� �6�������� �<�����(��� ��� ������ ��� ����������� �� =������������6
��� �� ������� ������= ���� ������� ��� ����
�(�� ��������� ��������� �����������D �� ������6
��� �6'������ �� �� =������������6 �<�� ������� ���� �� ��� )6�6����



87 �������� "	 )�� �� �����
� 
� ���� %�����



�������� �

��������� �� ���
��� ��� �������

�� �����(��D ����(�� �<�� 
��6���� �� ����
�(�� �<�� �6���� �� �6)������� �����)�(�� ���$
���� �� 
6�!��� �� �!�
��D �� ��

���� ��� �� ����6������ ���� �� =��
� �<�� n$�6����
�<������������ ? ������ (G, X)� �� ���!���!� ������� �� 
��"�� ������D �<��� ? ����D ��� ����$

�(�� ������6� �� �6���� (�� �� ��������� ��� ��� ������������ �-�6��
�������� +� �T�!� �<���
��� ��
���� �� �E��D ��� ��
�����
���� ������6�� ������� H��� ��������
��� ��
���-��D �� ��
�-���� )6�6����
��� �� ��"� )���� ��
��� �� ����
�(��� ����������

&��������D �� ������� ��� ������6�6� ������6�� ������� �<�-���
�� =��
����
��� ? �<����
�<��� ����#�� ���������� ����� (�� �� M����������
�� ���� "����N I&�+J� +� *������ ����������
������� ���� ����� H��� �6��'6� �K����
��� ��� ��� ����
�(�� ����6� ? �<���� ��� ��)����!
��
�� M����� ����9�
�N� +<6���� �� �� ���������� �<��� ����
�(�� ���� ���� H��� ����
����6��
&��� ���� � �
��6 ? �6�������� �� ��������� �� ��)�����D �����6 �������� F�D 99GD (�� �����
�� ��)�
��� �� �6���� (G, X)D ��� =��
��� �� &�+D �� �������� �<����
��� ��� ����
�(���
������6�� �� �6���� �������� ����� =��
����

&���� ���!���!� ����
���(�� �� �<����
��� ��� ����
�(��� ������� ��6����� ��������� ���6$
�H��� %��
�"��
���D �� �<����
��� �������6 ��� ����D ���� ���� ���� (�� ������ ��� ����
�(���
������6�� ? (G, X) ������������ ��� ������������ �����)�(���� 3� =��� ����� ������ �� )���!� �<��$
���������� G �� �� ��
������D ��� �-�
���D (�<����� ���� ��� ������������ �� �����6� �����)�(���
�������������� (�� ���������� ���
����� �<������� ��� ��
�����
���� ������6��  ��-�"
�
���D
�� �<����
��� ��� 
��"��� �6��������6� ��� ��� ����D ����� ��� ������6�6� ��

���� ? ������ ���
����
�(���D �� �� ������������� ��� ��- ������6�6� ������� �������� �� &�+D ������� H���
������ ��

� ��� ��6��������� ��'�D ��� ������6�6� (�� �� ���� ��� ��

���� ��- ����
�(���
�6��������6�� ������� ��))6��� ��� ��!6
�� �<�-�6������� (��D �� ����� 6������ �6����6��D ���
��$
������� �� �6����� �� ��
��� �� 
��"��� ��������

 ��� �� �!������D ���� ��6������� �� 
6�!��� ������6� ��� �������� ���� �6����������
�<����
��� ��� ����
�(��� ������6�� ? �� �6���� (�� �6��'��� ��� =��
��� �� &�+� &����

6�!��� ��� �� ���� M����� =����N ��� ������ ��� ����
�(��� ������6�� �� �6���� ���� ����6���
�������D ���� ��������� �������� ���� 
��6����� �� ����
�(�� �� ����"
� �� �6)�������
)6�6��(�� �����B���� �<�

����6 ���"� ��� ��=������ ��� �� ����6����!�)� λ� &� ����"
� � 6�6

��6���6 ���  ���� �!��E�� �� ���6 �!�
�� F85GD ��D �� ������� �� 
H
� �6���� (G, X)D ����

������� (�<�� ��� �������� �� �6���������� ����
���(��
��� �� ����
��� �� 40 ����
�(���
�����=������ ��� ����"��� �� ���������� ������6� ��� �!��E�� �� �!�
��� ���� ������� (�� ���
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#��� ��� �������

����
��� �������� �� ����
�(�� ������6� ��� ��� �������D ����� �<��� ����
�(�� (�� ����
H��� ������� ? ������ �<�� )���!� �<������������ �� ��������� (�� ���- ��������D ����� (�� ����
�������� ���� ��6����� ���� �� )���!� �<������������ G ��������
��� ������6�6�

&�� �
�

����� ��� ����������

���� n$�6���� �<������������ ? ������ (G, X) �� ���� ω �� =������� ? ������ �� �� �6����� +�

6�!��� ������6� ���� 6��
6��� ������ ��� ����
�(��� ������6�� ? (G, X) ��� ����� �� ����
M����� =����N� ������"��
���D ���� �������� ? 6��
6��� ���� ��� ������������ ��
���#��� ��
(G, X)D ���� ������ ��� ������������

κ = (κ1, . . . , κn) : ω(X) → X, κi : ωi(X) → Xi (i = 1, . . . , n),

���� �� ������� (�� ��� ����
6���)�� )6�6��(��� κ ���� (�� ���(κ ◦ ω) ��� ��� ����
�(��
������6� ? (G, X)� *� ����
6���)� )6�6��(�� κ ���
������ �� �6'��� ��� ����
�(�� ������6�
? (G, X) ���� �����6 �� ����������� ������
��

%��� �6��'�� (�<�� ����
6���)� )6�6��(�� κ ��� �� ����
6���)� ��!6����D �� � � ���-
����������6�� +� ���
�"�� �������� ? �6��'�� �� �� ����
6���)� )6�6��(�� κ ��� �� ����
6���)�
�� (G, X) �� ���� �� �� �6'������ 	5 ��)� �	� +� ������� �������� ? �6��'�� �� �� )���!�
�<������������ ? ������ G(κ ◦ ω) ��� �� )���!� ������� �� G I�=� ���������� 7 ��)� �8J� ����
������� (�<�� ���
� �� ��
���-��6D ��� ���- 
6�!���� ���� ������(���� &��������D ���� ��
������� 
6�!���D �� ��� �������� �� )6��� �� 
���"�� ��
��� �� �����"
� ��������� �� =��� (��
�� ��
����- ����
6���)�� )6�6��(��� ������� �6'��� �� 
H
� ����
�(���

����� $���
�� ��� �����������

�� ���
� �<�K�����6D ��� ����� M����������N ��� �����6
���(�� ����(�� �<��� �<6��
6������
��� ����
�(��� (�� ���� ��6������� 0'� �<6����� ����� ����������D ���� ������ �6����� ��
��
���� �� ��������� �� �������� ����
"�����

)����	�� � /��
� ��

� �
 n������� ���
��������
� (G, X) �� *�
����
 � ������ ω	 ���� ���#��
i ∈ {1, . . . , n} �� E ∈ ωi(X)	 �
 
����� Ni(E) �� ������
������ �� Xi ��%
�� ��� <

Ni(E) = {xi /x ∈ X �� ωi(x) = E}.
Ni(E) ��� �<����
��� ��� ������- �� ������������� ������������ �<H��� ���� ��� �<�����6 i

����(�� E ��� �<����
��� �� ��� ����6�� �E�������� &<��� �� ���������� �� Xi� %��� �<�� ����������D
��������� (�� �� ����"
� ���� ���� �� 6��� x ��� (�� ωi(x) = E (�� 
���
��� �� ������ �� i
Ixi = min(Ni(E))J� 0����D ���(�<? ��������� �� ����� s �<��� ����������� �� i ��� ���$
H
�D ��
���� ��)
����� ���)�������
��� �� ������ �� i ���� �!��)�� �<����
��� �� ��� ����6�� �E��������
�� �� ����� !����!6��(�� s �<��� ��
��� ��������6 ����� �� � Ni(E) = {xi, xi +1, . . . ,max(Xi)}D
�� �� �� ����� s �-����D �� � Ni(E) = {xi, xi + 1, . . . , s − 1}�

0'� �� ��
������� �<���)��� �� �� M����������ND ��������� Ni(E) = {a, a+1, . . . , b} ����
min(Xi) < a − 1 �� b + 1 < max(Xi)� �� ����6����� �� ��������� ��

� ���� �

a − 1 b + 1a bmin(Xi) max(Xi)

Ni(E)

�����
 	� i
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&�����6���� �� ����
6���)� )6�6��(�� κ ��� (�� κi(E) = b + 1� +���(�� E ��� �<����
���
��� ����6�� �E������� �� iD �� ������ �� i ��� �������
��� ��=6����� �� ����
"��� κi(E)� %��
����6(����D �� ������ �� i ��� �� ��)
�������� �

a b

κi(E)

�� �� ��)
���� �<��� ����6 κi(E) �� �������� ���!��)6� �� ������ ��� ������ ����
"����D ��
����
�(�� �<��� ��� 
���'6�� �� �E��D �� ������ �� i ��� �������� �� ��)
�������� �"� ����
(�� �<����
��� �� ��� ����6�� �E������� ��� E �

a b

κi(E)

%��� )6�6����
���D ��� ��������� �� ���� ����
"��� κi(E) ����� b + 1 �� max(Xi) �� �!��)�
��� �� ����
�(��� %��� ��� 
H
�� �������D ��� ��������� �� κi(E) ����� a−1 �� min(Xi) ������
6)���
��� �� ����
�(�� ���!��)6�� %�� ������D ��� ��������� �� κi(E) ����� a−1 �� b+1 ������
�6��������
��� ��� 
���'������ �� �� ����
�(�� ��

� �<�������� �� ')��� ;�5� ��� �� ���� ��
��� ������������D ���� ������ �������� ? �!�(�� ����
"��� κi(E) �� ��
���� �� ��������� (��
�� �������� (�� ��� ������- �� Xi ��
���� ����� min(Ni(E)) − 1 �� max(Ni(E)) + 1�

*�(�	�	�� 
! +��
����� �	�	��� �� �����������
 �����	.��
-
&��� �
 n������� ���
��������
� � ������ (G, X) �� *�
����
 � ������ ω� "�����
��� 
���
�� ��
����
6���)�� )6�6��(��� �� (G, X) ��� ���
������ ��� ������������ ��
���#��� κ ���� #�� <

∀i ∈ {1, . . . , n}, ∀E ∈ ωi(X), min(Ni(E)) − 1 ≤ κi(E) ≤ max(Ni(E)) + 1.

#����
	�	�� � &��� �
 n������� ���
��������
� (G, X) �� *�
����
 � ������ ω� &���K ���
������
��
���� �� ������������ ��
���#��� �� �������

;� ���� ���� ����������� ��
���#�� κ	 �� �1���� κ′ ∈ K ��� #�� ���(κ ◦ ω) = ���(κ′ ◦ ω)�

=� &� κ, κ′ ∈ K �� κ �= κ′ ����� ���(κ ◦ ω) �= ���(κ′ ◦ ω)�

������ D �<����
��� ��� ����
�(��� �������� ? ������ ��� ����
6���)�� )6�6��(��� ��
(G, X)� +<����
��� 
���
�� �� ����
6���)�� )6�6��(��� K ���
�� �� �6'��� ������ ��� ����$

�(��� �� DD ��D �� ��� �� ����������6 |D|� &<��� �� �� ���� (�<�� ��� 
���
���  � ����D ����
6��
6��� ��� ����
6���)�� �� KD �� ��K� �� =���� ������ �!�(�� ����
"��� κi(E) ���� �<�����$
����� Xi ∩ {min(Ni(E)) − 1, . . . ,max(Ni(E)) + 1}�

'������ 
! n = 2D X = {0, 1, 2}2 �� G ��� ����6 ��� �� ���)��

� ������� �

1 2

2±

1±

1±

2±

 ��� ����� ������������D ��� Q"�!� �� j ? i 6��(���6� ��� s± ����(�� (�� (j, s,+, i) �� (j, s,−, i)
���� ��� ������������ �� G� ���� �
��)�P�6 ��������D ������ ��
���
��� 1 �� 2 ��� ����6�� (1, 1) ��
(2, 1) I����� (1, 2) �� (2, 2)J �� ��

�� 1 I����� 2J� �� � ω1(X) = ω2(X) = {∅, {1}, {2}, {1, 2}}�
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� ��
#��� ��� �������

a − 1 b + 1a bmin(Xi) max(Xi)

Ni(E)

�����
 	� i

a b

κi(E)

a b

κi(E)

a b

κi(E)

a b

κi(E)

a b

κi(E)

a b

κi(E)

a b

κi(E)

a b

κi(E)

���� ;�5 R ��� �����
��� 	� κi(E) ��
�� a − 1 �
 b + 1 ��
 ���������� �
 ��@���
� ���� ��	����
� �����
��� 	� ������ 	� i 
���� 
�,
���
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�� 
��������� 8>

3� � � ���� 8 ����
"����� &�

� 3 ������� ���� ��������� ���� �!�(�� ����
"���D �� �� �6����
(�� 38 = 6561 ����
6���)�� )6�6��(��� ���� ������6� �� �6�����  � =��� �� �� ��6����� ��
�������� �� ���)���� 1D �� ��
����- ����
6���)�� )6�6��(��� �6'������� �� 
H
� ����
�(���
�� �E�� �

N1(∅) = {0}
N1({1}) = {1, 2}
N1({2}) = {0}
N1({1, 2}) = {1, 2}

N2(∅) = {0, 1}
N2({1}) = {0, 1}
N2({2}) = {2}
N2({1, 2}) = {2}

 ���D ���� �<����
��� 
���
�� �� ����
6���)�� )6�6��(��� �� (G, X)D 	 ������� ���� ���������
���� ��� ����
"���� κ1(∅)D κ1({2})D κ2({2}) �� κ2({1, 2})D �� 3 ������� ���� ��������� ����
��� ������ ����
"����� �� �� �6���� (�� ��� 38 ����
6���)�� )6�6��(��� �� �6'������� (��
24 · 34 = 1296 ����
�(��� ��E6�������

�����.�� �� ��������� (�<�� �6���� (G, X) ���� M������
��� ��)�6ND �<��� ? ����D (�� �!�(��
����������� �� j ? i �� ����� s ���� ? �� =��� �������� �� �6)����� ���� G I��

� �<��� �� ��� ����
�� �6���� �� �<�-�
��� ��6�6����J� %��� ��6���6
���D ��������� �

∀i ∈ {1, . . . , n}, G+
i ∪ G−

i = ∅.

���� K �<����
��� 
���
�� �� ����
6���)�� )6�6��(��� �� (G, X)� &�

� �� �<� � ��� �<����6�
M�������
��� ��������N �� M�������
��� �6)�����ND �!�(�� ����
6���)� �� K �6'��� ��� ����$

�(�� ������6� ? (G, X)�  ���D |K| ����
�(��� ���� ������6�� �� �6����D �� ������$�� �������
H��� 6��
6�6�� �� O(|K|)�

����� $���
�� ��� �

���

���� K �<����
��� 
���
�� �� ����
6���)�� )6�6��(��� �<�� �6���� (G, X)� &�

� ����
�<����� ��� �� �6��� �� ����� �������D ���� �6��'�� �� �� ����
6���)� κ ∈ K ��� �� ����
6$
���)� ��!6����D �� ���� ���� �6��'�� �� κ �������� ��� ����������� �
���6�� ��� ��� ��)��� ���
������������ �� GD ���� �6��'�� �� G(κ ◦ ω) ��� �� )���!� ������� �� G I�=� ���������� 7 ��)� �8J�
&��������D �� ��� �������� (�� κ ���� �� ����
6���)� ��!6���� ���� ���� ������ H��� �� ����$

6���)� �� (G, X)� 0����D ���� �6��'�� (�<�� ����
6���)� )6�6��(�� κ ∈ K ��� ��!6����D ����
������ �6��'�� (�� G(κ◦ω) ��� �� )���!� ������� �� G� ���� ����������� ���� ���� �� �����������
�������� �

#����
	�	�� ! &��� �
 n������� ���
��������
� � ������ (G, X) �� *�
����
 � ������ ω� &���
�
K ���
������ ��
���� �� ������������ ��
���#��� �� (G, X) �� κ ∈ K� G(κ ◦ ω) ��
���
� �
�
�
��������
 (j, s, α, i) �� �� �������
� �� (j, s) ∈ Gi ��	 ���� �� ���
� �
 E ∈ ωi(X) ��� #��
E ∪ (j, s) ∈ ωi(X)	 �
 � <

;� �� j = i < {
κi(E) < s ≤ κi(E ∪ (i, s)) �� α = +1
κi(E) ≥ s > κi(E ∪ (i, s)) �� α = −1

=� �� j �= i < {
κi(E) < κi(E ∪ (j, s)) �� α = +1
κi(E) > κi(E ∪ (j, s)) �� α = −1



:
 �������� &	 ��������� 
� ��
#��� ��� �������

#���$�2 �� ���� f = κ◦ω� I⇒J ��������� (�� (j, s, α, i) ���� ��� ����������� �� G(f)� 0����D
�� �-���� x ∈ X �� ε ∈ VX(x) ���� (�� ∂fij(x, ε) = α�  ���D �<���"� �� ����������� 9D (j, s, α, i)
��� ��� ����������� �� G �� ����� s = max(xj , xj + εj) ��{

κi(ωi(x) \ (j, s)) < s′ ≤ κi(ωi(x) ∪ (j, s)) �� α = +1
κi(ωi(x) \ (j, s)) ≥ s′ > κi(ωi(x) ∪ (j, s)) �� α = −1

���� s′ = max(xi, xi + εi)� 3� ��K� �� ����� E = ωi(x) \ {(j, s)} ���� ������� ��� ��6)����6�
�� �� ������������ I⇐J ��������� (i, s) ∈ Gi ��D ���� E ∈ ωi(X) ��� (�� E ∪ (i, s) ∈ ωi(X)D
��������� �

κi(E) < s ≤ κi(E ∪ (i, s)).

���� �� 6��� x ��� (�� xj = s − 1 �� ωi(x) = E I�� �� �-���� =����
��� ��J� 0����D �<���"�
�� ����������� 9D ∂fii(x, ε) = +1 ���� ���� ε ∈ VX(x) ��� (�� εi = +1 ���� (i, s,+, i) ���
��� ����������� �� G(f)� �� 
����� �� 
H
� (�� (i, s,−, i) ��� ��� ����������� �� G(f) ��
κi(E) ≥ s > κi(E ∪ (i, s))� .�����
���D ��������� (j, s) ∈ GiD j �= iD ��D ���� E ∈ ωi(X) ���
(�� E ∪ (i, s) ∈ ωi(X)D ��������� �

κi(E) < κi(E ∪ (j, s)).

&�

� j �= i �� � Ni(E) = Ni(E ∪ (j, s))� &�

� k ∈ KD �� �� �6���� κi(E) ∈ Ni(E) ��
κi(E ∪ (j, s)) ∈ Ni(E)� ��������� κi(E) ∈ Ni(E)� 0����D �� �-���� �6��������
��� �� 6��� x ���
(�� ωi(x) = ED xi = κi(E) �� xj = s−1�  ���D �� � κi(E) < xi +1 ≤ κi(E∪ (j, s))� �� �6����
����� �� �� ����������� 9 (�� ∂fij(x, ε) = +1 ���� ���� ε ∈ VX(x) ��� (�� εi = εj = +1�  �

H
�D �� κi(E∪(j, s)) ∈ Ni(E) �����D �� �-���� �6��������
��� �� 6��� x ��� (�� ωi(x) = E∪(j, s)D
xi = κi(E ∪ (j, s)) �� xj = s�  ���D �� � κi(E) < xi ≤ κi(E ∪ (j, s)) �� �<���"� �� �����������
9D ∂fij(x, ε) = +1 ���� ���� ε ∈ VX(x) ��� (�� εi = εj = −1�  ��� ��� ���- ���D (j, s,+, i)
��� ��� ����������� �� G(f)� �� 
����� �� 
H
� (�� (j, s,−, i) ��� ��� ����������� �� G(f) ��
κi(E) > κi(E ∪ (j, s))� �

�����.�� �� ���� ��� ����6� (j, s) ∈ GiD j �= iD �� �� ����
6���)� )6�6��(�� κ �� (G, X)� ��
�")�� )6�6����D �<�-������� �<�� E ∈ ωi(X) ��� (�� E∪(j, s) ∈ ωi(X) �� α·κi(E) < α·κi(E∪(j, s))D
α ∈ {−1,+1}D �<��� ��� ��� ��������� ��K����� ���� (�� (j, s, α, i) ���� ��� ����������� ��
G(κ ◦ ω) I�=� ��
��(�� 95 ��)� �>J� &���� ��������� ������� ��K����� �� κi(E) ∈ Ni(E) ��
κi(E ∪ (j, s)) ∈ Ni(E)D ��

� �<��� �� ��� �� κ ��� ���� �<����
��� 
���
�� �� ����
6���)��
)6�6��(��� �� (G, X)�

 � ����� �� ��� �� �� ��
���-��6D ���� �6��'�� (�<�� ����
6���)� )6�6��(�� κ ∈ K ��� ��
����
6���)� �� (G, X) I�=� �6'������ 	5JD �� =���D ���� ���� i ∈ {1, . . . , n}D (j, s) ∈ G+

i ∪ G−
i ��

E ∈ ωi(X) ��� (�� E ∪ (j, s) ∈ ωi(X)D ��
����� κi(E) �� κi(E ∪ (j, s))�  <���"� �� �����������
��6�6�����D ���� �������� G(κ ◦ ω)D �� ��K�D ���� ���� i ∈ {1, . . . , n}D (j, s) ∈ Gi �� E ∈ ωi(X)
��� (�� E ∪ (j, s) ∈ ωi(X)D �� ��
����� κi(E) �� κi(E ∪ (j, s))�  ���D �� G+

i ∪ G−
i = Gi ����

i = 1, . . . , nD �� � � ������ �� ��
��������� ? =���� ���� ��� ���- ���� ������ (�<�� ���������
G(κ◦ω)D �� �6��'� (�� ���(κ◦ω) ��� ��� ����
�(�� �� (G, X)D �� �� ������� �� 
H
� ��
��
�� ���� ����� �6���� ����������� �� �������� ����� ����
�(�� I�=� ���������� 7 ��)� �8J�

 ��� �� ���� ��� ���D �� ��
��� �� ��
��������� ? =���� ���� �6��'�� �� κ ∈ K ��� ��
����
6���)� �� (G, X) �� ���� �������� G(κ ◦ ω) ��� �

1
2

n∑
i=1

|Gi| · |ωi(X)| ( |ωi(X)| ≤ 2|Gi| ).
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�� �E��D ��������� (j, s) ∈ Gi� �<�� �<�-���� ��� �<����6� �� �� =��
� (j, s′) ���� s′ �= sD �����
���� ���� E ∈ ωi(X) ��� (�� (j, s) �∈ ED �� � E ∪ (j, s) ∈ ωi(X)�  ���D ���� �<����6� (j, s)D
|ωi(X)|/2 ��
��������� ���� ? =����� %�� ������D �<�� �-���� (j, s′) ∈ Gi ����D ��� �-�
���D s′ < sD
����� �� ��
��� �� ��
��������� ���� (j, s) ��
����� �� �E��D ���� (�� E ∪ (j, s) ∈ ωi(X)D ��
��� �6�������� �<����� (j, s′) ∈ E �� (�� �<��� ��� �������� �� ����

&�� !������ �����
���� �� ����� ����/���

���� ��������� �<��� 
6�!��� ��P�� ���
������ �<6��
6��� �<����
��� ��� ����
�(���
������6�� ? �� �6���� �<������������ ? ������� �6�6����
���D ��� ����
��� ��� ��"� )���� ��
��� �� ����
�(��� �<��������� ���� ��� =���� �����)�(��� ������� +<���)� ��� ��)�(��� ��
��$
������ �� �� 
���� �!��@��) ���
�� �<����
������ �� �6������� �� ��� ����
�(��� ������� F�G�
��

����
���D ��� ��)�(��� ��
�������� ���
������ �� 
��6�������� �� �������� =��
����
���
��� ������������ �-�6��
������� ������� ��� �� ��
�����
��� �� ����"
�� +�� ��)����!
�� ��

���� �!��@��)D ���������"��
��� ����
��6� F		D 77D 9�GD ���� ����� �
����6� �'� �� �6��'��
����
���(��
��� �� ��� ����
�(�� �6��'� ��� ������6�6� ��6��'6�� ��� �� 
��6���������

 � ��
������� ��)�(��� ��
�������� ��� 6�6 ������6�� F		G� ���� ���� ������������� ���
�� ����������
�� ���� "���� I&�+J F5;D 		D 9�GD (�� ��� ��������
��� �<��� ��� ���� ������6���
&<��� ��� ��)�(�� ��
��� �� ���������"��
��� ���� �����6� ? �� =��
��������� ��� ������6�6� ��$
��
�(��� ��� ����"
�� �� ����������� '��� ���6���
������� ���� (�� ��� )���!�� �� �����������
�����!����� ������6� ? �� �6����� ���� ���
�� ����

��� �<�-���
�� ��� ������6�6� �� ����
M������ ��� 6���D �� ��� �������� (�� �� ����"
� ����� ��� �� 6��� ����6���� ����� ������6�6N�
 ��� �� �����-�� �����)�(�� (�� ��� �� �����D ���� ������� (�<�� ��� ��������� �� ������� �-���$

�� ��� M����������6� ���� �� =����ND ����

��� ����(�� ��� �!6��
"��� �� ��E6���������� ����

��6���6�� +�� ��)�(��� ����� ���6�����D ��

� �� "�
��� �������� "���� I+�+J F	9GD �� ���$

������ ��� �<�-���
�� ��� ����������6� �� ���� 
���- �����6�� ? �� =��
������� ��� ������6�6�
��� ����"
�� �� ����������� �6���
��������

����� *������ �� ��	���
��� �� �� ��	�����
���� +��� ,�

�

+�� ����"
�� �� ����������� '��� ������6�6� �� &�+ ���� ��� ���������� �� -���9�� *��
����� ��������� ��� �� ������� (S,→,L) �V S ��� �� ����
��� '�� �<6����D �V →⊆ S × S ���
��� �������� �� ���������� ������ I���� ���� �� )���!� ������6 (S,→)D �!�(�� ��

�� � ��

���� �� ����������JD �� �V L ��� ��� ����������� (�� ������� ? �!�(�� 6��� s ∈ SD �<����
���
L(s) ��� ����������
� �����#��� ������ ���� �<6��� s� �� ���� )6�6����
��� AP �<����
���
��� ������������ ������ ���� �� 
���� �� 6���� +� �6
����(�� �� �� ��������� ��� ����6� ���
�<����
��� �� ��� ������������ I���=��� �����6�� �!�
��� �� �-6�������J ���� �<����
��� ��� �6$
(������ (s0, s1, . . . ) ������ (�� si → si+1 ���� ���� i ∈ N�

W ������ ��� ������������ ���
�(���D ��� ��6������� ��)�(��� �� &�+ ���
������ �<6�������
��� =��
���� (�� �<�������"���� ��� �<����
��� ��� ������������ ρ(s) ������� �<�� 6��� s ∈ S ��
�� ������)�� ��� ��6������� ��)�(��� !��������D ��� #��
��%������� �� �����
� �
�������� ��
�1����
�����D ���6� ����������
��� A �� ED �� ��� ���������� ��������� XD FD G �� U� %�6���6
���D
�� �����-� ��� =��
���� �� &�+ ��� �6'��� �� =�/�� ��������� ��� �

�7� ��
��	���� ������������ ρ(s) 
�� �� ����� 
� ������ s� 
��8 ���

�������� 4��
��������� ���� '�����
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5� ��� ������������ ���
�(��� �� AP ���� ��� =��
���� �� &�+ S

	� �� φ �� ψ ���� ��� =��
���� �� &�+ ����� ¬φD φ ∧ ψD φ ∨ ψD φ ⇒ ψD AXφD EXφD AFφD EFφD
AGφD EGφD A[φUψ] �� E[φUψ] �� ���� 6)���
����

+� �6
����(�� �� &�+D ���� �� �������� �� �����=������ |= ����� �� 6��� s ∈ S �� ��� =��
����
�� &�+D ��� ���������
��� �6'��� ��� �

s |= p ⇐⇒ p ∈ L(s)
s |= ¬φ ⇐⇒ s �|= φ1

s |= φ ∧ ψ ⇐⇒ s |= φ �� s |= ψ
s |= φ ∨ ψ ⇐⇒ s |= φ �� s |= ψ
s |= φ ⇒ ψ ⇐⇒ s �|= φ �� s |= ψ
s |= AXφ ⇐⇒ ∀(s0, s1, . . . ) ∈ ρ(s), s1 |= φ
s |= EXφ ⇐⇒ ∃(s0, s1, . . . ) ∈ ρ(s), s1 |= φ
s |= AFφ ⇐⇒ ∀(s0, s1, . . . ) ∈ ρ(s), ∃i ≥ 0, si |= φ
s |= EFφ ⇐⇒ ∃(s0, s1, . . . ) ∈ ρ(s), ∃i ≥ 0, si |= φ
s |= AGφ ⇐⇒ ∀(s0, s1, . . . ) ∈ ρ(s), ∀i ≥ 0, si |= φ
s |= EGφ ⇐⇒ ∃(s0, s1, . . . ) ∈ ρ(s), ∀i ≥ 0, si |= φ
s |= A[φUψ] ⇐⇒ ∀(s0, s1, . . . ) ∈ ρ(s), ∃j ≥ 0, sj |= ψ �� si |= φ ∀i < j
s |= E[φUψ] ⇐⇒ ∃(s0, s1, . . . ) ∈ ρ(s), ∃j ≥ 0, sj |= ψ �� si |= φ ∀i < j

�� s |= φD �� ��� (�� s �����=��� I������D �� �6��'�J �� =��
��� φD �� �� s |= φ ���� ���� s ∈ SD
�� ��� (�� �� ��������� �� L���@� ������6�6� �����=��� �� =��
��� φ�

3��������
���D X ��� �<��6������ M��X�N � �� =��
��� AXφ I����� EXφ1J ��� �6��'6� ��� s �� φ
��� �6��'6� ��� ���� I����� �� 
���� ��J ���������� �� s� F ��� �<��6������ MF����N � �� =��
���
AFφ I����� EFφ1J ��� �6��'6� ��� s �� ���� I����� �� 
���� ��J �!�
�� ������� �� s �
"�� ? ��
6��� �V φ ��� �6��'6�� G ��� �<��6������ MG������N � �� =��
��� AGφ I����� EGφ1J ��� �6��'6� ���
s �� ���� I����� �� 
���� ��J �!�
�� ������� �� s �� ����� (�� ��� ��� 6���� �V φ ��� �6��'6�� U
��� �<��6������ MU����N � �� =��
��� A[φ1Uφ2] I����� E[φ1Uφ2]J ��� �6��'6� ��� s �� ���� I����� ��

���� ��J �!�
�� ������� �� s �� ����� (�� ��� ��� 6���� �V φ ��� �6��'6� ����� �<���������
�� 6��� �V ψ �<���� ���� ��������� ��� �-�
���� �� =��
���� �� &�+ ���� �� ������� ���������

����� #��	����

���� �������D ���� ����� ���D �<����
��� ��� 6���� S ��� �� ������ '�� ? n ��
������� X ��
�<����
��� ��� ������������ ��������� ��� ����6 ��� �� )���!� �� ����������� �����!���� ���(f)
�<��� ����������� f : X → X� &�������� �<����
��� ��(f) ��� ����������� �� )���!� �<��� ���
������'���� ? ��� �������� �� ���������� ������ � ��� ������ '-�� �� f I�� ��- �����J �<��� ���
�� ���������� ���� ���(f)� �����=���D �� �������� ? ��(f) �<����
��� ��� ������� (x, x) ����
(�� x ��� �� ����� '-� �� f D �� �������D ���� �!��)�� �� ����
�(��D ��� �������� ������� %���
=���� �<�� )���!� �� ����������� �����!���� ��� ��������� �� L���@�D �� ��K� ���� �� �������
�� ��
��� ����� ��������6 �� �<�������� ? �!�(�� 6��� x ∈ X �� ����
��� L(x) �� ������������
���
�(��� ������ ���� ��� 6���� %��� ���� x ∈ XD �� �� ���������� ��� ������������ ���
�(���
��������� �

L(x) = {xi ∼ l / i ∈ {1, . . . , n}, ∼∈ {=, <,>,≤,≥}, l ∈ Xi �� xi ∼ l}∪
{xi ∼ xj / i, j ∈ {1, . . . , n}, ∼∈ {=, <,>,≤,≥}, �� xi ∼ xj }∪
{xi ∼ fi / i ∈ {1, . . . , n}, ∼∈ {=, <,>,≤,≥} �� xi ∼ fi(x) }
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+<�������6������ �� L ��� 6�������� %�� �-�
���D �� ����������� ���
�(�� xi = l ��� ����� ����
���� ��� 6���� �V �� ������ �� �<�����6 i ��� lD �� �� ����������� ���
�(�� xi = fi ��� ����� ����
���� ��� 6���� �V �� ������ �� i ��� �������

���� ������� 
��������� ������ ��� �-�
���� �� =��
���� &�+� %��� ���� x ∈ XD ��
������ state(x) �� =��
���

x1 = x1 ∧ · · · ∧ xn = xn

(�� �<��� �6��'6� (�� ��� �<6��� x� �� ������ ����� steady �� =��
���

x1 = f1 ∧ · · · ∧ xn = fn

(�� �<��� �6��'6� (�� ��� ��� 6���� �������� +�� ������6�6� =�6(��

��� ��������� �� &�+
���������� �<�����)�������6 �<�� 6��� �� �<��� ������6�6� �� ������� ���� ���� �<��6������ EF�
%�� �-�
���D �� =��
���

state(x) ⇒ (EF(steady ∧ xi < 1) ∧ EF(steady ∧ xi > 1))

�� ������� ��� M������ �<6��� xD �� ��� �������� �<��������� �� 6��� ������ �V �� ������ �� i ���
�������
��� ��=6����� ? 1 �� �� ����� 6��� ������ �V �� ������ �� i ��� �������
��� ���6����� ? 1N�
&� ���� �� =��
��� ���
�� �� �6����� ��� �!6��
"��� �� ��E6���������� �V ������ �� 6��� �������
����6������� �� ����"
� ��� ��E6�����6D ��������� 6���� ������� ���� )6�6����
��� �����)������
F:9D 7;G� +<��6������ AF ���
�� �<�-���
�� ��� ������6�6� ��6��������� %�� �-�
��� �

state(x) ⇒ AF((state(y) ∨ state(z)) ∧ AF(state(x))).

��� ����� �� ������ ��� ������������ (�� ������� �� �<6��� x ������� ��� �<6��� y �� �<6��� z �����
�� ������� �� x�  � ������ M6����� ����)�������N ������� ���������� ��� ������ ������6)�6�� ����
6���������
��� 
���'�� �� ��
�����
��� �� ����"
�� +<��6������ AG ���
�� �<�-���
�� ���
����������� +� =��
���

state(x) ⇒ AG(xi < xj)

��� ����� ��D ������ �<6��� xD (��� (�<�� ������D �� ������ �� i ���� ��=6����� �� ������ �� j� +��
��6������� EU �� AU ���
������ �� �6����� ��� ���!�O��
���� �� ������6�6�� %�� �-�
���D

state(x) ⇒ E[(xi < fi)U(E[(xi = fi)U(xi > fi)])]

�� ������� ��� M������ �<6��� xD �� �-���� �� =���� �V �� ������ �� i ��)
���� ���� ��
����N�
+� =��
���

(xj = 0) ⇒ A[(xj = 0 ∧ xi ≥ fi)U(xi = 0)]

����(�� (�� ����(�� �� ������ �� j ��� ���D ����� �� i '���� ��� �<H��� �����D �� ���� (�<�� ��
�<��� ���D �� ������ �� j ����� ��� �� ����� �� i ��
���� I��D ���� ��6���6
���D �� ���� ���
��)
�����J� &� ���� �� =��
��� ���� H��� ������6� ���� �6����� (����������
��� ��� ����6��
���6��(��� �������� ��� ��� ���!��(��� �� ����� ? 0 � F;D 5G�

 � 
���"�� )6�6����D �� &�+ ��� ��� ��)�(�� ���
������ �<�-���
�� ���������
��� ���
������6�6� ����
�(��� ��"� ��������� +�� ����6�� �����)�(��� ���������� �� ��
�����
��� ���
����"
�� �� �6)������� 6���� )6�6����
��� (�����������D �� &�+ ��
��� ���=����
��� ���� ����$
�6� ? ����� =��
����������� 3���(���� �<�-������� �� ��)�(��� ���� �-���������D ��

� �� µ$������
F7	GD ����� ������6 ���� �� �����-�� ��� �6����- �� �6)������� F5GD ���� �<���)� ��� ��������� ����
�6������
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� ��
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&�� )01��2��

���� ����� �6������6 �� ��������� �� ��)����� �� ����D �����6 �������� �,� F�D 99GD (��
����� �� ����6� �� n$�6���� �<������������ ? ������ (G, X)D ��� =��
��� �� &�+D �� ��������
�<����
��� ��� ����
�(��� ������6�� �� �6���� (�� �6��'��� �� =��
���� +<6��
6������ ��� ��$
��
�(��� ��� =���� ������� �<������!� �� �� ������� ;�5 �� �� ���=��������� ����6
���(�� ���
����
�(��� ���� �� =��
��� �� &�+ ��� �6����6� ���� �� 
���� �!��@�� ����A F5	D 55G�

*�� ����������� ��������� � ���� �� )���!� �<������������ ? ������ GD �� �6)������� �� ����
��� �)�� ��� ��� 
H
� ����� ������� ��E6����� ������ � �� �� ���� ��� ����� ��� �����������
(j, s, α, i) �� ��� ����������� (j, s′, α′, i) ���� s �= s′� +� =��
����
� �
�����6 ����� �6��
����
�6)"��
��� ���� )6�6��� (�� ����� �� �!�
�� �� �� ���� (�<�� �6)������� ���� �)�� ��������
���
�� �6)�����
��� ��� ��� 
H
� ����� ������� �� �����-�� I�<�
�������� �� �� ����� �� ��
��� ��
�� ���� �<����������� � 6�6 �����)�6� ���� �� ������� 7�5�; ��)� �;J� *�� �66������� ��"� ���������
�� ��)����� ������� ���
����� �� ������� ���� ���� �� �6���� (G, X)�

��&�� #�����

�������� ����� �� ��)�
��� �� '�!��� ��������� �� ����������� �<�� �6���� (G, X)� +�
�����-� ��� ��
���� %�� �-�
��� �

5� �<�-�������� � ��� � � ����(�� (�<�� �-���� ��� ����������� �������� �� �6)����� �� ����� �
�� �<�����6 � ? �<�����6 �� +� ���
�"�� �����6 ���� �6)���� ��������
��� �� �6)�����
���
�� ������� �����6�

	� �<�-�������� � ���� � ����(�� (�<�� �-���� ��� ���(�� ����������� �� � ��� ���$
H
� ��
(�� �����$�� ��� �������� �� �� ����� �� +<�����6 � ���� ����� ��� ��Q����� �������� ���
����$
H
� 
��� �� ���� ��� ����� ��� ��Q����� �6)����� ��� ���� 
H
��

9� �<�-�������� � ���� � ����(�� (�<�� �-���� ��� ���(�� ����������� �� � ? � �� (�� �����$��
��� �6)����� �� �� ����� �� +<�����6 � ���� ����� ��� ��Q����� �6)����� ��� � �� �� ����
��� ����� ��� ��Q����� �������� ��� ��

0��� ��� ����� �-���������D ���� ����� �6'�� �� )���!� �<������������ ? ������ ������� �

����

� ���� �

� �	�
 �

� ���� �

�

= � �

1+

1−

1− 2+

%�� �6=���D �� ������ �� �!�(�� �����6 ��� ��
���� ����� �� ���� ����� M����� �������N �� �����
�����6 ��
���6 �<��� ����6 �� �� ���� )���� ����� ������� �� ����� �����6� 0����D ���� �� '�!���
��6�6����D �� ������ �� � ��� ��
���� ����� 
 �� 5D �� ����� �� � ����� 
 �� 	� %��� ����(��� (��
�� ������ �� � ���D ��� �-�
���D ��
���� ����� 
 �� 	 �� ��K� �<������� ��	

��

&��=��
6
��� ? �� (�� � 6�6 ��� ���� �� ������� ;�5D ���� 6��
6��� ��� ����
�(��� ��$
����6�� �� �6����D �������� �������D ���� �!�(�� ����
6���)� κ �� �<����
��� 
���
�� ��
����
6���)�� ������6 �� �6����D �� )���!� �<������������ 
���
�� G(κ◦ω) ���
������ �<�������

����������� �� ��
��	 �� ���������� ���9��.	��
����� �����	��
����
����
����������
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�� ����
�(�� ���(κ◦ω) Iω ��� �� =������� ? ������ �� �6����J� �� G(κ◦ω) ��� �� )���!� �������
�� G ����� �� ����
�(�� ��� ������6� �� �6�����

&���� ������!� ���
�� ? �<����������� �<����(��� ��� ������������ M=�������������N �� �6����
(G, X)D ���� ��� ������������ (�<�� ����� �������������� ���� �-���(��� �� �!6��
"�� ������6 ��
(�� ������� ���� �� ��������� ���� ��� )���!�� �<������������ 
���
��- ������6�� %��� ��6���6$

���D �<����
��� ��� ������������ M=�������������N ��6��'6�� ��� �<����������� =��
� �� ������
)���!� �<������������ G′ (�� ��� �� )���!� ������� �� G� 0����D ��� ����
�(�� ���(κ ◦ω) ����
�E������
��� ���=����6� ? �� =��
��� �� &�+ �� G′ ⊆ G(κ ◦ ω) ⊆ G� ���� �������D �� ������
��� ������������ �� G ���� ��6��'6�� M=�������������N ����� G′ = G �� ��� ����
�(��� ������6$
�6�� ���� ������ (�� �� ������� ��� H��� �������� ���� ��� ������ �� (G, X) I�=� ������� 7�	 ��)�
�:J� &!�(�� ����
�(�� ���=����6� ? �� =��
��� �� &�+ ��Q"�� ����� �� �������6 �� �6���� (G, X)�

0����D �� ���� ��� ����� �-��������� ��6�6������ ���
������ �� �6'��� GD �<������ ����
��������� �� ���
������ �� �6'��� G′ �� G �� 
H
� ��
�� �
5� �<�-�������� � ������ � ����(�� (�<�� �-���� ��� ����������� �������� �� �6)����� �� �����

� �� � ��� � �� (�� ��� ���- ������������ ���� M=�������������N I���� ������������� ? G′J�
 ��� ��� ����
�(��� ������6�6�� �� ���
�"�� �����6 � �(��������
� �� �E�� ������= ��
�6)���= ��� �� ������� �����6 ������� �� �����-���

	� �<�-�������� � ����� � I����� � ����� �J � �� 
H
� ���� (�� �<�-�������� ��6�6�����
�� �� �<��� (�� ����� �<����������� �������� I����� �6)�����J ��� ��6��'6� =�������������
 ��� ��� ����
�(��� ������6�6�� �� ���
�"�� �����6 � �(��������
� �� �E�� ������= I�����
�6)���=J ��� �� ������� �����6 �� ���� ����� �� �E�� �6)���= I�����������=J ��� ����� �����6�

9� �<�-�������� � ������ � I����� � ������ �J ����(�� (�<�� �-���� ��� ���(�� �����������
�� � ��� � �� (�� �����$�� ��� �������� I����� �6)�����JD �� ����� � �� =������������� +�
���
�"�� �����6 � �(��������
� �� �E�� ������= I����� �6)���=J ��� �� ������� �� �� ����
��� ����� �� �E�� �6)���= I����� �6)���=J ��� ����� �����6�

0����D ���� ����(��� (�� ������ ��� ������������ �� �6���� ����6 �� �-�
��� ��$������ ����
=�������������D �� ��K� �<6����� �

����

� ���
�
 �

� �	�
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������ 6)���
��� (�� �<����������� ���� �6����� M? �� 
���N �� ��
���� �� ��������� ��� ����$

"���� �� �6����-D �� '-�� �� ������ �� �������� ����
"����� %�� �-�
���D �� �������� �

�����

���� �

����� � ����

�

�<����������� ����(�� (�� �� ����
"��� κa(∅) ��� ��� �� (�� �� ����
"��� κb({(a, 1)}) ��� ��
����
����� 0 �� 1� ��'�D �<����������� ���� 6����� ��� =��
��� &�+ ���� �� �����-� ����A� %��
�-�
���D �� �<�� ���� �6���������� ��� ����
�(��� ���� ���(���� �� ������ �� � ���� ������
�6'������
��� ? 2 ����(�� (�<�� ��� 6)�� ? 2D �� =��� ��
��6��� �� '�!��� �<����6� ���� �

����
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+�� ������������ ���
�(��� (�<�� ��� �������� �<�������� ���� ������ ����6�� ���� �� ������� ;�	�	�

��&�� #�����  ��� -�*./

&�

� �� =��
����
� ������6 ��� ��������
��� ��
���D �� �� ������� ��"� ���� ���� �� ���$
)�)� �� 
���� �!��@�� ����AD �� ���� (�� ���� �!�(�� ����
6���)� )6�6��(�� κ ��� (��
G′ ⊆ G(κ ◦ ω) ⊆ GD �� ������ �� )���!� �� ����������� �����!���� ��� �6����6 ��� �� ��)�����
����A �� ��� ��� ��������� 0����
��� ���D �� �� ����� ? ����A (�� ��� �")��� �<6����$
���� �� ����"
� �� ��� �� )���!� �� ����������� �����!����� &��� ���
�� �� ���'��� �� �����
�� ��������� ��� ���)��

�� �� �6������� �������� ������6� ��� ����A ���� ������ ������ �<�-$
������� �� ��
��� �<6����� C� ��� ��
� �������� �� ����%�� ��� ���������� ��� ��� �)��$��� ��
������ ��$� �������
�� ���� (�� ���� �� ���D ��

� �<6��
6������ �� ������ ��� ����
�(��
��� �
��������D ��� )����� 
������6 ��� ����
"���� ������� H��� '-6� ��� �<������������ %��
�-�
���D ���� �� ������� ��
������� 5

 ��������� ����6�����D �� �6��'������ �<��� =��
���
����� (�� EF(steady) ��� ��� ����
�(�� ������6� �� �������D �� ��
������� ���� 2100 6����D ��
����� (�� 	 �� 9 �������� ��

+� ��)����� ��0 �D �6������6 ��� 2���� �� #��) �� ��� ��������� F5:D 5>D 	D 9D 7D ;D 5GD
��� 6)���
��� �6��6 ? �� ��
������� �� ? �<������� �� �� ����
�(�� (���������� ��� �6����- ��
�6)������� )6�6��(��D �� �E�� �� ����������6 �� �6��'�� ��� =��
���� ��
�������� �-���
6�� ��
&�+ �� �� µ$������� +� =��
����
� ������6 ��� ���6 ��� ��� ����������� ��� ����"
�� �<����������
��E6���������� I��� ����"
�� ���
������ �� �6������ �������� �����"
�� ��� ��- ������������6�
��6������ ���� ��� ����"
�� ���6����� ��� 
������-J� &� =��
����
� ��� ���� ���!����(�6 (��
����� (�� ���� ���������D 
��� �� ��� ����� ���� ���� ��K���� ? �������� ���� �� ���)�)� ����A�
&<��� ����(��� �� '�!��� �����
�� ? ����A ��� ��0 �������� �� ����������� ��
��"�� ��
�� ����
�(�� F5G� �� 2100 6���� ���� ��������� ����� �� '�!��� ���� �������� ��- 
���� 2100

������������ �� (�� ���� �� �6��'������ �
���������

��&�& *���
�

%��� �!�(�� ����
6���)� )6�6��(�� κ ��� (�� G′ ⊆ G(κ ◦ ω) ⊆ G �� �6'������� ��� ��$
��
�(�� (�� �6��'� �� =��
��� �� &�+D �<����������� ���� �������� �� )���!� �� �����������
�����!���� ���(κ ◦ ω) I(�� ��� ������6 ��� �������� ���"� �� �6��'������ ��� 
���� �!�$
�@��)JD �� �� )���!� �<������������ 
���
�� G(κ ◦ ω) ���
������ �<������� ����� ����
�(���
 ��� �<����-� �D �� �-�
��� �� '�!��� �<����6�D �� '�!��� �����
�� ? ����AD �� �� '�!��� ��
������ ��� ����6�

&�" 3������ 4 ����
5�� �� ���������
 ���6 �� ����� λ

+�� 
6�����
�� �� �6)������� �� �� �6��������� �� ����� λD (�� ��� �� ����6����!�)� ��
�6�6D
���� ���� ������ ��� 
���- ������ ? �<!���� ��������� *�� ����!"�� ��� ����6�� �����������
��� ��� 
6�����
�� ��� ����6� ���� F;
G� &<��� �<�������� �� 6������� �� �6���� �����B����
�� �6��������� �� �!�)� λ (�� ���6 �!�
�� 
�� �� ����� ��� ������!� ��)�(�� F8	D :7D 8>D
87D 89G�  ��� ����� �������D �� ������� �� 
��"�� �� �����B�� �� �<�

����6 �!�C �� �!�)�
��
��� ������6 ���  ���� �!��E�� �� ���6 �!�
�� F85G� �� ������� �� 
H
� �6���� (G, X)D

����� �� 
����		��� � *�:;�3 �� <=>1� 
� ������� �����
��������� ���9��. 	���%	����
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���� 
������� (�<�� ��� �������� �� �6���������� ����
���(��
��� �� ����
��� �� ����
�(���
�����=������ ��� ����"��� �� ���������� ������6� ��� �!��E�� �� �!�
���

��%�� 0�! � 
��������
�� 1
���

���

+���(�� (�<�� �!�)� λD �� ���� )6�6����
��� �� �!�)� ��
�6�6D ��=���� ��� ����6���D
���- 
6�����
�� �� �6��������� ���� ���������� +� ���
��� ��� �� ����� ����(�� �� �� ������
�� ����� ����)6��(�� I���� ')��� ;�	J� +� ����� ����(�� ������� ? �� 
��� �� �� ������� !B�� ��
? �� ���6������ ��� �!�)�� =����(�6� ? �<���6����� �� �����$��� &!���� ��� �!�)�� ���� �����
��=����� ��� ������� �����D �� ����� (�� (���(��� ������ ����(��� ���������� �� �������� ��K�� ?
�6������ ����� ��� ���������� �� (���(��� !������ +� ����������� �� ������ ��� ����6����D ����
��� ����� ���� �6��������D �<� ��� ���� ��� �������� �����D �� ���� �� �6������ ����� �������� !B���D
���-������ ���� ����� �� ��� ����6)���� � �<��� �� (�<�� ������� �� ����)6��������� +<0 � �����
�<��������� ���� �� �!��
���
� ����6���� �� �-���
� �� �6��������D �� ����6��� �3 ���� �� ���
�� �!�)� λD (�� ���(�� �<�-�������� �� ���� ��� ������ )"��� �����- I�� ��� ����6(����D ���(��
�� �6�����
��� �� ����� ����(��J� &�

� �� )6��
� ����� ��� �6���(�6 �� 
H
� ��
�� �� ��
)6��
� ����6���� ? �!�(�� �������� ����������D �� ��

� �<�-�������� �� �6�������� �

�����
�� ����6��� ������ �<������ ��=������� ��� �� 
H
� �����D ����� ��������� ��� ���'����� ��- ���-
���"��� � �� ����� �� ��
������ +���(�� �<0 � ����� (����� �� )6��
� ����6���� ����� ��
�����
�<�������
�� � �� �������- ����� ���� �������� �� �� ������� ����6������ ��� �6������� &<���
!���������
��� �� =������ ���������
�����D ��� (�<��� ����������� �� �� ��6����� �� ���������
���������� �!�
�(���D (�� ��� ? �<���)��� �� �� ������� �� ����� ����(���

��%�� $����� ��
�������
��� � ���
��

+� M�!��-N ����� �� ����� ����(�� �� ����)6��(�� ��� ��"� ��
������ �� �!6��
"�� �� ��=$
=6����������D �� �� ���� (�<�� �����D ��=������ ��� �������� ������

��� ������(���D ���� ��
��
������ �� ���- 
���"��� ������
��� ��E6������� &� �!��- �6���� ����

��� �� �<�-����$
���� �� )"�� �3D ������������� ? �<6��������
��� �� �<�

����6�

+�� �6)�������� ���������- �� �3 ���� �3 ���$
H
� �� ����� ������ ����6���� ������� � ���D
�33 �� �� +� ����
�(�� (���������� �� ����"
� �� �6)������� =��
6 ��� ��� (����� �����6� �
6�6 
��6���6� ���  ���� �!��E�� �� ���6 �!�
�� F85G �� ��������� ��

� ����� �� �6���� ��
�6���� �<������������ ? ������ (G, X) �V G ��� ����6 ��� �� ')��� �������� �

�;;

�; ���

A

1−
2−

2−

1−

1+
3−

2−

1+

2+ 3−

�� �V X ��� �6'�� ��� �

X = X�� × X��� × X��� × X� ����

⎧⎪⎪⎨
⎪⎪⎩

X�� = {0, 1, 2}
X��� = {0, 1, 2, 3}
X��� = {0, 1}
X� = {0, 1}
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+� ��������� �� �6���� ��� ��������
��� ��
���-�� %�� �-�
���D �� ����6��� �3D ���� �� �B�� ���
�������D ���������� ? 2 �������� �6)���=� �� 4 �������� ������=��  "� ����D �� ��� ��"� ��K���� �� ��
=���� ��� ��6� ��� �� =�/�� ���� �� ����"
� 6������

��%�& '��	��� ��	�������

%��� 
��6����� �� ����
�(�� �� �6���� (G, X) ���� ������ �������� �<������!� �-!�������
��� 
���� �!��@��)� ���� ������ �������� �� &�+ ��� ������������� ����������� ����������
�� ��
�����
��� �� ����"
� (�� ��� 6�6 ������6�� ��� �!��E�� �� �!�
�� ���� 6������� ����

��"���

+���(�� �<0 � ����� ��� ������6 ���� ��� ������� �����D ��� ����6���� ������� �<�-������ ���
������� �� ��������� ���� (�� (0, 0, 0, 0) ��� �<6��� �������� �� &�+D ��� 6��� ��� ������6���6
��� �� =��
��� init ������� �

init : (x�� = 0 ∧ x��� = 0 ∧ x��� = 0 ∧ x� = 0)

�� �������"�� ������� �� M�!��-N ����� �� �6����� ����(�� �� ����)6��(��D (�� �<�� ������"��
���6�������� ���� �!��)�
��� ��� ���������� ���������
�������D ��� �� ��6����� �� ���- M��$
���������N �����)������ ������ �<6��� ��������

+� �6����� ����(�� ��� ������6���6� ��� ��� =���� ������������� �� ���D �<��!������� ���������
�� �3D �� ��� ��� ������� ��� ����6���� �3D �33 �� �� %��� ��6���6
���D ��

� �� ��))"�� ��
������ �6)����� ��� ��� �� ����� 3D ���� ������ �������� (�� ��� ������� �� =�/�� ������ �����
�� ������ 2 �� 3 ���� �� �� �6����� ����(��� 0����D ����� �6����� ���� ����6����6� ��� �� �����
������ ������� ��� ��� 6���� (0, 2, 0, 0) �� (0, 3, 0, 0)� �� &�+D �� ��6����� �� �� ����� ������
�<�-���
� ��� �� =��
��� attZlytique �������� �

lytique− : (x�� = 0 ∧ x��� = 2 ∧ x��� = 0 ∧ x� = 0)
lytique+ : (x�� = 0 ∧ x��� = 3 ∧ x��� = 0 ∧ x� = 0)

attZlytique : (lytique− ⇒ AX(lytique+)) ∧ (lytique+ ⇒ AX(lytique−))

+� �6����� ����)6��(�� ��� ������6���6� ��� ��� =���� ������������� �� �3 �� ��� ��� �������
��� ������ ����6����� ���� ������ ���� �������� (�� �<���������� ������������� ? ����� �6�����
��� �<6��� ������ (2, 0, 0, 0)� �� &�+D �� ��������6 �� ��� 6��� �<�-���
� ��� �� =��
��� attZlyso
�������� �

lyso : (x�� = 2 ∧ x��� = 0 ∧ x��� = 0 ∧ x� = 0)
attZlyso : lyso ⇒ AX(lyso)

��'�D �� =��� ��6����� (�� ��� ���- M�����������N ���� �����)������ ������ �<6��� ������� ���� ��
=��
��� choix �������� �

lytique : lytique− ∨ lytique+

choix : init ⇒ (EF(lytique) ∧ EF(lyso)).

�� �6��
6D ���� ������ ���� ���6������ ��- ����
�(��� ������6�� �� �6���� (G, X) �6��'��� ��
=��
��� obs �������� �

obs : choix ∧ attZlytique ∧ attZlyso
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�����.�� �! +� =��
��� attZlyso ��� �6��'6� ��� ��� ����
�(�� ���(κ ◦ ω) ������6� ��
�6���� �� �� �����
��� �� x = (2, 0, 0, 0) ��� ������ ���� �� �� �����
��� �� �⎧⎪⎪⎨

⎪⎪⎩
κ��(ω��(x)) = κ��({�3}) = 2
κ���(ω���(x))= κ���({�3})= 0
κ���(ω���(x)) = κ���({�3}) = 0
κ�(ω�(x)) = κ�({�3}) = 0

I+� ����� ��� ����6�� �E������� �<��� ��� ��6���6 ����(�<�� �-���� �� ���� ��� ����������� �<��
��

�� ? �� ����� ���� �� )���!� G�J 3� ��K� ���� �� '-�� �� ������ �� 4 ����
"���� ����
�<������� (�� ��� ����
�(��� �6��'��� attZlyso�  <��� ����D ���� ��
���� )�����
��� ��
��
��� �� ����
6���)�� ? )6�6��� �� �<����� ����D �� �6��'������ �� attZlyso ��� 
����
�!��@��) ������� ��������  � 
H
�D �� =��
��� attZlytique ��� �6��'6� ��� ��� ����
�(��
���(κ◦ω) ������6� �� �6���� �� �� �����
��� �<�� �-���� �� ����� ������ ������� ��� x = (0, 2, 0, 0)
�� y = (0, 3, 0, 0) ���� �� �� �����
��� �� �⎧⎪⎪⎨

⎪⎪⎩
κ��(ω��(x)) = κ��({���})= 0
κ���(ω���(x))= κ���(∅) =3
κ���(ω���(x)) = κ���(∅) =0
κ�(ω�(x)) = κ�({���}) =0

��

⎧⎪⎪⎨
⎪⎪⎩

κ��(ω��(y)) = κ��({���}) = 0
κ���(ω���(y))= κ���({���}) ≤ 2
κ���(ω���(y)) = κ���({���}) = 0
κ�(ω�(y)) = κ�({���}) = 0

+�� ������� ��������� ���� κ���({���}) ���� �<����
��� 
���
�� �� ����
6���)�� )6�6��(���
������6 �� �6���� ���� 2 �� 3� 3� ��K� ���� �� '-�� �� ������ �� 6 ����
"���� ���� �<�������
(�� ��� ����
�(��� �6��'��� attZlytique� 3� � � ���� 5
 ����
"���� ? '-�� ���� (�� ������
��� ����
�(��� �6��'��� attZlytique∧ attZlyso� &��������D ���� �
������� ����� �6
���!�D
�� =��� H��� =�
����� ���� ��� ������� �� =������� ? ������ �� �� ����
"��� ��)�(��� &�� �������
�� ���� ��� �6��������� ���� �<������!� ��������� �� ��)�(�� ��
������� �� �� 
���� �!��@��)�
����� ��� 6���� �� 
����� �� 6������� �� �����������6 �� ����� ������!�D ����� ����
"��� ��
���� '-6�

��%�% (���	����
�� ������
�����

 ��� �� ���
��� ��
��D ���� ������ �6���������� �<����
��� ��� ����
�(��� ���(κ ◦ ω)
������6�� ��- �6����- (�� �6��'��� obs �� (�� ��Q"���� ������ ��� ������������ �� �6���� I����
������ (�� G(κ ◦ ω) = GJ� ���� ����� !����!"��D �� �����
������ (G, X) �� �� =��
��� obs ?
�������� �

5� ���� �� 339 
������� �� ����
6���)�� )6�6��(��� κ ���� 6��
6�6�D

	� 151200 ����
6���)�� �6'������� ��� ����
�(�� ������6� �� �6����D

9� 3600 ����
6���)�� �6'������� ��� ����
�(�� (�� ��Q"�� �� �������6 �� �6����D

7� �� ���
� ��� 3600 ����
�(��� ����6��D 38 �6��'��� �� =��
��� obs�

&���� �6������� ����� � 
������ �� 9; �������� ��

+� ����� ;�5 ����� ��� ������� ������ ��� ��� ����
"���� ���� �<����
��� ��� 38 ����
6���)��
)6�6��(��� �������6�� %��
� ��� 24 ����
"���� ������6� �� �6����D 18 ��� ��� ������ ���������
�� ���� ���� ����"��
��� �6���
��6� ��� �� ���=��������� ���� �� =��
��� obs� %�6���6
���D
10 ����
"���� ���� '-6� ��� �� =��
��� attZlytique ∧ attZlyso I�=� ��
��(�� 9�J �� ��� 8

����� �� 
����		��� � *�:;�3 �� <=>1� 
� ������� �����



&	"	 2������ 3 �����4�� 
� � �������� ���5 �� ����� λ >5

κ��(∅) = 0, 1 �� 2
κ��({�3}) = [2]
κ��({���}) = [0]
κ��({�33}) = [[2]]
κ��({�3, ���}) = (0), 1 �� 2
κ��({�3, �33}) = [[2]]
κ��({���, �33}) = 0, 1 �� 2
κ��({�3, ���, �33}) = (0), 1 �� 2

κ���(∅) = [3]
κ���({�3}) = [0]
κ���({���}) = (0), (1) �� [2]
κ���({�3, ���}) = (0), (1) �� [[2]]

κ���(∅) = [0]
κ���({�3}) = [0]
κ���({���}) = [0]
κ���({�}) = [[1]]
κ���({�3, ���}) = [[0]]
κ���({�3,�}) = 0 �� 1
κ���({���,�}) = 0 �� 1
κ���({�3, ���,�}) = [[0]]

κ�(∅) = [[1]]
κ�({�3}) = [0]
κ�({���}) = [0]
κ�({�3, ���}) = [[0]]

���� ;�5 R B������ ������ ��� ��� �����)
��� 	��� � �������� 	�� 38 ������
����� ���������� �����%

������� ��� ������� ��
�� ������
� ������� ���
 	�
�������� ��� �� ������� attClytique ∧ attClyso�
��� ������� ��
�� ������
� 	������ ���
 	�
�������� ��� �� ������� choix� ��� ������� ���� ��� 
���%
������� ������� ���
 ������ 	� ������
���� ������� ��� D���1�� �
 D������ 5���# ��� ������� ��
��
�����
�)��� ���
 ������ ��� � �����
������
 ��� �� 	������ 	� �����
��� 	� �����)
�� ���������	��

	��� � �������� ������� 	� ������
����� ����������� "�� �,�����# 	��� �� ������
���� 	� D���1�� �

D����� �� � κ���({�;, ���}) = 0 ���� �� ���
 ��
���� �� ���� 	�������� ���� κ���({�;, ���}) = 1 ��
κ���({�;, ���}) = 2�

������ ���� '-6� ��� �� =��
��� choix� �� ��
��(���� (�� �� �6������� ������� �� =��
��� obs
���
�� �� '-�� �� ������ �� ���� ��� ����
"���� ������6� ? ��� �� �� ��
��(���� 6)���
��� (��
���� �!�(�� ����
"���D �� ������ ������6� ��� �!��E�� �� �!�
�� ��� �������6�� &��������D ��
����
6���)� �� �!��E�� �� �!�
��D (�� �<�� ������ κ∗D �6'��� ��� ����
�(�� (�� �<����������
��� ? �<����
��� ��� ����
�(��� �6��������6��� �� �E��D �<����������� �� �3 ��� ���$
H
� �<���
��� ��6����� ���� G(κ∗ ◦ ω) �

κ∗
��(∅) = κ∗

��({�3}) = 2
κ∗
��({���}) = κ∗

��({�3, ���}) = 0
κ∗
��({�33}) = κ∗

��({�3, �33}) = 2
κ∗
��({���, �33}) = κ∗

��({�3, ���, �33}) = 2

���� ����������� ��� ��� ����
�(��� (�� �<�� ���� ������� ���� ��� ������ �� (G, X) ? �� '�
�� ����� ��������

����	�


+� ')��� ;�9 ����� �<����
��� ��� �!�
��� ������� �� �<6��� (0, 0, 0, 0) (�� ������� H���
�6����� ��� 18 ����
"���� '-6�� &�� �!�
��� ���� ���� ��6����� ���� ��� 38 ����
�(��� �6���$
�����6�� ����� (���� ���� �� ����
�(�� ������6� ��� �!��E�� �� �!�
��� +�� �!�
��� 
�����
? �<6��� ����)6��(�� �� ��- 6���� ����(���D 
�� �� 6������� ��� �!��E�� �� �!�
�� �� =��� ��



>	 �������� &	 ��������� 
� ��
#��� ��� �������

? + +
0 0 0 0

? + +
0 0 0 1

+ +
0 0 1 1

+ + −
1 0 1 1

? −
2 0 1 1

−
2 0 1 0 2 0 0 0

+ +
0 1 0 0

+ +
0 1 0 1

+ +−
0 2 0 1

− ? −
0 3 0 1

? +−
0 2 1 0

? −−
0 3 1 0

? + −
0 2 1 1

? − ? −
0 3 1 1

−
0 3 0 0

+
0 2 0 0

−+
1 2 0 0

−−
1 3 0 0

−+
1 1 0 0

? +
1 0 0 0

+ +−
1 0 1 0

? + −
1 1 1 1

? +−
1 1 1 0

? +−
1 2 1 0

? −−
1 3 1 0

? + −
1 2 1 1

? − ? −
1 3 1 1

? +
0 1 1 1

réponse lytique

réponse lysogénique

���� ;�9 R 5������� 	�� ������� ���
��
 	� � �
�
 (0, 0, 0, 0) ������� ��, 38 	��������� �����%

�������� 4�� ������� ���
 ��������
 ������
� 	��� �� 	�������� �������� ��� D���1�� �
 D������
��� ������� �������� 	�� +)���� �������� ���
 ��� ������� -�������������
 ������
��. ������
�� ���
D���1�� �
 D������

���� �6����
�D ���� ��6����� ���� ��� 38 ����
�(���� ���� �������D ��� ���- M�����������N
�������� ���� ����� ��6������ 3� ��� ���� 6������� �� ��������� (�� 
��)�6 �� ��6����� �� 4
�������� ������=� ���� �� )���!� GD ������ ��� ����
�(��� �6��������6�� �� ����������� (�� ���
���- M�����������N� �� �E��D �� =��
���

EF(lytique ∨ lyso)

��� �6��'6� ��� ��� 38 ����
�(��� �,�� &���� =��
��� ��� 6)���
��� �6��'6� ��� �� ����
�(��
������6� ��� �!��E�� �� �!�
���

;�����


0'� �<6������� ���� 
��"��D �!��E�� �� �!�
�� ��� M��
��6N �� ��6����� �� 
��������
M9
��9���N ��� �������� )"��� �� ���=����6 ��� �6������� ������� ���� ��� �6������� �-�6��
��$
���- �6�? �����6�� +� ����������� ����� ��� ��6�������� �!6���(��� �6����6�� ���� ���� 
��"��
�� ��� ������������ �-�6��
������� ��� (����������
��� ��"� ����� F85G�

	4���� ����-������ �	� �����	�� 
�� 01���/�� � 
����� 
� -����� 
� 	����� ��������� ��	 38 
����������	
	����������	 "�� ���	� 
�	 ����		���� 
��������� 
� ������� ��	 339 �������	 
� 
����������	 ���������	&�


0� �� ������� �	� ���		� ����	 �� �$�	�� �� ���� � 
����� 
����� �� ���	� 
�	 
�		���� 
�������
�� �� 
�	 ����	
�%�����	 �� ������ �%	��������� 4���� 
�
��	 ���� ���� �� �$�	�� �� ������ ������ � �� ����������� ���� ����

��� ����� �$�	�� �� ����	�!�� �����������
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��
�
���� ��������
�� ���
����
 �����,�� �
�����
�;− {(0, 2, 0, 0), (0, 3, 0, 0)}
���− {(2, 0, 0, 0)}
�;;− {(2, 0, 0, 0)} �
 {(0, 2, 0, 0), (0, 3, 0, 0)}
A− {(2, 0, 0, 0)} �
 {(0, 2, 0, 0), (0, 3, 0, 0)}

�;;−A− {(2, 0, 0, 0)} �
 {(0, 2, 0, 0), (0, 3, 0, 0)}
���−A− {(2, 0, 0, 0)}
���−�;;− {(2, 0, 0, 0)}

���−�;;−A− {(2, 0, 0, 0)}

���� ;�	 R 4�������
�� ���
����
 �����,�� �
����� 	��� ��� 	��������� ��
�����# 3 ���
�� 	� ��	)��
	� D���1�� �
 D�����# �� �����	�����
 ���
����� ��
�
���� E?&F�

+� ����
�(�� �� ����"
� ����(�� �������� )"��� ���� 
��6� ��� 
��6���6� ��� �� ����$

�(�� �6����� ? �<���6����� �� ���� �V �� ������ �� ������������� ��� ����6���� ����!6���6�� ���
��� )"��� 
��6� ��� ���� ������� ����� !����!"��D �� ��� �������� �� ��6���� ��� M�����������N
���� ���(���� �� ����"
� ���� 6������ ����(�� �������� )"��� ���� 
��6��

+�� �6������� ������� ��� �!��E�� �� �!�
�� ���� ���� 
��"�� ���� ����6� ���� �� �����
;�	� %��� �!�(�� 
�������D ��� M�����������N ��6����� ������������� �� ����� ������ ρ =
[(0, 2, 0, 0), (0, 3, 0, 0)] �� ? �<6��� ������ ξ = (2, 0, 0, 0) I�� (�� �<��� ��� 6������ � ������J�
 � ����D ��� ����������� ��6����� ���� �������� �����)������ ������ �<6��� ������� (0, 0, 0, 0)� &���
���
�� �<�������6��� �� ����� ;�	 ��

� ���� �

5� ���� �� 
����� �3−D ����� �� �6����� ����(�� ��� �������� S

	� ���� ��� 
������ ���−D ���−�−D ���−�3− �� ���−�3−�−D ����� �� �6����� ����)6��(�� ���
�������� S

9� ���� ��� 
������ �33−D �− �� �3−�−D ��� ���- �6������ ���� ����������

�������� �� ��������� �� ��)�(�� ��
�������D ���� ������ �6��'�� �� ��� ����
�(��� �6��������6��
���
������ �� =���� ��� 
H
�� ��6���������

%��� �� 
����� �3−D �<���"� �� 
��"�� �� �!��E�� �� �!�
��D �<���(�� M����������N ���
�� ����� ������ ρ� &�

� �� ����� ������ ��� ��6���� ���� ��� 38 ����
�(��� �� (�<�� ���
������� ���� �� ���� x�� = 0D ρ ��� �� ����� ������ ���� ��� 38 ����
�(��� �3−� &�

�
��� 38 ����
�(��� �6��'��� �� =��
���

(x�� = 0) ⇒ E[(x�� = 0)U(lytique)]

�� �� �6���� (�� ρ ��� �<���(�� M����������N ���� ��� 38 ����
�(��� �3−� �� �E��D ����(��
�<6��� �� ����"
� �� ���� �� ���� x�� = 0D �� �-���� �������� �� �!�
�� ���
������ �<���������
�� ����� ������ ρ ���� (������ �� ����� �� �����������D ���� ��� 38 ����
�(��� �3−D �� �-���� ��
�!�
�� �� �<6��� ������� �� ����� ρ�

%��� �� 
����� ���−D �<���(�� M����������N ������� ��� �<6��� ������ ξ = (2, 0, 0, 0)� &�

�
ξ ���������� �� ���� x��� = 0D �� ��

� ξ ��� ������ ���� 38 ����
�(���D ξ ��� �� 6��� ������
���� ��� 38 ����
�(��� ���−� %��� �6��'�� (�<�� �<�-���� ��� �<����� ����������D �� ��K� ��
������ �� =��
���

(x��� = 0) ⇒ E[(x��� = 0)U(lyso)]



>7 �������� &	 ��������� 
� ��
#��� ��� �������

��� ��� 38 ����
�(���� ������ 22 ����
�(��� �6��'��� ����� =��
���� �� ��� ������� ? ������
��� ����
6���)�� ���� ���(���� κ��(∅) = 0 �� κ��(∅) = 2� &��� ���� �� ���� ���� �� ')���
;�9�  <���"� ����� ')���D ��� �!�
��� ��

��� ��- 38 ����
�(��� ������� �� �<6��� ������� ��
�������� ���� �� ���� x��� = 0 ���� ��� �������� �

? + +
0 0 0 0

? + +
0 0 0 1

+ +
0 0 1 1

+ + −
1 0 1 1

? −
2 0 1 1

−
2 0 1 0 2 0 0 0

? +
1 0 0 0

+ +−
1 0 1 0

0 �<6��� ξ′ = (1, 0, 0, 0)D �� ������ ����� �� �3 ��� ����6 ��� �� ����
"��� κ��(∅)�  ��� �<����
���
��� ����
6���)�� �6��������6�D �� ����
"��� ���� ������� ��� ������� 0D 1 �� 2 I�=� ����� ;�5J�
&�

� ξ′�� = 1D �<6��� ξ′ ��� �� 6��� ������ �� ������ ��� ����
�(��� ���− �������� ? ������
�<�� ����
6���)�� �V κ��(∅) = 1� %��� ��� ����
�(���D �� =��
��� ��6�6����� �<��� ����
��� �6��'6�� ������ (�� ���� ������ ��� ����
�(��� �������� ? ������ ��� ����
6���)�� �V
κ��(∅) �= 1D �� �-���� ���� �� �!�
�� �� ξ′ ? ξ = (2, 0, 0, 0) �� ������� (�� ��� ��� 6���� �� ����
x��� = 0 �

? + +
0 0 0 0

? + +
0 0 0 1

+ +
0 0 1 1

+ + −
1 0 1 1

? −
2 0 1 1

−
2 0 1 0 2 0 0 0

? +
1 0 0 0

+ +−
1 0 1 0

κ��(∅) = 2
κ��(∅) = 0

1)���
���D ������ (�� ���� �� ����
6���)� �� �!��E�� �� �!�
�� �� � κ��(∅) = 2�

������� �� 
H
� ��������D ���� �6��'�� �� ξ ��� �<���(�� 6��� ������ ���� ��� 38 ����
�(���
���−�−D ���−�3− �� ���−�3−�−D �� ��K� �� ������ ��� =��
���� ��������� �

���−�− : (x��� = 0 ∧ x� = 0) ⇒ E[(x��� = 0 ∧ x� = 0)U(lyso)]
���−�3− : (x��� = 0 ∧ x�� = 0) ⇒ E[(x��� = 0 ∧ x�� = 0)U(lyso)]

���−�3−�− : (x��� = 0 ∧ x�� = 0 ∧ x� = 0) ⇒ E[(x��� = 0 ∧ x�� = 0 ∧ x� = 0)U(lyso)]

3� �<��"�� (�� ���
� ��� 38 ����
�(���D 8 �6��'��� ��� ����� =��
���� ����� (�� ��� 30 ������
�� �6��'��� ������ ��� ����� =��
����� +�� 8 ����
�(��� ���� �������� ? ������ ��� 8 ����$

6���)�� ���� (�� κ��(∅) = 2� ������ (�� (0, 0, 0, 0) → (1, 0, 0, 0) → (2, 0, 0, 0) ��� �� �!�
��
I������� ���� �� ���� x��� = x�� = x� = 0J �� �� �����
��� �� κ��(∅) = 2�

3��6������� ���� '����
��� ��- 
������ �33−D �− �� �33−�− ���� ���(���� ��� ���- M��$
���������N �������� ���� �� ����� ������ ρ �� �<6��� ������ ξ� %��� �6��'�� �� ξ �� ρ ���� ���
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����� M�����������N ��6����� ���� ��� 38 ����
�(��� �33−D �− �� �33−�−D �� ��K� �� ������ ���
=��
���� �

�33− : (x��� = 0) ⇒ E[(x��� = 0)U(lytique ∨ lyso)]
�− : (x� = 0) ⇒ E[(x� = 0)U(lytique ∨ lyso)]

�33−�− : (x��� = 0 ∧ x� = 0) ⇒ E[(x��� = 0 ∧ x� = 0)U(lytique ∨ lyso)]

&�����$�� ���� �6��'6�� ��� ��� 38 ����
�(���� &��������D �� =��� ����� �6��'�� (�� ρ �� ξ ����
�����)������ ������ �<6��� ������� ���� ��� =��
���� ��������� �

�33− : init ⇒ (E[(x��� = 0)U(lytique)] ∧ E[(x��� = 0)U(lyso)])
�− : init ⇒ (E[(x� = 0)U(lytique)] ∧ E[(x� = 0)U(lyso)])

�33−�− : init ⇒ (E[(x��� = 0 ∧ x� = 0)U(lytique)] ∧ E[(x��� = 0 ∧ x� = 0)U(lyso)])
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�� �� ����������� ��� ��� ����
"����D �� ��������� ��������� !����!"���D ��D ��
��������� ��� ����������� ���
������ �� ������� �6)���= ��� ��� �� �� ������� ������= �� ���)����
2 ������� ��� �3 �� ��� �<H��� M=����������N I�=� F85D :9G �� ������� 7�7J�

3��D �� ��������� ���(��
��� �� ��)�(�� ��
�������D ���� ����� �6��������6 8 ����
�(���
��������� ��� �!�
��� M�����)�(��
��� �6�������N �� 
��"�� �� �!��E�� �� �!�
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;�9JD �� ���
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H
�� ��6�������� ��� �� ��
�����
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"�� ? ���� ��
����� (�<����� ���� ��� ������������ �������������� ���� ������� ���
����
�(�� �6��'��� �<����
��� ��� ��6��'�������� %��� �6������ ? ����� (�������D �� ��K� ��
�����
����� ? �������� �� ������� (G, X) �� �� =��
��� spec ������������� ? �� ����������� �

5� �� �� =��
��� obsD

	� �� �� =��
��� EF(lytique ∨ lyso)D
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���� ������6������ �� ��
�����
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 � ����D �� �-���� ��� ����
�(�� ���(κ ◦ ω) ����� (�� G(κ ◦ ω) = G′� 0����D (G′, X) ��� ��
���� ������ ������ �� (G, X) ���
������ �<������� ��� ����
�(�� �6��'��� spec� �� �� �6����
(�� ���
� ��� ���� �������� ��������
��� ��6����� ���� GD ����� ���- �������� ���� �6���������
���� ������� ��� ����
�(�� �6��'��� spec� ���� �������D �� ������� ������= ������� ��� �3 ��
��� ���
�� �<������� ��� ����������� ������������� ��- �6������ ����(�� �� ����)6��(��D �� ��
������� �6)���= ��� ��� ���
�� �<����������� �� ��� ������ �� �6����� ����(���

3� ��� 6)���
��� ��
��(����� (�� �����
��� ��� ����
�(�� ���(κ ◦ ω) ���
� ��� 40 �6$
��������6�� ���� ����� (�� ���(κ ◦ ω) = G′� 0����
��� ���D �� �-���� ��� ���(�� ����
�(��
������6� ? (G′, X) �6��'��� spec I���� �<����
��� ��� 1620 ����
�(��� ��������� ���� (G′, X)J�
%��� ������� ����� ����
�(��D �� =��� �� �� ��K� (�� ��� ����
"���� ������6� ? (G′, X) �6��'���
��� ����������� ��������� �

{
κ��(∅) = 2
κ��({���}) = 0

⎧⎪⎪⎨
⎪⎪⎩

κ���(∅) = 3
κ���({�3}) = 0
κ���({���}) ≤ 2
κ���({�3, ���}) ≤ 2

{
κ���(∅) = 0
κ���({�}) = 1

⎧⎪⎪⎨
⎪⎪⎩

κ�(∅) = 1
κ�({�3}) = 0
κ�({���}) = 0
κ�({�3, ���}) = 0
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H
�
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���� ����� ������� 6����6 �� ���� ����� ��� )���!�� �<������������ �����- �� ��� ������6�6�
����
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�(�� �����!���� �� f D
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� ���� � 6�6 =��� ������  <��� ����D �� ���� � ���
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�(��� �����!�����
��������� ���� �� )���!� �<������������ ������6�6� +� �6���6� �����"�� ��� �������D ������6� ����
6������ ��� �6������� �!6���(��� 6��(�6� ���� !���D �<��� ��6�6� H��� ���� ? =��� ��!6����� ����
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6�!��� �� �!�
��� �� �E��D ���� ����� �6
����6 (�<��� ����
�(�� �����!���� ����6�
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"���� �� ��
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���� �<�
�������� �������� ��������� ? 6������ �<����� ��� )���!�� �����- 6����6� ? �<���6����� �<��� �����
��
�������� %�� ��������D �� ��
����- �!6��"
�� �� ������)���� I������ �� )������J ���� ��
����� '-� �� �� ����� ������ ��� 6�6 �6
����6� ���� �� ��� ����6�� I����!���� �� �����!����J
�� ��������� �� �6���6� �� .���/��� ������D �� ����

��� ��� ��� ������ F;�D ;8G� 3� ������ ��$
�6������� �� ������ �� ��� �6������� ������� �� )6�6������� �� ��� ������� )�T�� ? �� �6���6� (��
���� ����� �����������

+� ��������� �� ��)����� �<���� ? �� 
��6�������� (�� ���� ����� �6������6 ������ 6)���$
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��� ��������� ��������� ������������� �� �������� (�� �����$�� ����� �� ��)�
��� �� �6����
�<������������ ? ������D ��� =��
��� �� &�+D �� 6��
"�� ������ ��� ����
�(��� ������6�� ��
�6���� ���� �� ��������� (�� ������ (�� �������� �� =��
���� +� 
6�!��� ������6� ���� 6��
6$
��� ��� ����
�(��� ��� ��"� ��� ����
��6� ���D �� )6�6���D ��� ����
�(��� 6��
6�6�� �� ����
��� ������ ������6�� �� �6����� +� 
��� ��- ������ �<�� ��)����!
� ���
������ �<6��
6���
���(��
��� ��� ����
�(��� ������6�� ? �� �6���� ��� ��� ��������� ��������
��� 6������� ��
������� =����� &��������D ��

� �� ��
��� �� ����
�(��� ������6�� ? �� �6���� ��)
����
�-�����������
��� ���� �� ������ �� �����$��D �<6��
6������ ��� ����
�(��� �� ������� �6��������
(�� ���� ��� �6����- �� ������ ������� *�� ����������� ? ����� 6��
6������ �������� ��������� ?
�6�������� ��� 
6�!���� ���
������ �� �6����� �<����
��� ��� ����
�(��� (�� �������� ���
=��
��� �� &�+ �������
��� ? ������ �� ����� =��
����  �� �6������� �6����� �� ���
�������
��� 6�6 ����6� ���� ����� ��������� ��� &������ �� ��� F	;D 5�G �� ��������� �� ���)��
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������ �

������ �� �����
��  

���� f : X → X ���� X �� ������ '�� ? n ��
��������  ��� ����� ����� �������D ω �6��)���� ��
=������� ? ������ �� �6���� �<������������ ? ������ (G(f), X)� ���� ������� 
������ (�� ���(f)
��� ��� ����
�(�� �� (G(f), X) �<��� ? ����D (�<�� �-���� �� ����
6���)� κ �� (G(f), X) ��� (��
���(f) = ���(κ ◦ ω)� &��� ������� ? ���� (�<�� �-���� �� ����
6���)� κ �� (G(f), X) ��� (��
��� ������������ f �� κ ◦ ω ���� 6(����������D �� ������D ��� (�� �

∀x ∈ X, ∀i ∈ {1, . . . , n}, f ′
i(x) ���= signe(fi(x) − xi) = signe(κi(ωi(x)) − xi). I0�5J

0����D �� �����"
� �� �6��
���� � �� ��K� �� 
������ (�� ���� �!�(�� i ∈ {1, . . . , n} �� �-����
�� ����
6���)� κi �� i ���� (G(f), X) (�� �6��'� �<6)����6 ��$�������

���� �� (������(�� i ∈ {1, . . . , n}� �� ������ Ki �<����
��� ��� ������������ κi : ωi(X) →
Xi �6��'��� I0�5J� ���� ��

�������� ��� 
������ (�� Ki ��� ��� ���� �� ���� 
���������
������� (�<�� �������� �� ����
6���)� �� i ���� (G(f), X)�

7�� 	
���#
� 
����

%��� 
������ (�� Ki ��� ��� ����D �� ��K� �� �� ������ ��� (������(�� ��
��������
�<����6�� �E������� E ∈ ωi(X)D �� �����

E = {x /x ∈ X �� ωi(x) = E},

�� �� 
������ (�<�� �-���� �6��������
��� �� ������ �� ������������� κi(E) ∈ Xi ��� (�� �

∀x ∈ E, signe(fi(x) − xi) = signe(κi(E) − xi).

&���� 6)����6 ����(�� (�� ����(�� �<6��� x �� ����"
� ��� ���� ED �� ���� ����(�� E ��� �<��$
��
��� ��� ����6�� �E������� �� iD �� ������ �� i M������)�N ���� κi(E) � �� �-���� ��� ����������
�� x ? xi�+1 �� �� �����
��� �� xi < κi(E)D �� �� �-���� ��� ���������� �� x ? xi�−1 �� ��
�����
��� �� xi > κi(E)�

������ (�� �<����
��� E ��� ���6�6����� �� E ��� ωi ��� �� ���6 �� X� �� �E��D ���� ����
j ∈ {1, . . . , n}D ������ Ej = {xj /x ∈ E}� ��������� (�� �� ����"
� ���� ���� �� 6��� x �� E

(�� 
���
��� �� ������ �� jD �<��� ? ���� ��� (�� xj = min(Ej)� 0����D ���(�<? ��������� �� �����
s �<��� ����������� �� j ��� iD �� ���� ��)
����� ���)�������
��� �� ������ �� j ���� �!��)��
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�<����
��� ��� ����6�� �E������� �� i� �� �� ����� !����!6��(�� s �<��� ��
��� ��������6 �����
�� � Ej = {xj , xj + 1, . . . ,max(Xj)}D �� �� �� ����� s �-����D �� � Ej = {xj, xj + 1, . . . , s − 1}�
0����D �!�(�� Ej ��� �� ���������� �� Xj �� E = E1 × · · · × En�

W �<���6����� �� ED �<�-������� �<��� ��������� κi(E) ���� ��(����� �� ������ �� i 6�����
�6����� �� =��� (�� �� i$�� ���
� ��� �������

�� �� f �������� � ���
������� �� E ��� 
�����
%��� ��6���6
��� �

∀x ∈ X, ∀j ∈ {1, . . . , n}, ∀ε ∈ VX(x) ��� (�� xj + εj ∈ Ej , ∂fij(x, ε) = 0. I0�	J

�� �E��D ��

� xj + εj ∈ EjD xj�εj ∈ E ���� ωi(x) = ωi(xj�εj) ���� �� �<�-���� ��� �<�������$
���� �� j ? i �� ����� s = max(xj , xj + εj) ���� G(f) �� �<���"� �� ����������� 9D ∂fij(x, ε) = 0�
0����D �<6�������� �� ������ �� i �� �6���� ��� �� ������ ��� ������ �����6� ����(�� �� ����"
�
��� ���� E�

8���� �% ���� ���� x, y ∈ E	 �� xi = yi ����� f ′
i(x) = f ′

i(y)�

#���$�2 �� �������� ��� ��������� ��� �� �������� ���!����� d �

∀x, y ∈ E, d(x, y) =
n∑

j=1

|xj − yj|.

������ x, y ∈ E ���� (�� xi = yi� �� d(x, y) = 0 ����� �� �<� ? ���� ? �6
������� �� d(x, y) = r > 0D
�� ������� (�� �� ��

� ��� ���� ���� ���� x′, y′ ∈ E ��� (�� d(x′, y′) < r� &�

� d(x, y) > 0
�� xi = yiD �� �-���� j �= i ��� (�� xj �= yj� ���� ����� �� )6�6�����6D �� ��������� xj < yj� ����
z = xj�+1� &�

� z ∈ P �� d(z, y) = r− 1D ��� !����!"�� �<���������D f ′

i(z) = f ′
i(y)� 0����D ��

��K� �� 
������ (�� f ′
i(x) = f ′

i(z)� ��������� ��� ������������� f ′
i(x) �= f ′

i(z)� �� f ′
i(x) �= 0D

�����

fi(xj�+1) = fi(z) ≤ zi = xi < fi(x) �� fi(x) < xi = zi ≤ fi(z) = fi(xj�+1).

 ���D ���� ���� ε ∈ VX(x) ��� (�� εj = +1 �� εi = f ′
i(x)D �� � ∂fij(x, ε) �= 0 �� (�� ���������

I0�	J� �� f ′
i(x) = 0 �����

fi(z) < zi = xi = fi(x) = fi(zj�−1) �� fi(zj�−1) = fi(x) = xi = zi < fi(z).

 ���D ���� ���� ε ∈ VX(z) ��� (�� εj = −1 �� εi = f ′
i(z)D �� � ∂fij(z, ε) �= 0 �� (�� ���������

�� ������� I0�	J�  ���D f ′
i(x) = f ′

i(z) = f ′
i(y)� �

8���� �� C� �1���� κi(E) ∈ Xi ��� #�� ∀x ∈ E	 f ′
i(x) = signe(κi(E) − xi)�

#���$�2 ���� z ∈ E �� �

Ẽ = {z1} × · · · × {zi−1} × Ei × {zi+1} × · · · × {zn}.

Ẽ ��� �� ���6 ������ ���� E ���� �� ����� ��
������ ��� i� %��� ���� x ∈ Ẽ �� ε ∈ VX(x) ���
(�� xi + εi ∈ EiD �<���"� I0�	JD �� � ∂fii(x, ε) = 0�  ���D �<���"� �� ��

� 8 ��)� 7;D Ẽ

�������� �� ���(�� 6��� ξ (�� ��� Ẽ$������D �� �<���"� �� ��

� �� ���� ����� �!�
�� I��)�
98JD ������ ���� x ∈ Ẽ �� �-���� �� ���� ����� �!�
�� �� x ? ξ ���� ���(f)�  ���D ���� ����
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;

x ∈ ẼD �� xi < ξi ����� (x, xi�+1) ∈ ��(f) ���� f ′
i(x) = signe(ξi − xi) ��D �� ξi < xiD �����

(x, xi�−1) ∈ ��(f) ���� f ′
i(x) = signe(ξi − xi)� �� �6��
6 �

∀x ∈ Ẽ \ {ξ}, f ′
i(x) = signe(ξi − xi). I0�9J

��������� ξi < fi(ξ)� 0����D (ξ, ξi�+1) ∈ ��(f) �� ��

� ξ ��� Ẽ$������D ξi�+1 �∈ Ẽ� �� ��
�6���� ξi = max(Ei)�  ���D ���� ���� x ∈ Ẽ \ {ξ}D xi < ξi� �� 
����� �� 
H
� (�� ��
fi(ξ) < ξi ����� ξi < xi ���� ���� x ∈ Ẽ \ {ξ}� �� �6���� �� �� (�� ��6�"�� �� �� I0�9J �

∀x ∈ Ẽ, f ′
i(x) = signe(fi(ξ) − xi). I0�7J

���� �� (������(�� x ∈ E� %�� �6'������ �� ẼD �� �-���� y ∈ Ẽ ��� (�� xi = yi�  ���D �� ���������
�� ��

� 5
 �� I0�7JD �� � �

f ′
i(x) = f ′

i(y) = signe(fi(ξ) − yi) = signe(fi(ξ) − xi).

3� ��K� ���� �� ����� κi(E) = fi(ξ) ���� ������� �� ��

�� �

7�� )������ 
����

���� ����� 
����6 (�� Ki ��� ��� ����� &��������D ���� (�<��� ����������� κi �� Ki ����
�� ����
6���)� �� i ���� (G(f), X)D �� =��� (�� κi �������� ��� ����������� �
���6�� ��� ���
��)��� ��� ������������ �� ��

�� '��� i ���� G(f) I�=� �6'������ 	5 ��)� �	J�

%��� �!�(�� κi ∈ KiD �� ���� err(κi) �<����
��� ��� (��������� (j, s, α,E) ���� (�� �

(j, s) ∈ [G(f)]αi , E ∈ ωi(X), E ∪ (j, s) ∈ ωi(X) �� α · κi(E) > α · κi(E ∪ (j, s)).

%�� �6'������D κi ��� �� ����
6���)� �� i ���� (G(f), X) �� �� �����
��� �� err(κi) = ∅�  ���
�� ��

� �������D �� 
����� (�� ��� M�������N �� κi �� ������� ����� (�� ��� ����$������������
�� i� 0����
��� ���D �� 
����� (�� ������ ��� ������������ �� Ki ���������� ��� �����������
�
���6�� ��� ��� ������������ �� ��

�� '��� i �� �� ��

�� ������� j �= i�

8���� �
 ���� ���� κi ∈ Ki	 �� (j, s, α,E) ∈ err(κi) ����� j = i�

#���$�2 %�� �������������D ��������� (j, s, α,E) ∈ err(κi) �� i �= j� ���� E = E1 × · · · × En

�� ���6 =��
6 ��� �<����
��� ��� ���6�6����� �� E ��� ωi �� ���� E
′ = E

′
1 × · · · × E

′
n �� ���6

=��
6 ��� �<����
��� ��� ���6�6����� �� E′ = E ∪ (j, s) ��� ωi� &�

� j �= iD �� � Ei = E
′
i�

��������� α = −1 �� �6
���������� 6���� �����)�� ���� �� ��� �����6� 0���� �

κi(E) < κi(E′).

&�

� j �= iD �� κi(E) ∈ Ei ����� �� �-���� x ∈ E ��� (�� xi = κi(E) �� xj�+1 ∈ E
′� 0��� ��

��� x �
κi(ω(x)) ≤ xi = (xj�+1)i < κi(ωi(xj�+1)). I0�;J

&�

� κi ∈ KiD �� �� �6���� �

fi(x) ≤ xi < fi(xj�+1).
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 ���D ���� ���� ε ∈ VX(x) ��� (�� εi = εj = +1D �� � ∂fij(x, ε) = +1� &�

� xj + 1 = sD
�� �6���� (�� (j, s,+, i) ��� ��� ����������� �� G(f) �� (�� ��� =��- I��� (j, s) ∈ [G(f)]−i J� ��
������� �� 
H
� ������������� ���� �� ��� �V κi(E′) ∈ E

′
i = Ei� .�����
���D �� κi(E) �∈ Ei ��

κi(E′) �∈ Ei �����D
κi(E) < min(Ei) ≤ max(Ei) < κi(E′).

%�� ����6(����D ���� ���� x ∈ E ��� (�� xj�+1 ∈ E
′ �� �������� �<��6)����6 I0�;J (�� ���

��������������� �� �� �6���� (�� i ��� ���� 6)�� ? j� �

 ���D �� i �<� ��� �<����6� (i, s) ����� (�� (i, s) ∈ [G(f)]αi D α ∈ {−1,+1}D ����� ������ ���
������������ �� Ki ���� ��� ����
6���)�� �� i ���� (G(f), X)� 0'� �� 
������ (�� Ki ��������
�� ����
6���)� ���� �� ��� )6�6���D ���� ������ 
������ (�<? ������ �<��� ����������� κi ∈ Ki

����� (�� err(κi) �= ∅D �� ��� �������� �������� �� ������� ��� ����������� κ′
i ∈ Ki ���� ��(�����

��� M�������N ���� 
���� ��
��������

8���� �� &� κi ∈ Ki �� err(κi) �= ∅ ����� �� �1���� κ′
i ∈ Ki ����� #�� err(κ′

i) ⊂ err(κi)�

#���$�2 �� ������� ���� κi ∈ Ki �� err(κi) �= ∅�  <���"� �� ��

� 5	D err(κi) �������� ��
6�6
��� �� �� =��
� (i, s, α,E)� �� ��������� α = +1D �� �6
���������� 6���� ��
������ ����
�� ��� �����6� 0���� �

κi(E′) < κi(E) ���� E′ = E ∪ (i, s).

�� ��

���� ��� 
������ (�<�� �<��� ��� �������� �<����� κi(E′) < s ≤ κi(E)� ���� �� 6���
x ∈ X ��� (�� ωi(x) = E �� xi = s − 1� 0��� �� ��� xD �� � ωi(xi�+1) = E′�  ���D ��
κi(E′) < s ≤ κi(E) �����

κi(ωi(xi�+1)) ≤ xi < (xi�+1)i ≤ κi(ωi(x))

�� ��

� κi ∈ KiD �� � �
fi(xi�+1) ≤ xi < fi(x).

 ��� ���� ���� ε ∈ VX(x) ��� (�� εi = +1D �� � ∂fii(x, ε) = −1� �� �� �6���� (�� (i, s,−, i)
��� ��� ����������� �� G(f) �� (�� ��� =��- ��� ���� ����� ������6 (�� α = +1 �� ���� (��
(i, s) ∈ [G(f)]+i � %�� ����6(����D �� � ���� �

κi(E′) < κi(E) < s �� s ≤ κi(E′) < κi(E).

��������� s ≤ κi(E′) < κi(E)� 0'� �<������� ��� ����������� κ′
i ∈ Ki ��� (�� err(κ′

i) ⊂
err(κi) ? ������ �� κiD ���� ������ 
���'�� �<�
�)� �� E ��� κi ����� (�� �<�
�)� �� ���������
��
��������� �<����6�� �E������� �� ωi(X)� ������ I �<����
��� ��� ����6�� �� i ���� G(f) ��
��

�� i �

I = {(i, s) / (i, s) ∈ [G(f)]i}.
�� ���� �

N = {U /U ∈ ωi(X), E \ I ⊆ U ⊆ E �� κi(E′) ≤ κi(U) ≤ κi(E)}

�� �� ������"�� �<����������� κ′
i : ωi(X) → Xi �6'��� ��� �

∀U ∈ ωi(X), κ′
i(U) =

{
κi(E′) �� U ∈ N

κi(U) �����.
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�������� (�� κ′
i ∈ Ki� �� κ′

i �∈ Ki ����� �� �-���� x ∈ X ��� (�� �

signe(κ′
i(ωi(x)) − xi) �= signe(κi(ωi(x)) − xi) I0��J

�� �� �6���� ωi(x) ∈ N �<�V �

s ≤ κ′
i(ωi(x)) = κi(E′) ≤ κi(ωi(x)).

��D ��

� (i, s) �∈ E �� ωi(x) ⊆ ED �� � xi < s�  ��� �

xi < κ′
i(ωi(x)) ≤ κi(ωi(x))

�� (�� ��������� I0��J�  ���D κ′
i ∈ Ki� �������� '����
��� err(κ′

i) ⊂ err(κi)� &�

� E ∈
N D �� � κ′

i(E) = κi(E′) �� ��

� E′ �∈ N D �� � κ′
i(E

′) = κi(E′)�  ��� κ′
i(E) = κ′

i(E
′)�

%�� ����6(����D (i, s,+, E)D (�� ��� ��� M������N ���� κi �<��� ��� ��� M������N ���� κ′
i �

(i, s,+, E) �∈ err(κ′
i)� 3� ��K� ���� �� 
������ err(κ′) ⊆ err(κ)� ��������� (i, s′, α′, U) ∈

err(κ′)� �� ���� U ′ = U ∪ (i, s′)� &�

� κ′
i(U) �= κ′

i(U
′) �� � U �∈ N �� U ′ �∈ N � �� ����"��

�� ��� ��� ��� �

5� �� U �∈ N �� U ′ �∈ N ����� κ′
i(U) = κi(U) �� κ′

i(U
′) = κi(U ′) ���� (i, s′, α′, U) ∈ err(κi)�

	� ��������� U �∈ N �� U ′ ∈ N � �� � �

κ′
i(U

′) = κi(E′) ≤ κi(U ′) ≤ κi(E).

 � ����D ��

� E \ I ⊆ U ⊂ U ′ ⊆ E �� U �∈ N �

κi(U) = κ′
i(U) < κi(E′) �� κi(E) < κ′

i(U) = κi(U).

 ���D �� κ′
i(U) < κ′

i(U
′)D �� � κi(U) < κi(U ′)D �� �� κ′

i(U
′) < κ′

i(U) �� � κi(U ′) < κi(U)�
�� �� �6���� (i, s′, α′, U) ∈ err(κi)�

9� ��������� '����
��� U ∈ N �� U ′ �∈ N � �� U = E ����� U ′ = E′ ���� κ′
i(U) = κi(E′) =

κi(U ′) �� (�� ��� =��-�  ���D E \ I ⊆ U ⊂ U ′ ⊆ E �� �� 
����� ��

� ���� �� �����
��6�6���� (�� (i, s′, α′, U) ∈ err(κi)�

 ��� err(κ′
i) ��� ���� �� ������ ����$����
��� �� err(κi)�

�� κi(E′) < κi(E) < s ����� �� ����

N = {U /U ∈ ωi(X), E′ ⊆ U ⊆ E′ ∪ I �� κi(E′) ≤ κi(U) ≤ κi(E)}
�� �� ������"�� �<����������� κ′

i : ωi(X) → Xi �6'��� ���

∀U ∈ ωi(X), κ′
i(U) =

{
κi(E) �� U ∈ N

κi(U) �����.

�� ���������� ��

� ��6�6��

���D �� 
����� κ′
i ∈ Ki ���� err(κ′

i) ⊂ err(κi)� �

&�

� Ki ��� ��� ����D �� �6���� �� �� ��

� (�<�� �-���� ��� ����������� κi ∈ Ki ���
(�� err(κi) = ∅� &���� ����������� κi ��� ����� �� ����
6���)� �� i ���� (G(f), X)�

0����D ���� i = 1, . . . , nD �� �-���� �� ����
6���)� κi �� i ���� (G(f), X) ��� (�� �

∀x ∈ X, f ′
i(x) = signe(fi(x) − xi) = signe(κi(ωi(x)) − xi).

 ��� κ = (κ1, . . . , κn) ��� �� ����
6���)� �� (G, X) ��� (�� ���(f) = ���(κ ◦ ω)� �� ��
�6���� (�� ���(f) ��� ���� ��� ����
�(�� �� (G(f), X)D �<�V �� �!6��"
� 7�
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